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PREFACE.
———

THIS book is specially intended to meet the re-
quirements of students studying for the Intermediate,
University, and other Examinations. It is a
Grammar of the living language of our land as I
have known it from my cradle, and which has
been the constant study of my life. Although it
is pre-eminently the language of old Tirconaill, it
is none the less the language of Ireland; for, the
Northern element over the general construction of
our mother tongue—which is universally the same—
is scarcely perceptible. In writing this Grammar,
therefore, my principal object, and I might say my
only labour, lay, not in showing forth Northern
usage, but in perfecting the general rules of Irish
grammar.

A perusal of the following chapters will show
that T have explained the subject more fully, and
in a more up-to-date style than other writers, and
that I have brought to light several things which
have simply been passed over by previous gram-
marians.

LETTERKENNY,
January, r9oo.






INTRODUCTORY.

IF we wish to preserve our mother tongue, we
must write it as it is spoken in the glen and on
the hill-side. No doubt the past of our beautiful
language, may be purer and ' greater than the
present, but that does not concern us; that is a
matter for philologists. We have no time just now
for studying its past greatness. We love what
remains of it, corrupted, if you like, though it may
be. We love it because we lisped it in childhood ;
we venerate it because it falls from the lips of the
old people like a soothing balm, and, as long as
it lasts, we will cling to it. Anything else is but
artificial, and can never have real life as a medium
of speech. The revival of the language of our
ancestors, in any shape or form, would be a noble
work ; but this must be a secondary consideration.
We are at present concerned with the sweet tongue
with which we ourselves are familiar. We must
begin here. When we shall have mastered so much,
we shall then consider the past of our language.
We must not sacrifice the life of the language to
please the critic and the philologist. “If the lan-
guage is to be preserved at all,” writes a correspondent
of the Derry Journal, “it is the public who will do
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so, and not a few individuals who aspire to cultured
excellence. The old house has become almost dilapi-
dated, evidences of decay are plainly discernible.
How are we to restore and preserve it? Is it by ex-
hibiting a picture of its former beauty? No, surely
not. Hence, what remains to us of the old lan-
guage should be the basis and the medium of all
future efforts to preserve, utilise, extend, and finally
beautify its dialect.” '

Some of those connected with the Gaelic move-
ment are of opinion that the Irish spoken at the
present day is not good enough. They insist on
having pure Irish or none at all. Hence, they are
determined to root out all corruptions, and supply
the deficiency from the cob-webs of the past. Every
word that sounds in any way like English must
be weeded out of the dictionary! Cat, a cat, pac,
a sack, ucip, a letter, pop, a rose, népa, a rope, and
hundreds of other real Irish words, would, of course,
have to be sacrificed! If the language was dead
such a thing might be possible, but as it still lives,
our inclinations will be to cling to it with all its
imperfections. And this is but natural: All living
languages change with time, and if these changes
are corruptions, the English language, the greatest
of living languages, must be very corrupt indeed.
Yet the English people are proud of their la.nguage,
corruptions and all.

The spoken language should, therefore, be scrupu-
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lously followed at first, and no wholesale changes
should be made till the language has taken proper
root; and even then we must proceed with the
greatest care, in other words, the language must
be improved gradually, or else we shall be building
so many “castles in the air,” which must eventually
end in smoke. We must respect those of our people
who still speak the old tongue by teaching them
to read and write what they are sure to take an
interest in; and the best way to do this is to lay
the grammar of their own language before them in
a coaxing form.

It is pretty evident that those who would build
the language on the classics have the interest of the
philologist more at heart than the rescuing of a
dying language. What a disgrace it would be, if
hereafter, men found flaws in the language of Erin!
What nonsense! If we let our mother tongue
perish the philologists of the world will have reason
to smile at our Irish pride. The arguments put
forward in favour of the classic method are very
childish. Here is one: “An English grammar is
" not based on the usage of Yorkshire, or Lancashire,
or Cornwall” This is, of course, a false comparison :
Modern English is of two kinds: (1) Standard
modern English, which is spoken, and admitted in
all parts of England, and (2) moderm English
dialect, which is spoken only in certain parts of the
country. Modern Irish, on the other hand, has only
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the dialects. We have no standard of modern Irish
which would be admitted universally. Hence, before
we can compare, in this manner, modern English
with modern Irish, we must first draw a veil, so to
speak, over standard modern English, and imagine
the English language consisted simply of the three
dialects of Yorkshire, Lancashire, and Cornwall.
“ But,” it is persisted, “what would be said if one
proposed to write eatin, sittin, bein, for eating, sitting,
being, anm, for and, seen for saw, &c. basing the
proposal on popular usage ?” If we had no standard
of modern English the proposal would be a very
natural one.

If we go back to the fourteenth century we shall
find the English language in much the same state
as our Irish of the present day. There were three
dialects, the Northern, the Midland, and the
Southern. “As far back as the beginning of the
thirteenth century, the Midland dialect, which after-
wards became the standard language, was cultivated
as a literary dialect, and had then thrown off most
of the older inflections.” This does not look like
building on the classics.

I agree with most others of the Gaelic move-
ment that unity should be preserved as much as
possible, even in the beginning. - Irish is divided
into three -dialects, which differ pretty considerably
in some respects. It-is certain, however, that these
diﬂ'erénces; are somewhat exaggerated, no doubt by
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those who have made the written language the
study of their lives. In Munster, for example, the
ending 16 is not heard in the dative plural of nouns,
although we are expected to believe that such is
generally the case. In the nominative plural, how-
ever, it is often heard. I have heard peapat,
mnay, and buad used as nominatives. In Con-
naught, just as in Ulster, 1® is not heard, the
dative plural being exactly like the nominative
plural. It is, therefore, very foolish, as well as
detrimental to the growth of a modern standard,
to persist in using this classic ending, which,
evidently  exists only in the imaginations of a few
learned men.

The analytic forms of the verb are understood
everywhere. Most of the synthetic forms, on the
other hand, are by no means universally understood ;
and as we can easily get along without these latter,
it is but natural that we should not put them
forward as standard modern Irish—of course, I do
not mean the synthetic forms that are universally
used. Hence, at the present vital moment, we must
use the forms that will be understood by, and
pleasing to all parties.

Besides ‘00, e, gan and roip, the preposition
annp, in Munster, very often aspirates instead of
eclipsing in the dative singular when the article is
used ; ap and 6 are inclined to do the same. In
Ulster, a preposition, as a general rule, never
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eclipses in the dative case when the article is used,
thus simplifying the rules of aspiration and eclipsis,
which appear to be such a terror to students. In
the South of Ireland, therefore, 0o, ve, gan, 1o,
annp, and o6—that is, nearly all the simple pre-
positions of any importance—follow the same rule
as that of Ulster. Considering these facts, not to
say anything about simplicity, there is a strong
plea for making aspiration the general rule.

It must be pretty clear to most people who are
interested in the study of their mother tongue, that
the absence of proper books of instruction is the
greatest drawback. Up to the present we have had
no suitable grammar of modern Irish. The Dic-
tionary is still coming, and in the meantime Inter-
mediate students, in the absence of vocabularies,
may throw aside their text books. I believe that
it is this state of affairs, and not a mere matter of
marks, that keeps many a student from entering
for Irish. We want a complete student’s dictionary
at a reasonable price, say five shillings; and we
want text books to have vocabularies and .notes
instead of the proverbial translation. For elementary
education we require a series of graduated primers,
and when these are in readiness it will be our duty
to insist on having the national language taught
in the so-called “National” Schools. '

The accomplishment of these things would very
soon necessitate the establishing of newspapers. But
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until then, a newspaper would be like a chimney
on a bean-stalk. We may bolster it up and puff
it up as much as we like, but it is sure to come
down, an inglorious wreck, in the end. When the
time has come to float our paper, it should be
written exclusively in simple modern Irish. For
example, we could write the entire paper with
simple Irish like that found in Father O’Growney’s
Simple Lessons. Classic material should be care- -
fully excluded, and English or any other foreign
tongue should not find a corner in it. A paper com-
posed of modern Irish, classic Irish, Irish grammar,
and philology—explained through the medium ot
English—and nearly two-thirds of its pages in
English besides, cannot be called an Irish newspaper.
The existence of such a phenomenon would prove
plainly that we do not understand our own language.
and that we are not ready for an Irish newspaper,
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The Alphabet.

Irish, | s,

English.| Name. English.| Name.
Cap. Small. Cap. Small. I
A 4 a | atm || L 1 1 Luip
b b b veit | M m m muin
C c k colt | N n n nuin
0 0 d |oap | O 0 0o o
e e e éada | P P P peit
r r f Fearh| R n r pup
) 5| & |sorT | S r 8 rurt
h h h juat || T T t tene
1 1 i 1004 ! u u u un

|

OBs.—As may be seen above, there are but eighteen
letters in the Irish Alphabet. In writing foreign
names, however, we may use others. Thus, Keating
writes Maximus, Maximup. The names of the letters
given above are not used now. They are the names
of trees, but only four of them are modern, viz., veiz,
birch; colt, hazel, vaip, oak, and peapn, or reapnog,
elder. The others are as follows :—dilm, ‘palm;
&a04, aspen ; ToT, ivy ; uat, white-thorn; 1004, the
yew ; uipy, quicken tree ; muin, vine; nuin, ash; oip,
the spindle tree; peit, unknown ; puip, elder; pui,
willow ; ceine, furze; up, the yew.
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Classification of the Letters.

There are five vowels, which may be classified as
follows :—

(1) Broad, or thick vowels: 4, o, u.
. (2) Thin, or slender vowels: e, 1.

(3) Long vowels: 4, o, 4, ¢, i.

(4) Short vowels: 4, 0, u, €, 1.

A consonant may be broad or slender according
as it has contact with a broad or a slender vowel.
For example, the b in ban is thick or broad, but in
vean it is thin or slender. The same often happens
in English, eg., ball, bat; fall, fan, &c.

Sounds of the Yowels.

4 is pronounced like 2 in fat. Ex. cat.

& ” a, far. » DAD.
e ’ e, get. » UITSE.
é ' e, grey. » K€

1 " z, 1t 5  MIN.

i " z, marine. ,  min.
o ” 0 ,, for. » TOM.

6 » 0, fogn" » SLop
u ” u ,, fully. s ut.

¥ » %, truly. ,» lab.

_* There are many exceptions to this rule. In the following, for
example, the 6 is pronounced like 0 in go :—Mog, bpdn, pidn, pén,
L6n, Tén, némam, méin, moéna, cémpa comapta, comayp, coHmnurde,

_ 'D6émnag, 0éman, Vémnall, Tpatnéna, péEmar, némapam, tézam,
rénpuigim, térmairim, &c., &c,
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Sounds of the Diphthongs.

ae is pronounced like ay in day.  Ex., tae.

40 » ea ,, real » bpaon.

ua » ue ,, cruel. s Cuan.

eo, eé » ya ,, yawn. » Ceo, bed.
14, 14 » ea , dear. »  T140.

eu, éu » ea ,, early. » beulpgeutl

N.B.—These diphthongs are always long.

a1 is pronounced like « in crag. Ex., cpaiceann

of, ut ) u ,, rush. , coi, cuiple.
el . o» e, let , Cleite.

10 ’ i, pit ,, MI0OTOZ:

ea- ” a ., fan. »  Feaf

N.B.—In words like teat, wear, the e has a short
3 sound.

4 is pronounced like a in rations. Ex., p&ipoe.

61 ” awi in cawing ,, coirce.
ul ’ ewi ,, jewish , puipce.
& ’ el |, fegn ,, péipe.
io » e » e » miora.
64 " ea ,, bear , tpéon

i is pronounced like 7 in marine. Ex., ppéacai.
1t » % ,, cure y O1alaim.
.ed » a , car , Cedpca.

bo1, eot, 1, 11, &c., are attenuated forms of the
long diphthongs 4o, eo, &c.



8ounds of the Consonants.

b broad is pronounced like 4 in &2/l Ex. véo.

b slender
¢ broad
c slender
t broad
t slender
5 broad
5 slender
m broad
m slender
p broad
p slender
o slender
T slender
r slender

”»

»

”

”

b, bat
c , cul.
kb, king.
S o» Jall.
£y fan.
gy Zum.
& » 84S.
m ,, maul.
m ,, mill.
? » Paul
2, pet.
d ,, duty.
¢ ,, tune.
sh [

h is pronounced as in English,

» lean.
» Cu.

» C6.

» r‘&s‘

»  Fean
» SOMM.

» Seappan.
» Mmom.

» IMOTOS.
» Putos.

» Peirceos

» OiuP.

s TINN,
»TiLeog,rinn
» haTa.

N.B.—0, t, and r, broad, cannot be represented in
English. Ex., 0un, tog, raL.

L B 8

(1) Initial 1 broad cannot be represented in English.

Ex., Luo,

Initial 1 slender is like / in valiant.
(2) In all other cases t is pronounced as in English. |
Ex., Deala¢, coileag, rocat, ruil.
(3) W broad cannot be represented in English. Ex,

Dal, batte.

1L slender is like / in valiant.

Ex., Leant.

Ex. Caiw, cantteaé.
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n. nn.

(1) Initial n broad cannot be rep. in Eng. Ex,

ndipe.
Initial n slender is like 7 in new. Ex., neapc.

(2) After a1, o1, ut, n final is like # in new. Ex.
Aflain, moin, muin.

(3) In all other cases n is pronounced as in English.
Ex., anam, i1, apan, caitin.

4) nn broad cannot be represented in English. Ex.,

beann, beannadc.
nn slender is like # in zew. Ex., tinn, tinnear.

0, §, 404, 854, 404

(1) The letters o, &, are not sounded in the body,
or at the end of a word, but they lengthen the vowel
that immediately precedes them, and often silencing
a following one.

Cnuard pronounced cpiaid Ze. croo'-ee.

Cpoive » cnoive ,, cree.
Dovap » bon , boar.
Nag » 041y , odee.
Ly » bpaig  ,, brodee

(2) Ava and aga are pronounced like ay in day.
Avapc pronounced énc Ze. apre.
AZar0 » &, dy’-ee.
(3) «4ba is usually pronounced like oin go. Ex.,
Abvainn, Lteaban, TABAIN
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A0, am, L.

(1) In many words, especially in verbs, av final is
pronounced like oo in fool, or like @ in tab. Awh and
ab final have also this sound.

Ro6rad pronounced popdi.

Seara® » reara.
Mapsa0d » mang.
Maoad » maonu.
Fotlarh " rola.
Suab » rua.

(2) In monosyllabic words m and ® (without a)
have this sound.

Lam pronounced La-fi.

Cnam » cna-u.
Cand » Tap-a.
Leand ” Ltean-1.

N.B.—For initial sounds of aspirated consonants,
see Aspiration.

Attenuation.

A broad consonant may be made slender by a
process called A#tenuation. This is done by putting
1 immediately defore, or e immediately gfZer the broad
consonant. Thus to attenuate the n of ban, we get
vain; but if we attenuate the b we get bean.
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Broadening.

A slender consonant may be made broad by putting
u immediately before, or 4 immediately after the
consonant. Thus, to broaden the g in o1ug, we get
onuug, but to broaden the g in giIMm we get gam.
To broaden the final consonant in words like cait,
buail, cuip, &c., drop the 1—cat, bual, cup, &c.

THE RULE “caol Le caol”

A consonant, or a group of consonants in the body
of a word, must lie between either two slender, or
two broad vowels. In bpacog, the ¢ lies between
two broad vowels, but in eiceog, it lies between
two slender ones.

When, in the natural construction of a word, this
rule would be violated, the two vowels in question
must be made to harmonize by means of attenuation
and broadening. Im English, for example, co/d+ ness
gives coldness, and 7ill+ock gives hillock; but in
Irish, pLat+in is not placin, but pLaicin; péipc+og is
not peircos, but peirceog; tog+i1m is not TogIm,
but cogaim ; rinn+4rpa is not pinnga, but pinnpea, &c.

This rule is called “Caol te caol agur Leatan Le
Leatan;” that is “ Slender to slender and broad to
broad.” The reason of this rule is plain: A consonant
cannot be broad and slender at the same time. But
if we wrote tog+1m, togim, the g, having contact
with o and 1, should be broad and also slender, which,
of course, is absurd.
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Aspiration.

Aspiration is the softening, and, in some cases, the
suppression, of the sound of an initial consonant.
The aspirable consonants are b, ¢, o, ¢, 5, m, p, 1, and
t. When aspirated they are written b, ¢, 0, ¢, &, m,
P, i, t.  Capitals are sometimes written, Dh, Ch, On,
etc., instead of ©, ¢, 0, &c.

In v4n ® has the sound of w

y BINN B » v
» huc m » w
, MiCc . v
» Pdipc P » Vi
» TOM T » y/3
» T4C T " Y

» TlLat ¢ is silent.
» tean ¢ is silent.

Hence, in the beginning of a word,
)

t and m broad are sounded like
v and i slender

» v
p always » f
¢, » 4
4+ vowel » k

r+1, n, or p, is silent
t generally silent.

N.B.—¢, 0, %, and ¢ followed by a consonant,
cannot be rcpresented in English. A soft gutteral
breathing will produce these sounds. They are very
like the sound of the Greek letter x (c/7).

b
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Eolipsis.

Eclipsis is the suppression of the sound of an
initial consonant by means of another, placed before
it. All the aspirable consonants, except m, can be
eclipsed, and each has its own eclipsing letter.

m-bdo pronounced mdo where b is eclipsed.

5-CaT » 54T  , C »
n-oopap ” nopar , O »
Y-rean » beap , r - »
b-paipc » vdapic , p »
T-rait . TaiL w T »
0-TAD ” oo, T »
n-gonc » ngopc ,, ng blend.

N.B.—In the case of g no real eclipsis takes place. S is
never eclipsed except in the singular number of nouns.

Gender of Nouns.

(1) All nouns generally having their final consonant
broad are masculine, as, bdo, anan, Tinnear, cdipoedr,
etc. Except:—cop, Ldm, bpog, pPos, Tnuds, cuad,
ciop, cluap, bpeug, reans, clo¢, 11LAT, pian, FaoL,
r514n, cpuad, etc, which are feminine.

(2) Abstract nouns in e or a¢t are feminine, as
ailne, beauty, milpreact, sweetness.

(3) Diminutives in an are masculine, as, 4poan, a
hillock.

(4) Diminutives in og are feminine, as, bdbog, a
doll.
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(5) Diminutives in in are of the same gender as the
nouns from which they are formed; as, cnoicin (m2.),
coipin (/)

(6) The names of rivers are feminine, as, an Doinn,
the Boyne. .

(7) The names of males are masculine, as, pean, a
man, pcai, a stallion, coiteag, a cock.

(8) The names of females are feminine, as, bean, a
woman, cailin, a girl, capall, a mare, ceapc, a hen.

OBS.—Caitin is influenced by the article as if it
were masculine, just in the same way as ctea¢ (m2.) is
declined like a feminine noun. Capall, like muc, is
common gender.

»

DECLENSIONS.
Deciension of the Article.
SINGULAR. PLURAL.
mas.  fem. mas. and fem.
Nom. & Acc.  an, an, the na, the
Genitive an, na, of the na, of the
Dative an, an, the na, the

N.B—There is no indefinite article. Hence vo6
means “cow” or “a cow.”

First Declension.

(@) Masculine nouns ending with a broad consonant
are of the first declension. The genitive singular is
formed by attenuating the final consonant. Example,
40, a boat. <
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SINGULAR. PLURAL. i
N.& A. vdo, a boat. baro, boats.
Gen. baro, of a boat. bao, of boats.
Dat. - bdo, a boat. bdro,* boats.
Voc. & varo! O boat! & vava! O boats!

(6) Nouns in a¢ (monosyllabics excepted) change ¢
into g where attenuation occurs. Ex., bacaé¢, a beggar.

SINGULAR. PLURAL.
N. & A. vacad, a beggar. bacatg, beggars.
Gen. bacaig, of a beggar.  bacae, of beggars.
Dat. bacad, a beggar. bacatg, beggars.
Voe. &vacarg! Obeggar! avacaca! O beggars!

N.B.—Note that a is the sign of the vocative and
causes aspiration.

Examples for Declension.

4pan, bread. bpagac, a farmer.
4poan, a hillock. rTocad, a young man.
amavoan, a fool. bealad, a way.

4ral, an ass. bpollag¢, a bosom.
ramafican, a primrose. euoag, cloth.
sealban, a sparrow. eallag, cattle.
vealan, a spark, a match. rionag¢, a fox. t
geapqan, a horse. teaglad, a family.
Tnutan, a brook. boglaé, wet weatner.
r1ocan, frost. pupcac, a boy.

* In the written language we find the dative plural of #oxns ending
in 10, )

1 This is the correct mwodern spellings We find it often written
rionnad in bodks. -



ralann, salt.
uargan, a yearling sheep.

vealgan, a knitting-needle.

Biopan, a pin.
rmoétan, a thrush.
reiteocan, a butterfly.
Sarpad, Summer.
Fosman, Autumn.
Teimpieat, Winter.
€appaé, Spring.

oganad, a lad, a rogue.
mdipneatad, a sailor.
biteamnad, a rascal.
claoag, a seashore.
ualaé, a burden.

Talan, ground, land.
€ipeannaé, an Irishman.
Saranac, an Englishman.
Francae, a Frenchman.

(¢) To form the genitive of nouns in ea¢, and of
derivatives in eaqp, change the characteristic ea into 1.
[The characteristic vowel is the last vowel in the

nominative case of nouns.]

coileaé, a cock.

oraigeac, an officer
tinnear, sickness
raicear, shyness

gen. coilg.
»  OFaIgis.
» TNy
»  FAITIP.

(d) All other words of this declension having ea
for characteristic either form their genitive like the

preceding class or change eas into e

change eainto 1:—

Alfpeann, a mass

4I\5e4D, money
bpeasc, a trout
ceann, a_head
tean, a man
sneann, fun

ctaigeann, a skull
cpatceann, skin, rind

The following

gen.  aifpnn.

» AT

» bnic.

»  Cinn.

»  FIn

»  Jpnn.

»  Cclaiginn,
cpicinn
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Also piot, seed gen. piL.

Lion, flax, net ,  tin.

mac, a son  ,  mic.

(¢) The following change ea into e1:—
réan* grass, hay gen. péi.

méan,* a finger »  MEIL
béal,* a mouth T, bé.
cineal, kind, species ,, cineil.
caiptean, a castle »  Cairtemn.
1415, fish, a fish Y

cliad, a creel, bosom ,, clLé.

(f) Some nouns change the characteristic into us.
They usually end in two consonants.

conp, a body gen.  cuipp.
bolg, a belly » bulg.
T, a bull » Tuiph
molc, a wether " muilc.
oopn, a fist » ouipn.
cnoc, a hill " cnuic,
rac, a sack » ruic.
caz, a cat s ctic.

(2) The following are irregular in the nominative
plural :— ‘

rocal, a word gen. rocail  pl. rocta.
veoqp, a drop » OEOIL  ,, ‘DEGfA.
peann, a pen »  PinN » Peanna.
maq, a rampart » Mo » mapta.
-oopar, a door » OOpAIP ,, ‘DOMfa.

® More usually peupt, meup, beul.
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aingeal, an angel  gen. .amgit  pl

Tobap, a well » TODAIL
sarap, a boy »  Sartm
rseut,* a story s  TSEL
sleann, a glen » Sleanna ,,
ceo6l, music » CeOoll ”
reéL, a sail » Teoil ”
aball, an apple s ubatl
Leabap, a book » leabaip ,,

amgte.
Tobpaca.
TArnai.
rseutcai.
steanncai.
ceodltai.
reolcai.
ablai.
Leabantal.

(a) The nouns of this declension are, with very few
exceptions, feminine. The genitive singular is formed
by adding e, which is sometimes called tke slender
increase, to the nominative singular.
singular is got by dropping the final e of the genitive,
so that the final consonant of this case will be always
slender. The nominative plural ends in 4 or e accord-
ing as the characteristic vowel is broad or slender.

Ex. bpog, a shoe, pai, an eye.

SINGULAR.
N. & A. opog, a shoe.
Gen. bpoige, of a shoe.
Dat. bpoig, a shoe.
Voc. 4 dpoig! O shoe!

The dative

PLURAL.
bpo6za, shoes.
box, of shoes.
bnoza, shoes.
abpoga ! O shoes!

* Sgeul is used for #dings; it is sometimes written pgeula, and then
means word or message. o0 0e 'n rgeul agar? What news? Cuipt

rgeula ¢wge. Send him word.
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SINGULAR. PLURAL.
N.& A. rpan, an eye. raite, eyes,
Gen. riie, of an eye, ra, of eyes.
Dat. rii, an eye. raite, eyes.
Voc. a poit, O eye. 4 patte, O eyes.

N.B.—Nouns declined like bpog and ruitare for the
most part monosyllabic words.

Examples for Declension.

cor, a foot.
clo¢, a stone.

réir, a festival,

Ldm, a hand.
caile, chalk.
Pos5, a kiss.
muc, a pig.

cno¢, a gibbet.

Cfor, @ Cross.
cluar, an ear,
pluc, a cheek.
cily, a church.
agard, a face.
saot, wind
nim, poison.

bneus (gen. bpéige), a lie.

ciopn (g. cipe), a comb.

ceanc (g cince), a hen.

beann (. bénne) a mountain peak.
3nuas (g spuaige), hair,
cneds, (£. cnéige), a crag.
516t (£ rgeite), a shield.
sman (g. spéine), the sun.
cpeac (g. cpéice), plunder.,
reans (g. reinge), anger.
r51en (£. rgeine), a knife.
seus (g. zéige), a branch.,
rpLanc, a spark, a thunderbolt.
cua¢, a cuckoo, a ringlet,
neam (g. nenne), heaven,

ub or utd, anegg. ceac (g. tige), a house ().

(6) Many nouns of this declension are irregular in

the nominative plural.

When the nom. pl. ends in

4ca or ana the gen. pl. is got by dropping the final a.
When the nom. pl. ends in ce or 1 the gen. pl is

usually the same.
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réir, a festival. plural péipeana.
coiy, a cause. " cuireand.
1nd, an herb, a weed ” Lunbeana.
céim, a step. ’ cétmeana.
capwic, a rock » O Capparceaca.
cfieas, a crag. ’ cneagada.
paroip, a prayer. ) paropeaca.
cpaob, a branch, ’ craobaca.
wid, an egg. ” uibeada.
obaip, work ’ oibpeaca.
ucip, a letter. ’ ucpheaca.
nigean, a daughter. ’ nigeanaca.
ainm, a name. » ammnaca.
rlac, a rod. » rlataca*
Az, a place. ” diteada, aici.
pign, a penny. ” pignea'(m,pigne’
ctan, an age. » Cclantai.
pian, a pain or pang. » Prancai.

péire, an eel-shaped monster. ,, péipci.

(¢) Diminutives in og, as a general rule, have i in
the plural, and, in accordance with the rule “caot te
caol,” must be written ai.

cuiteos, a lob-worm.  plural cuwceogai

miolcog, a midge. ” miolrogai
cuileog, a fly, a gnat. » cuileogal
earog, a weasel. » esrogai.
péirceos, a worm. » péipceosai.

* Gen. pl. plaTag, but sometimes plac, as in ‘Démnac na plac,
Palm Sunday ; pifneaca refers to n mber, pigne to amount.
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beacog, a bee. plural veacogai.
slaireos, a wag-tail. " slaipeozsai.
Larog, a light, a match. Larogai.
TPAN0Z, a spoon. » TPANOT AL
tucog, a rat. » Ltucozat.
bavog, a doll. » babogai.
rproeos, a robin » TPI0eosAi.
ruinneos, a window. " FUINNEoT Al
rpionog, a gooseberry. rpionogai.

(d) Nouns of more than one syllable in a¢ change

¢ into g ‘where attenuation takes place.

The vocative

singular is usually like the nominative singular. Ex.,

cliprad, a harp.

SINGULAR. PLURAL.
N. A. claprae, a harp. clipraca, harps.
Gen. clipratge, of a harp. cldnpag, of harps.
Dat.  cliprarg, a harp. clippaca, harps.
Voc. a ¢tappac¢! Oharp! 4 ¢tapraca! O harps!

Examples for Declension.

SIo1rac, a girl. colpac, a heifer, stirk.
oinpeac, a hussy. beapad, a heifer.
caittead, an old woman. gealac, a moon.
blata¢, buttermilk. reirpeac, a plough.
asiceanae, furze. bappac, tow.

C
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Third Declenslon.

(2) The third declension comprises (1) personal
nouns in om; (2) abstract nouns in aéc, and others
expressing a singular idea; (3) verbal nouns in a0.
The genitive singular takes the broad increase, a.
Example, matlaézc, a curse.

SINGULAR. PLURAL.
N. 4. malrace, a curse. malladtai, curses.
" Gem. mallacca, ofacurse.  mallacg, of curses.
© Dat. mallacz, a curse. malladtai, curses.

Voc. Atmatlacc! O curse! & rmattaccail O curses!

(&) When the characteristic vowel is slender it must
be made broad in the genitive singular. Example,
ceodlcoip, a musician.

- SINGULAR. PLURAL.

N.A. ceélron, a mus. cedlromi, musicians.
Gen. ceoblrons, of amus. ceolcoin, of musicians.
Dat. ceélromp, a mus. ceo6lroipi, musicians.

Voc. 4&ceotcomp! Omus.! & ¢edteonni! O musicians!

N.B.—Nouns that express an abstract or singular
idea have no plural.
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Examples.

rpealaoop, a mower.
cpocaooin, a hangman.
muilceoin, a miller.
buipceoin, a butcher.

rseulcoip, a story-tellér.

cputwmgeon, a creator.
raltpop, an idler.
oofrom, a porter.
buacait, a boy.

alcoip, an altar.
toil, the will.

ruil (g. rola), blood.

tallrace, laziness.
‘0anacc, boldness.
Laroneact, strength.
boctacc, poverty.
iapgeneacc, fishing.
Taitiupade, tailoring.
cnionnace, wisdom.
beannacc, a blessing.
clear, a trick.

cat, a battle, temptation.
onice, dew,

nat, luck, prosperity.’

-(¢) Many nouns of this declension are irregular in
some of the cases. Monosyllabic words change 10 or
1into ea in the genitive singular.

NOM. SING. GEN. SING. NOM. PL.
catap, a city. catpac catnaca.
Laraip, a flame Larpac. Larpaca.
atoip, a father. AT artpeacs.
mataip, a mother. matan. maitpeada.
bpataip, a confrere. brata bpartneata.

‘ -vedptap, a brother. Desptana.  vedntapaca.
peidup a sister. veidruna. oeipdiupaca.®
vtop, a spit. beapa. beapa.
ciot or cit, a shower.  ceasta. ceata.

. moin, turf. mona. méince.

* Usually syncopated : "Deipibpeaca.
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(d) The genitive of verbal nouns is the same as the
passive participle of the verb.
bualav, beating gen. busilte.
molad, praise.
beannugad, a blessing

» MoLTA.
» beannuigte.

Fourth Declenslon.

This declension comprises most nouns ending in a
vowel or in. Example, tigeapna, a lord.

SINGULAR. PLURAL.
N.A. tigeasqing, alord. titeapnai, lords.
Gen. ctigeapns,ofalord. ~  tigeapna, of lords.
Dat. cigeapna, a lord. tigeapnai, lords.
Voe. 4 tigeapna! O lord! Atigeapnai! O lords!

Ex., piobaipe, a piper.

SINGULAR. PLURAL.
N. A. piobape, a piper. piobaipi, pipers.
Gen. piobaipe, of a piper. piobaipe, of pipers.
Dat. piobaine, a piper. piobaipi, pipers.

Voc. & piobape! O piper! 4 piobaipi! O pipers!

Ex., cuinin, a rabbit.

N. A. cuinin, a rabbit. cuinini, rabbits,
Gen. cunin, of a rabbit, cuinin, of rabbits.
Dat. cuinin, a rabbit. cuinini, rabbits.

Voc. a éwmmnin! O rabbit} 4 éumnini! O rabbits!
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Further Examples.

mata, a bag.
rcdla, a dish,
réinne, a ring.
Thifne, a spinning-
wheel.
rditte, a welcome.
raipge, a sea.
rijunne, truth.
cuipte, a vein, pulse
oroée, a night.
pairoe, a child.
nogaipe, a rogue.
Mape, Mary.
dpna, a sloe.
Teine, fire.
baile, a town.

‘ouine, a person.

cpiipein, a jar.

coipin, a little foot.
ouipnin, a spade handle.
cailin, a girl.

néipin, a little rose,

pipin, a kitten.

muipnin, a darling.

nuibin, a ribbon.

poigin, a little kiss. .
4ilin, a brood.

paropin, a rosary beads.
caitlin, Cathleen.

puince, a point (of argument).
punca, a pound.

gen. teineao. 2L teince.
» Dbaile » bailte.
» Ouine » 040N

Fifth Declenslon,
The fifth declension comprises, for the most part,

feminine nouns.
peaprs, a person.

They usually end in a vowel,

Ex.,

SINGULAR.
N. A. peaprs, a person.
Gen.
Dat.
Voc.

peanran, a person.
& peanra! O person!

peapran, of a person.

PLURAL.

Peasfirany, persons.
peapran, of persons,
pesfrany, persons.

& peaprana! O persons!
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Examples.
Albs, Scotland. coruprs, a neighbour. . . .
Murha, Munster. Kob4, a smith,
Lupga, a shin, 10n34, a claw, a nail.
uprae, a prop. uille, an elbow.

suala, a shoulder. teodns, a boundary.
E=F €Eipe, Ireland, gen. €ipeann, dat. €ypnn, voc. &
eipe!l

Irregular Nouns.
Via, God, a god.

SINGULAR. PLURAL.
N.A. ‘Oia. Vérte.
Gen. 06, Dia.
Dat. Oia. Déite.
Voc. 4 Ohial & Oheite!

Dean, a woman.

N.A.  tvean..” mna.
Gen. mna. © ban.

. ‘Daz“. bean, mnaot. “mna.
Voc, A vean ! Admna'

Céw, a friend.

N 4. capa : céipoe.
Gen.  cépe, cépao. cana
Daz, céna, céparo. caipoe.

Voc. & ¢ana, 4 Caparo! & caipoe !
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Cd, a hound.
SINGULAR. PLURAL.
N A ca coin.
Gen. ct, con. con, ci.
Dat. cd, coin. com.
Voc. 4 cal & ¢omn!
Coope, a sheep.
N. 4.  casopa. caoug.
Gen. caofpad caopac
Dat. caona caoug.
Voc. 4 ¢aopna! 4 caomg!
Sé, a goose.
N. 4. ze. Téaca.
Gen. 3é, TE10. Téad.
Dat. g6 | géaca.
Voc. 4 ge!l 4 seaca!
la¢, a duck. ‘
N4, rac Lacain.
Gen. Laca. Lacan.
Dat. Lac. Lacain.,
Voc. A tac! 4 tacan!
: Do, a cow.
V. A.  vo. ba, bat.
Gen. bOo. bo.
Dat. b6, buin. ba.
Voc. 400! A va!
) Ceat, a house (m.)
N. A, ceac. Tigte.
Gen. tige, Tig. Tigte, Tead.
Dat. T, tead. Tigte.

Voc. 4 teac! 4 tigte!



N A.

Gen.
Dasi.
Voe.

N A.

Gen.
Dat.
Voc.

N.A.

Gen.
Dat.
Voc.

N. A.

Gen.
Dat.
Voc.

N. A.
Gen.
Dat.
Voc.
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Suiab, a mountain (72.)

SINGULAR.

rliab.
rLétbe.
rLiab.
4 tuad !
14, a day (m.)
14.
Lae.
L4.
a14!
mi, a month (f)
mi
miopa.
mi.
& mi!
Duavan, a year (f)
bliavain.

bliadna.

-bliavain

4 duavan!
Ceo, fog (m.)
ceo.
ceng.
ceo.
& ceo!

PLURAL.
rléidbce.
riétvce.
rLédce.

4 plébee !

Laete.
Laete.
Laete.
& Laete !

miora.
miop.
miopra.

& miopa!

bl1iavancai,
bliadna*

ouadan.

bLiadancai.

Jd buavdancail

ceoca.
ceo.
ceoca.

4 ¢edta !

* bliaona means a definite period of time, as ci1g blisona. five
years. blisvantai=an indefinite period, as td na bliavancai 43
oul tTajpc, the years are passing.
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Declension of Adjectives.

In Irish, all adjectives having a consonantal ending
are declined; those ending in a vowel are indeclinable,
being the same in all cases.

The gender of Irish adjectives is known by the
company they keep. For example, mop is masculine
when it goes with a masculine noun, but it is feminine
when it goes with a feminine noun. There are three
declensions of adjectives,

First Declension.
This declension comprises masculine adjectives.

They are declined exactly like nouns of the first
declension, except that they have a or e for the
plural. Examples, ban, white; ranca¢, greedy ; binn,
melodious.

SINGULARS. PLURALS.
N.A. van, rancacé, bvinn, bdana, rantaca, binne.
Gen. vanm, rancars, binn* ban, rencac, binn.
Dat. van, ranca¢, vinn. bdna, rancaca, binne.
Voc. vam, pancarg, vinn, bdng, rantaca, binne,

Second Declension.
This declension comprises feminine adjectives, and

they are declined like nouns of the Second Declension.
Using the same adjectives:

SINGULARS. PLURALS.
N.A. ban, rancae, binn. bdna, rantaca, binne
Gen. bdine, rantaige, binne. bdn, rantag, bvinn.
Daz. van, pancars, binn. bdng, rantaca, binne
Voc. vam, pantae, tinn. bdng, rancaca, binne

* Duinn is already slender, therefore no change.

4

1

L«E:t G L
bakmetisy !
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Third Declension.

This declension comprises all adjectives in .arait.
They are declined like nouns of the Third Declension.
lZxample, peaparait, manly.

SINGULAR. PLURAL.
N.&A4.  rpeaparnai. reapamta.
Gen. reapariLa. reapamait.
Daz. resparnail. reapamia.
Voc. teapamail. reapamia.

N.B.—These forms are used for mas. and fem.
nouns.

The Artiole, Adjeotive, and Noun Deolined.

(a) The article aspirates the initial of a feminine
noun in the nominative, accusative, and dative singular,
It aspirates the initial of a musculine noun in the
genitive and dative singular.  If there is an adjective
with the noun, its initial will be aspirated in these
cases, even when the article is not used. In the
genitive plural, the initials of noun and adjective are

eclipsed.

SINGULAR. PLURAL.
N.A. an vdo ban* na bdrp bana.
Gen. an Hiro vin. na m-bao m-ban.
Dat.  ap an Béo Han. A15 na baro bana.
Voc. a viro véin! 4 B&Da béna!

* The white boat.
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SINGULAR. PLURAL.
N. A. an Bp6g Ban* ha bpoéga bana.
Gen. na bpoige bane. na m-bpog m-ban.
Dat. sy an dpéig Dam, A na bpoTA bana.
Voe. & vpoig vdin ! 4 Boga bdna !
N. 4. an vao mint na bdro mine.
Gen. an Baro min, na m-bdo min.
Dat.  snnp an B0 min. leip na baro mine.
Voc. & varo min! 4 a4 mine!
N.A. an vpog aint na bpoéga mine.
Gen. na bpoige mine. na m-bpeg min.
Dat. asnnp an vpoig min, 4t na bPOoga mine.
Voc. 4 vpoig rivin ! 4 bp6za mine!

FIRST EXCEPTION : Initial ¢ and o are not as-
pirated by the article, but a feminine adjective may
have its initial aspirated in the usual way; as, an Tip
Tijum or an tip Lipum (f).

SECOND EXCEPTION : Nouns beginning with ¢, in-
stead of being aspirated, are eclipsed in the singular
number. S is never eclipsed anywhere else. Initial
r of adjectives is aspirated in the usual way.

THIRD EXCEPTION : Words beginning with o, rc,
10, 'S, ™M, 1P, or rct can neither be eclipsed nor
aspirated,

* The white shoe ; t the smooth boat ; 1 the smooth shoe.



N. A.

Gen.
Dat.
Voc.

N.A.

Gen.
Dac.
Voc.

N. A.

Gen.
Dat.

Voc.

@

N. A.
Gen.
Dat.
Voc.
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Examples.

SINGULAR.
an Tapd TInn *
an Tuiftd Tinn.
At an T TINN.
4 tuipd einn!

an T-rlat pérca t

na pLaITe ParTa.

AL an T-PLAIT PAPTA.
4 Plarc pércal

4an pgaoan rsatca b
AN 1540410 1FALTA.
Al an 158040 '5ALTA

4 rga0ain rgatca !

PLURAL.
na cumpd ctinne.
na4 0-Tand o-tinn.
415 ha Tupd Tinne.
A tapba Tinne !

na rLataca rarca.
na rLatac rarca.
AL na rlataca rarca
4 Plataca rérca !

na 1540410 15ALTA

N4 1’54041 1PSAlT.
AL ha PRa0AIN
r5alta.

4 1540404 r5alcal

Masculine nouns beginning with a vowel and
declined with the article, prefix ¢ in the nominative
and accusative singular; and a// nouns, masculine and
feminine, beginning with a vowel take nh after the
article na, but the genitive plural requires n.

SINGULAR.

an T-apan up §
4an anan dim.
AL 4N apan G,
& apamn dip!

PLURAL.
na h-anatn ana.
na n-afwn an
At N4 h-apam opa.
4 apana opa !

* The sick bull ; ¥ the handyrod; }the paltry herring; §the fresh bread,




SINGULAR.
N.A. an md ap*
Gen. na h-mde tipe.
Dat.  annp an urtd Gip.
Voc. & urt ap!

PLURAL.
na h-utbeaca ana.
na n-uibeac on
4 ha h-ubeada apa.
4 mbeaca una!

N.B.—(1) The dative case, as we have seen, is

governed by a preposition.

(2) In the vocative case

the adjective is aspirated in the singular only. (3)
Adjectives beginning with a vowel and declined as

. above are not influenced

in any way. (4) Nouns

and adjectives beginning with t, n, or p, are never

influenced.

To be Deolined.

an rea beas,

an bean veas,

an rcocac Lavae,
Aan gonpac Lavae,
4an t-eallac bpaoad,
an B6 edlac,

4n tMocan ban,

an ratann min,
an Lam Larom,

an pubin pidin,
an nim mirnead
an hata aenad,
4an beatac-mop,
an baite-mop,

the little man.

the little woman.
the winsome youth.
the winsome girl.
the thievish cattle.
the knowing cow.
the white frost.

the fine salt.

the strong hand.

-the tough ribbon.

the painful poison.
the gaudy hat.

the road, the highway.
the town,

* The fresh egg.
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EF Deatac-mop=a highway, beata¢ mon=a long
or big road ; baite-mon=a town or village, baite mon
=a big locality or town. Deata¢-moép conveys but
one idea, viz., “road,” while beata¢ mop conveys two
ideas, viz.,, “road” and “big.” It is, therefore, better
to join two words when they convey but one idea.
See “ Compound Words.” '

mala-leatain  =a leathern bag.
mala Leataipn  =a bagful of leather.
mala an Leataip=the bag for holding leather.

Speoial Use of the Artiole.
(1) Before surnames: .An 'Doc¢apcaé, O'Doherty.
(2) Before names of countries, An Spdin, Spain.
(3) Before abstract names: an t-ocquar, hunger.
(4) Before adjectives used as nouns : an t-olc, evil.
(5) In stating time: An cing o ¢log, Five o’clock.
(6) Before a noun with a demonstrative pronoun :
an peaq ro, this man.

(7) After “Cia?” or “Cé?”: Cé 'n pean? What
man?

(8) “A piece” or “per”: 15in an ceann, a penny
a piece; ré pigne an ouipin, sixpence per dozen.
But, a penny per day =pigin 'ran La.

(9) To express contempt: Seamup an ¢inn o
big-headed James. ZTiolla na z-cor s-cam! (You)
crooked-legged fellow !
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(10) To mark profession :

Father O'Donnell - .an paganc A Dornaitt.
Dr. Kelly. 4n Doccun A Ceallats.

(11) To express connection :

Mape an Steanna Mary from the Glen.
Seagan an tdiliupa  The tailor’s John

N.B—“John” in the last example may be a son or
a servant.

(12) To express some or any: Ni purL an Eapatl
agam=1I have not any horses. [See some or any).

Synoopated Wdrdé.

When the characteristic element of a word is short,
the preceding consonant attracts a final i, n, p, or 1,
when a new syllable beginning with a vowel is added;
thus, telescoping, so to speak, the characteristic vowel
or vowels.

Examples.

Laran +a¢a=tlaraipaca =Lar--paca=Llarpacta.
cataipn+aca=catampaca =cat--pata=catpaca. .
paroin+ aca=paroipaca =paro--nata = paropeaca.
Laraim +a¢ =lapaifue =lar--pac=tarnac.

obaip +e =obaipe  =ob--ne =oibpe.

dmal +a4 =tmala  =dm--la=Gmla.’
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The following is an example of a syncopated noun
and adjective declined :—obain feapamarl, manly work.

PLURAL.

First Idea.

SINGULAR.
N.& A. obap feaparhail
Gen. obaipe peaparhaila
Dat. obaip  feapuarhail

) Second
obaipn  feapathail
ob--ie reaparn--la
obaipn  feaparhail

obaipaca reaparhaila.
obaiac  peaparhail.
obaipata rednarmaita.
Idea.
ob--naca reapar--Lla.
ob--fua¢  reaparail.
ob--{latd reapamm--ta

Syncopated.

obaifp feaparmal
otbpe reapamia
obain feaparhail

otbfleata® peaparita.
otbpreat  reapamail.
oibpeata reapamia

Family Names.

(@) The prefix “O” is rendered in Irish by 4, the
shortened form of ua, a descendant. It has a feminine.
form ni, which causes aspiration. Both forms are fol-

followed by the genitive case.

A may also be written

O, especially in translating “O’Neill,” the feminine

form being the same, ni.

James O’Donnell
Mary O’Donnell
John O’Neill
Nora O’Neill
Patrick O’Doherty
Una O’Doherty

Séamup A 'O6mnaiti.
maipe ni Vémnaill.
Seagan O néiLl.

Nopa Ni NéiLL.
Paopaic 4 Docaprcard.
Una ni VotapTars,

® Not obpiaca ; the root of the gen. sing. is preferred.
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() The genitive case of ua is'uior i; that of Ois
i The feminine ni does not change. i is preferred
toi.

James O’Donnell’s son mac Séammip 1i VémnaLl.
Mary O’Donnell’s son mac fhatye Ni V6MnaLL.
John O’Neill’s son mac Seagamn ti néL,

(¢©) The prefix “Mac” is rendered by Mac, a son,
usually shortened to 4c. The feminine form is tic.
No aspiration takes place, but both forms are followed
by the genitive. Mac becomes thic in the genitive.

Charles MacHugh Séanilur ac 4010,
Sarah MacHugh Soft¢a tic 4ovd.

George MacSweeney Seéfira 4c Suidbne.
Brigid MacSweeney bugro mc Suidne.

Hugh MacSweeney’s son  Mac 4ord Mic Suibne.
(d) In many cases the Irish prefix ua or a is used
when there is none in English.

James Kelly Séamup & Ceallard.
Brigid Kelly bpgio ni Ceallas.
Daniel Boyle ‘Domnall 4 Baogailtl.
Annie Boyle 4nna hi Baogarltl.

() Some names take the article after Mac and tic.
Before a consonant Mac an is shortened to Acas, the
feminine form being Nica or Nioca.

Cormac Ward Cotimac 4ca Biqo.®
Mary Ward Maite nioca Bipro.

Denis MacNulty "Donntad Mac an Utcas.
Nora MacNulty Népa Nic an Ulcars.

(/) In using the surname only, we use the article
with the nominative case, taking care to make the

® The article aspirates here, as it is really a contracted genitive.
mac an Bdipro means the son of the bard, but as a surname we now
say dca Dipo. Craig = 4 Cpeag, and not 4 Cpéige.
D
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latter end in &¢. This rule, however, is not general ;
in fact many surnames never admit it, and many

others make it optional.
O’Doherty is coming
Boyle is coming
O’Donnell is coming
Craig is coming
MacNulty is coming
MacNeill is coming
MacSweeney is coming

T4 an ‘Docaptad A3 Teact.
T4 an Daogallac 43 teace.
TA an 'D4ala¢ a3 Teadt.

T4 an Crieagad 45 teadt.
T4 Mac an Ultarg 43 Teade.
TA Mac NéiLl ag teact.

T4 Mac Suibne ag Teact.

Governing Power of Nouns.
(2) In Irish a noun can govern another noun in the

genitive case, and the governed noun comes last.

A

definite noun can be governed by a definite noun
only, and in discharging this function the governing
noun never takes the article,

The head of the horse
The sand of the sea
The taste of the bread
The smelt of the fish

The halter of the horse

_ The foot of the hen
The son of the king

Ceann an Capaiti.
Lamih na pange.
Dlap an afem.

Dolad an éipz.
AdapTap an capall.
Cot* na cifce.

mac an pi.

(6) A definite noun can also govern an indefinite
noun in the genitive case, and if the genitive ex-
presses quality, connection or origin, the governing
noun never takes the article.

It has the taste of bread

It has the smell of fish
The halter of a horse
o The foot of a hen
o The son of a king

T4 blap apamn a. <
Ta bolao é1pg am.

4darcap caparll.

Cor cifice.

Mac pi.

(©) When the indefinite genitive denotes a part..
of something, or the material of which something is
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made, the governing definite noun will -have the
article expressed.
The bite of bread

The draught of wine

4n gremm AﬁAm.
An ‘oeoc piona.

The bag of meal An mala mine. .
The streak of light An reyioc rolup.
The spark of lightning 4n pplanc roilipe.
The house of gold An teat M.

The bag (made) of leather an mala leatat.

‘(d) The use to which a thing is put, or the place
where a thing is found or produced is expressed by a
definite genitive.

malaan Leataip The bag for holding leather.
The bag for meal, the meal bag.
The house for storing gold.
The hill where silver is got.
The hill where slaughter occurred.
The light-reflecting lake.
The flashing sword.

mala na mine

Teat an 1t

Cttuat an a0
Cnoc an &t

Loé¢ an T-polmp
Clarveam an T-poluip

(¢e) An indefinite noun can govern an indefinite
noun only.

A cup of water
A drink of milk
A house of gold
A bag of flour

A piece of bread

Trota apain.
Cupa wirge.
“Oeot bmnne
Tead b1t
mita ptum.

(f) The English possessive case is rendered by the.
genitive, the initial of which must be asplrated if it is

a proper name.*

The king’s sister’s son’s shoe:

Mary’s sister’s son’s shoe

bpég mic 'oembfﬂuﬁa an .
bég mic oerptbiupa Mape.

- * EXCEPT: Mac 0§, Teile Muipe, Feile Paopuic, Feile €6,

Feile péavary, &e.

Like family names after Mmac and Ua, there is no
asplrahon after peile, a feast or festival.
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N.B.—Mary’s sister’s son’s shoe=The shoe of the
son of the sister of Mary. It is plain, therefore, that
the article cannot be used here with bpog, mic and
veiwiupg, each being a governing noun.

Compound Words.

(¢) When we form a compound word in Irish the
initial of the second part will be aspirated, the first
part performing the function of a prefix or adjective.*

Chl-cant Back-talk, back-biting.
Caopi-feort Sheep-flesh, mutton.
Muic-feorl Pig-flesh, bacon.
tiop-buan Steadfast, faithful.
Fiop-vitap Sincere.

- (6) When the first part does not perform the function

of an adjective or prefix the second part is usually
in the genitive case, and is often equivalent to an ad-
jective or affix. Hence the aspiration of the second
part will depend on the gender of the first part.

An peafi-ceorl The musician.

an pip-ceort Of the musician.
4n peap-mipe The madman.

4an pip-impe Of the madman.
An ¢uac-ména The turf-stack.
Na cpruarce-ména Of the turf-stack.
An B6-Banne The milch cow.
Na bé-bamne Of the milch cow.
Sz1an-péca A penknife.
Apgean-poéca Pocket money.

* There are some exceptions which should be committed to memory.
Here are a few :—Ceann-tifi, a cape; bean-vi4, a goddess; bean-
Tifearng, a lady ; pean-omne, an old man; buan-raofalas, long-
lived, &e.
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N.B.—These compounds may or may not be joined
by a hyphen. In either case ey convey but one idea,
and must, therefore, be looked upon as single words;
otherwise the article could not be used with them, as
above. ‘

& The student must not suppose that every
genitive that comes after a noun counts as an adjective.
It is only when the genitive is @ par? of the compound
that it is equivalent to an adjective.

Comparison of Adjeotives.

() The comparative of superiority and inferiority
is formed by putting niop before the genitive singular
feminine of the positive.

A whiter cat Cat niop bame.*
He is blacker than Hugh T4 pe niop outde na 400.
He was blacker than Hugh Bi re niop ouide na 4o09o.

(6) With the verb 1y, the comparative sign niop is
not used, except when the comparative qualifies a
noun, as in the last example below.

Una is darker than Mary 11 ouibe Una na Maige.

Una was darker than Mary Duv ouibe tina na Maipe.

She is a darker girl than Una 1p ombe an carlin § na Una.

She was a darker girl than Una Duo ouibe an cailin i na tina.
Nora is a darker girl. 11 carlin niop ourbe Népa.

* Cat niop béine, i.e., cat md & 1 bline = a cat @ thing whick is
whiter. 119 4 11 was formerly written n1d-pa, niopa, and nipa; andat
present we write it as above. As may be seen, nior, e, n10 a1p,
sometimes becomes n1 buv, 7.2, 110 4 bud, the relative being omitted.
It is usual to call niop the comparative sign.



(¢) With past tenses, niop is often written ni.bud or
ni ba, especially when the two objects compared are
“both connected with past time.

Una was darker than Mary (is) Bi una niop ouibe na Miite.

Una was darker than Mary (was) Bi Una ni ba ouibe na Marpe.:
_Una was younger than Mary (was) i una ni b’ é15e na Maipe.

=" I never drank sweeter wine than that=
I never drank sweeter wine than that (is).
( {nio'r\ 6l me apnarh pion niop milpe na pin,
@) {I never drank sweeter wine than that (was).
Niopt 6L me apuath pion ba thilpe na pin.
[I never drank wine which was sweeter than that.
I. Niopt 6L me aptam pion a Bi niop milpe na pin.
(3) P I PP
) 2. Nioft 6L me amarh pion 4 Bi ni ba milpe na pin.
(3. niop 6L me apamh pion ba* milpe na pin.
(d) The comparative of equality is formed by
putting corh or co before the positive and Le after it.
When there is a second verb Le becomes agup or 4a’1.

I am as big as Mary T4 me co mép Le Maipe.
I am as big as you TA me co mop LeaT-pa.
I am as big as I was T4 me co mép o'p bi me.

The Superlative.

(2) In English we say “the blackest horse,” but in
Irish we say “the horse wkick is blackest” or “the
horse whick was blackest.” In like manner, “You
are the fairest” is “You are who are fairest,” and
“You were the fairest” is “You were who were
fairest.” The form of the adjective is the same as in

"~ * This is not the comparative sign. 0o here discharges the same
function as “®i” in the preceding <xample, the relative 4 being under-
stood.
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the comparative. Always omit the relative, as, #e
blackest coal=an gual (a) 1r oude =an Iual 1 owbe.

The blackest horse (present) 4an geafipan 1 ombe.
The blackest horse (past) 4an geapqian ba oube
You are the fairest 11 Th 11 oire.

You weré the fairest buo ti be oire

You are the fairest girl 1P TH an cailin it vire
Vou were the fairest girl bud Tih an carlin ba ore.

(6: When the superlative sign is ba it aspirates,
except in the case of v and c, and before a vowel
sound it usually becomes ab.

He was the biggest man bud é an peapt ba mé.
He was the fleetest man . buv é an peart ba Fuipce.-
He was the best man buo é an peap ab fedpq:

He was the youngest man bud é an pean ab b1ze

(¢) As principal verbs, 1 and bu® (or bas) express
simple present and simple past time respectively, and
as there are no other forms of this verb in modern use,
the other tenses are expressed by the aid of a relative
ta clause. .

You are wont to be the smartest man in the country.
You will be the smartest man in the country.

You used to be the smartest man in the country.
You would be the smartest man in the country.

1 TH an peap 1p Juirce 4 broeap pan Tif.
11 T an peapt 1P SWipTe 4 bérdear pan Tif.
Dud th an pestt ba Fuirce 4 broead pan Tift.
Dud TH an peapt ba Swipce 4 Bérdead pan Tift.
N.B.—In comparing adjectives we use nior and 1
as signs of the comparative and superlative, as, ban,
niop bdine, 11 béine, white, whiter, whitest.
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irregular Comparison.

POSITIVE. COMPARATIVE. SUPERLATIVE.
mop, big, great niop moé i+ mo.
beag, small niop La3 1 La6g.
mait, good niop rednn 1 redpn
otc, bad niop meara it meapa.
ra04, long niop paroe 11 paroe.
teit, hot, warm niop teo i TEO.
fufpur, easy nior pura I pupa.
cinnce, sure niop cinntige 1 cmmncige.
mimc, often nior mionca 1 monca.
41Ty, smart, clever  niop guirce 1 suipce.
sean
o short. niop S10M\a 1 S0\

Position of Adjectives.

Adjectives are placed after the nouns they qualify,
as tea¢ mop, a big house. Opo¢, bad, and pean, old,
and all the simple numerals stand before their nouns.
When geapp stands after its noun it means skorz, but
when it stands before the noun it means medium-sized.
Fiop, true, often discharges the function of a prefix;
it then has a different meaning, as, piop-uipge, real-
water, ze, spring-water. Sometimes it acts as an
intensive particle, as, piop-gnanna, very ugly. °Déag,
good (in a moral sense) always precedes its noun, and

is really a prefix, as, veag-ouine, a morally good
person. ‘

& In poetry, monosyllabic adjectives often stand
before the nouns they qualify, but this should not be
imitated in prose.
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Adjsotives Referring Back.

When an adjective refers to a noun already spoken
of, it must be accompanied by some such word as,
ceann, a head, ouine, a person, peap, a man, bean, a
woman, etc.

The biggest is black T4 an ceann 11 m6 oud.

The eldest is a good girl T4 an Bean 11 pine na carlin thart.
Give me the reddest Tabaipt 0am an ceann 11 vepge.
You have the best T4 an ceann 1 pedfift AJAT-Pa.

Agreement of Adjeotives.
(#) Adjectives that immediately follow the nouns
they qualify agree with them in number, gender, and
case.

A big man and a small woman Fean mép agur bean beas.
Big men and small women it mépa aJup mna beaga.

(6) When an adjective stands alone as predicate it
is invariable.

The cows are big T4 na ba méq.

The big cows are black T4 na ba mopia oud.

He made the knives skarp Rigne ré na r51ans geut.
He made the sharp knives Rigne 1é na pr31ana Jeupia.

& The adjective opo¢ cannot stand alone as
predicate. Hence it would be wrong to say ta an 6
ono¢, the cow is bad. _

(¢) When an adjective qualifies two or more indefinite
nouns, it agrees with the noun next it only. But if
they are definite nothing strange occurs except that
the article must be used with each noun in Irish :

A good man and woman Feant agur bean thard.
A good woman and man bean agup reap mart.
The good man and woman AN peap aZUr an bean thard.

The good woman and man An Dean agup an peap mart.
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(d) When an adjective stands before its noun it is
invariable as to form, but it aspirates the initial of its
noun, and is, itself, liable to be affected just as if it
formed part of the noun:

O thou bad man! 4 opoc pean!
O ye bad men! & onoc peapa!
The head of the old horse Ceann an T-pean capaill.

(¢) The intensive particles an, n6, rap, fiop, an,
etc., are prefixed to adjectives, the latter being aspi-
rated by them. Most of the monosyllabic adjectives
already referred to, perform the same function to
nouns.

Partitive Words.

- NOTE :—A word is definite when it is preceded by
the definite article, a possessive pronoun, a demon-
strative pronoun, or a possessive case, as, the cow, this
cow, my cow, John's cow. Phrases like the full of a
spoon, the full of a boat, being equivalent to a spoonful,
a boatful, are indefinite.

(a) A noun preceded by a definite word expressing
fulness or part must be rendered in Irish by the
genitive case.

Zke full of a boat ) Lan baro.

The full of the boat 14n an baro.

T*e whole of the boat 1omlan an Baro,
Te half of this boat leat an Baro ro.
T%e third of the man’s boat Tman baro an gt

(6) A definite noun preceded by an indefinite word
expressing fulness or part must be rendered by the
dative with ve.
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It is full of the bread

Plenty of the bread

Much of this bread

Little of that bread

Some of the bread

More of the bread

A fair-share of the bread

The full of a boat of the bread
A spoonful of the honey

T4 pé Lan oe 'n aftan.
NeapT oe 'n apan.
Mmonan oe 'n afian po.
Deagan ve ’n apan pin.
Cutro e 'n apan.
Tuilleav oe 'n apan.
Curo thait e 'n apan.
Lin biro oe 'n apan.
Lén rpanoige oe 'n til.

(¢) An indefinite noun preceded by an indefinite
adjective of fulness or part may be rendered either by
the genitive, or by oe with the dative.

Plenty of bread NeapT apaim or Neapt ve apan.

. Much bread Mottan apam ,, Morpian oe apan.
Little bread beagain apain,, beagan ove apan,
Full of bread Lan apain »» Lan oe apan.

Numeral Adjectives.

CARDINALS.
I. don.
2. 04, 00.
3. Ti.
4. ceitpe, ceatam
5. ctng.
6. ré.
7- reacc.
8. oct.
9. naot.
10. ove1t.
I1. aon-veus.
12. '06-veugs.
13. tpi-oeus.
14. cedtaip-veus.

ORDINALS.
1st ¢euo.
2nd oapa.
3rd cpima, tpear.
4th ceatpao.
sth ciigead.
6th peipead, rémead.
7th peacttad.
8th oétao.
oth naomad.
10th veitead.
11th aonav-veus.
12th 06mav-veus.
13th tpimeav-veus.
I4th ceatpav-oveus.
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16.

17.
18.
10.
20,
21.
22,
23.
24.
25.
26.

27.
28.

29.

30.
31
40.
50.

70.
8o.
. veit o't cetpe

100.
200.
300.

CARDINALS.
ct1g-oeus.
ré-oeus.

react-oeus.
o¢tT-veus.
nao1-veus.

rice.

aon o'p pice.

06 o1 pice.

T 4’1 pice.
ceatam 4’r rice.
cing 4t pice.

ré o'r pice.

reacct Arrice.
o¢t 4’r pice.

nao1 a'r pice.
ve1é 4 pice.
4aon-oveug A pice.
04 fi1éro.

et ar 04 f1¢1o.
T picro.

velt a'r Tpi p1cro.

ceitpe pi1cro.

ricro.
céao.
V4 ¢éao.
TN ¢éao.
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ORDINALS.
15th ciigeat-veus.
16th peiread-veus,
rémeav-veus.
17th reactav-veus.
18th o¢rav-veus.
19th nsotav-oeus.
20th picead.
21st aonad am prcro.*
22nd '06thad amp fr1éro.
23rd tpimead an f1é1o.
24th cedtpad amp f1éro.
25th ctigeasd aip préro.
26th pémead am f1éro.
27th peactad ap préro.
28th oc¢rav ap préro.
29th naomad amn f1éro.
3oth veicead s f1éro.
31st aonav-veug ap {1610
40th 04 ficroead.
soth vei¢eat.aim 04 p1éro.
60th Tpi p1troead.
70th oeitead amptp piéro
*8oth ceitpe pi¢roead.
goth veitead aip certne
t1¢ro.
100th céaonad.
200th 04 ¢éa0a0.
300th tpi ¢eanav.

* Azur pice may also be used.
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400. ceitpe ¢éa0. 400th ceitpe ¢é404a0.
500. cfig ¢éao. sooth ciig ¢éanad.
600. ré ¢éav. 600th pé ¢éavnad.

700. peadt 5-céao. 70oth react z-céavad.
800. o¢t z-céav. 8ooth o¢r x-céavad.
000 naoi 5-cé4a0. gooth naotr 5-céanad.

1000 ‘pe1¢ 5-cé4; mite. 1000th milead.

N.B.—f¥1¢e, céao, and mite are declined: pice, gen.
ficexo, dat picro, plural piéro; céao, gen. céro,
dat. céav, plural céaocsi; mile (4th decl) plural
mitte and mitei. The article must be placed before
the ordinals, and h must be used when the numeral
begins with a vowel, as, an h-aona®, an h-ottad.
This n is also used with the cardinals when the
article is used, as, an h-aon, an h-oéc.

EZ" mMile is also plural, and means a definize
number of thousands, as, ciig mite, five thousand.
The same applies to mile, a mile.

First, Last, Onoe, Twice, &o.

The first man 4n Ceuo feaft.

The last man An peatt veipieanad.

Do this first 'Dean 1o 4’Ceuo uaft, it O-Thr, Ayt Ehp.
Hediditat last Rinne re € ra veiead, ra vepead.
He is first TA 1é 4 o-Totread.

He is last T4 1é st oertead,

The first time 4n &euo van.

The last time An uai veipeanad.

How many times? Ca meuo uaipt?

Once, twice Uait ahdim, 04 uat.

Thrice Trii h-uare.

Four times Ceittpie h-uaitte.

Seven times Seatt n-uatie.
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The Numeral Substantives.

(2) The numeral substantives are so called because
they perform the functions of nouns and adjectives.
They are as follows :—

beiyz, two. reireat, six.
Ty, three. readtar, seven.
ceatpay, four. octat, eight.
ciigeat, five. nonbap, nine.

oeitneatt (or veitneaban) ten.

(6) They take the singular of the article : an einc,
an Tpan; an cealpan; an Cuigedn; an reireap, an
reacttan, an h-oétan; an nondap, an veicnesap. Note
that veipe, cuigean, and ceatpap are influenced by
the article.

Use of the Numerals.

(1) In counting, in the abstract, we must never use
04 or certpe. In translating numerals we begin with
the small numbers; thus, 35=ctig-veus &’ fice;
3472 ="006-0eug 4’1 T\ £1¢10 a5ur cettpe céao aip (or
asup) tpi mite.  When a numeral is conveniently
small, and a multiple of pi¢e or céav, it is better to
count by multiples. Thus, 120 is ré pi¢ro; 140,
react H-p1¢1o; 1200, 04 ¢640 'veus; 1500, cig ¢éao
veus. [ When céavo is absent, pice and mite do
not go well together; hence 1020 must be written
ré P1¢ro azur nao1 5-céao, not pice agur mile, or mile
agur p1¢e which might mean 21 thousand.

(2) When an English cardinal numeral stands (by
itselt) for persons, we must use either a numeral sub-



47

stantive with e and the dative case, or a cardinal and

ctaigeann (skull, pl. cLaigne) with e and a dative.

Ciigeatt ve na pift.
Ci1g claigne oe na pift.

. . Cuigeatt ve 'n opteam.
Five of the tribe {c\’ns claigne ve 'n opeam.

(3) In answer to “how many?” an English numeral
which stands (by itself) either for persons or things,
must be rendered by a numeral substantive, or by a
cardinal accompanied by ctageann or ceann; ceann
in the case of irrational animals and things, claigeann
in the case of persons.

How many men? /Fize=-:-? Cwmgeap or Cirg claigne.
How many cows? Five=---? Cuigeapt ,, Cuigcinn,
How many boats? Fiye=.--? Cuigean ,, Cig cinn.
(4) When an Englishcardinal numeral qualifies “men,”
“women,” “children,” or any such word which stands
for persons, it 7ay be rendered in Irish by a numeral

substantive followed by the genitive plural of the noun.

Five of the men

(1) Seactap peaft.
Seven men {(2) Seact b-pif.
(3) Seatt z-claigne peatt. .

&&" The two are here=ta an teic ann pro; the
three are here=ta an can ann ro, &c.

(5) In answer to, “what time is it?”

One  or one o’clock 4An* h-aon,
Two , two o’clock An 06.

Three ,, three o'clock A4n i,

Four ,, four o’clock ° An ceataif.
Five ,, fiveoclock - =~ . .an cws.

Eight ,, eight o’clock - A4n h-ote.
Eleven ,, eleven o’clock 4n h-son-veug.
Twelve ,, twelve o’clock 3 an 06-veug.

* This'is the article,
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Midnight

A quarter past two
Half past two

A quarter to three
What o’clock is it?
What time is it?

It is five o’clock
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© 4An meadon Llae.

An meadon ordce.
Ceatfad 4 n-0141%5 an 06,
Leat 4 n-o1413 4an 06,
Ceatqad 5o 0-ti 'n Ty,
Ko 0é 'n clog a4 b-purl pé?
To 0é 'n T-am 4 O-puil pé?
T4 1é an cing o ¢log.

() With adjective and noun:

One white horse
Two white horses
Three white horses
Seven white horses
Twelve white horses
Twelve white cows
Fifteen white horses
Thirty-five white horses
120 white horses
360 white horses
1080 white horses

6480 white horses
185 white horses
930 white horses
1050 white horses

5550 white horses

Capall amhain ban.

04 tapall dana.

Tiii capaill bana.

Seadt 3-capaill bana.

04 tapall veug dana.

04 duin veug bana.

Cuig capaill veug Bana.

Cu1g capall veug agup rice bana.

Sé p1tro capall ban,

T p1éro agur oyt Eéao capall ban.

Na01 B-p1t1ro aZupr naor 3-céao
capall ban.

Certpie p1é10 agur certpe &éao agup
1é tile capall ban.

Cmg capaill agup naor B-préro
capall ban,

Oeic 5-caparll agur pice agur naot
-céao capall ban.

Veic 5-capaill, preatt b-préro agur
n401 3-céao capall bén.

Verc 5-caparll agup 0d fi1éro, ciry
¢éa0 agur chrg tite capall ban.

N.B.—Remark that when a number is not a multiple
of pite the noun occurs twice; first, with the excess of
the multiple, and secondly, with the remaining part of
the number, which, being a multiple of pi¢e, requires
the noun and adjective to be in the genitive plural.
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(¢) The numerals 23, 24, 25, 26, 27, 28, 29 and 30,
when accompanied by a noun, are often rendered
idiomatically by the genitive of pi¢e, thus :

Twenty-three cows. Tii ba piceao.
Twenty-four cows. Ceityie ba piteao.
Twenty-five cows. Ci1g ba piceso.

OBS.—A person 15 years old is often said to be in
the feens, ie., in the fifth year of the zeen period. In
like manner a person 25 years old may be said to be
in the fifth year of tke twenty period, or five years of
the twenty period.

THE NUMERALS 00 and ceaCair.

These numerals never qualify a noun, and always
stand by themselves. Their use is, besides, limited to
certain cases, the principal of which are :—

(1) In counting, as, aon, 06, Tpi, cestap, 06-
veus, ceatap-oeus, ceatan ssur rice, &c.

(2) In stating time, as, T4 ré an 06, It is two
(o’clock).

(3) In stating amount of money, as, Ciig punca
azur an 06, Five pounds two (£5 2s. od.);
Ta an ceatam agur punca agem, I have
one pound four (£1 4s. od.)

THE NUMERAL 4.

(1) The numeral 04 can only be used with a noun,
the initial of which it aspirates, as V4 ¢apall, 0a
caona.

(2) It takes the article and noun in the singular,

E
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and if the noun be feminine, it will be the dative form,
as, an DA ¢apatl, the two horses; an 04 Buin, the two
cows. - :
(3) If the noun be genitive, it will be genitive
plural, as, Lan 4 04 Lam, the full of his two hands.

(4) It takes the adjective, and pronoun referring to
its noun, in the plural, as, T4 04 duin 654 agam agup
ta Mao cTinn, I have two young cows and they are
sick.

(5) Its dot disappears in presence of the article
and also in presence of agur when it (agur) forms
part of the numeral, as, an 04 duin, the two cows; 04
¢apall agur 04 f1¢ro, forty-two horses,

T1Ce, céno, mite, cCa mewo?

These numerals are declined and have, therefore,
the nature of nouns. Hence they govern the nouns
that follow them in the genitive case, as, pice b6,
twenty cows, ze, a twenty of cows; céav 16, a
hundred (of) cows; mite 06, a thousand (of) cows.

Ca meuwo? or ca meuo? How many? is followed
by the genitive, as ca meuo v6? How many (of) cows?
If we change “how many ?” into “how much?” we
must also change “ ca mewo ” into “go 0é 'n méro?”
or “go e 'n méro?” For example, we must not say,
ca mewo apan? but 5o 06 'n méro spamn? how much

/(of)v bread? Speaking of money, however, we say,
Ca meun aTA 454< ? how much have you?—probably
because money is usually counted.
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Functions of Numerals.

(1) don, ceuo, V4, 006, and tpear cause aspiration.

(2) Tm, cettpe, cing, ré, cause no initial change
except in the word céao, a hundred, mite, a thousand,
a roile,

(3) All the ordinals, except ¢euv and cpear cause
no initial change.

(4) Seacr, o¢t, naoy, and vei¢ eclipse—but they
have no power over p. '

4on b6 agur 04 Caopa One cow and two sheep.
4n tevo Capall The first horse.

TA pe an vo-deuy - It is twelve (o’clock).

Sé ba agup ott 3-caparll Six cows and eight horses.
Cirg ¢éao capall Five hundred horses.

The Personal Pronouns.

The personal pronouns are mé, I; cu, thou or you;
ré, he, it; and i, she, it. They are defective in the
genitive case.

Modern grammarians maintain that mo, my; o,
thy; 4, his, are genitives of me, ta, and pré.  If so,
they are personal pronouns. But personal pronouns
always stand for, and are, consequently, used in the
" absence of a noun. Hence, as mo, 0o, and a cannot
stand in the absence of a noun, it is plain that they
cannot be personal pronouns. Therefore, they are
not genitives of me, tu, pe.

Again, the object of a transitive participle, as we
shall see farther on, is put in the genitive, as, striking
John, a5 busa® Sheagan. But when this object is
a personal pronoun we are compelled to use an idiom,
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Thus, striking me, becomes to my striking, 0o, mo
Buataod.

In Irish we are compelled to say, “a cow is at me,”
because we have no verb “have”; we must say, “it
comes with me,” because we have no verb “can”; and,
we have to say, “ hunger is on me,” because we have
no primary adjective for “hungry.” So also, we are
compelled to say “to my striking,” because we have
no genitive of mé. '

THE PRONOUN mé.

SINGULAR. ' PLURAL.
Nom. me,l. rinn, we.
Dat. 0am, to me. otinn, to us.
Acc.  me, me, Tinn, us.
Mme (emphatic).
Nom, wmipe, 1. rinne, we.
Dat. oaripas, to me, ‘otinne, to us,
Acc.  mipe, me. rinne, us.
me (reflexive).
Nom. me-péin, I myself. rinn-éin, we, ourselves.
Dat. vam-péin, to myself.  odimn-péin, to ourselves.
Acc. me-péin, myself. rinn-péin, ourselves.

THE PRONOUN ct1.

Nom. tu, thou, you b, you, ye.
Dat. outz, to thee, to you '0ib, 'Da01H, to you.
Acc.  ta, thee, you 19, you, ye.

Voc. ta! O thou! rmv! Oyou! Oyel!
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T (emphatic).

Nom. tupa, thoy, you. ribre, you, ye.

Dat. ourcye, to thee. oibre, to you.

Ace.  tupas, thee, you. rbre, you.

TU (reflexive).
Nom. ta-pém, thou, thy- rv-péin, you, your-
self. selves.

Dat. ouc-péin, to thyself. 0ib-péin, to yourselves.
Ace.  ta-pén, thyself, Mb-péin, yourselves.

THE PRONOUN sé.

Nom. pe, he, it. riao, they.
Dat. 6, to him. 0061Y, DaobLa, * to them.
Acc. &, him, iao, them. '
S€ (emphatic).
Nom. pepean, he, it. r1aoran, they.
Dat. o6pan, to him, it. n4aobtaran, to them.
Acc.  epean, him, it. iaopan, them.

S€ (reflexive).
Nom. pé-péin, he himself. pao-pén, they themselves.
Dat. 06-péin, to himself. vaodbta-pein, to themselves.
Acc.  é-pén, himself. 140-péin, themselves.

THE PRONOUN si.

Nom. pi, she, it. tao, they.
Dat. oute,oi, to her. 040bta, to them.
Ace. i, her, it. 140, them.

* or oiobta.
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ST (emphatic).
Nom. e, she, it. riaoran, they.
Dat. ouitere, to her. 0aobtaran, to them.
Ace. e, her, it iaoran, them.
S1 (reflexive).
Nom. pi-pén, she, herself. Mao-féin, they them-
selves.
Dat. owmte-péin, to her- vaobta-péin, to them-
self. selves.
Ace.  1-pén, herself. iao-fpéin, themselves.

D@ The forms mire, curs, &c., are used (1) for
emphasis (2) when one pronoun is linked, by a con-
junction, to another pronoun or to a noun. They
are formed from the unemphatic forms by the addi-
tion of pe, or ra. These terminations in the third
person plural and third person singular masculine,
become ran, while, in the first person plural, ¢ be-
comes n by assimilation. So that instead of pinnre
we have pinnne, or as it is shortened, pinne.

In composition, the vowel sounds in mé and pe
are often obscure, and are pronounced md, sZd, ie.,
like the vowel sound in the Fr., me, te, se, le. With
i, however, the e of mé is always long. It is also
long with passive verbs.

The Affeoted Pronouns.

The so-called affected pronouns are me, ¢y, &, i, 140,
rimn and mv. They are the secondary or accusative
forms of the personal pronouns. They are used as
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nominatives (1) with the verb ip, and (2) with passive
verbs. '

1P peap mart ¢l You are a good man.
1 pit marte iao They are good men.
buailead &h You were beaten.
buaitead é He was beaten.

B When ¢a comes beside 1p it shakes off the dot:

' TU an pean
The Prepositional Pronouns.

When a preposition comes before a personal pro-
noun it unites with it. ‘Thus ag me becomes agam ;
45 Tt becomes agat, &c. The combinations thus
obtained are called prepositional pronouns. The
following are important :—

A50M (a5 +me). .
SINGULAR. PLURAL.
Agam, at me. 4gamnn, at us.
434T, at thee, at you. 43 a1b, at you.
s15e, a1c, at him, at her.  acq, at them.
EMPHATIC.
agampaq, at me. Agamne, at us.
Agacra, at thee. 43atbre, at you.
a1geran, aicipe, at him, &c. actran, at them.
: REFLEXIVE,
agam-péin, (at myself).  agann-pém.
AgaT-péin, ATA1b-pén.
arge-péin, aic-géin, acti-fpén.
vom (te+me).
Liom, with me. unn, with us.
teat, with thee. up, with you.

Leip, Leite, with him, &c. Leobis, Les, with them.
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ORM (apn+me).

SINGULAR. PLURAL.
opm, on me. opainn,* on us.
oft, on thee, ofad, on you.

a1, oipei, on him, on her. ontu, onta, on them.

100NNAIM (ann+me)
10nnaim, in me. 1onnainn, in us.
ionnac, in thee. 10nnaid, in you.
ann, innti, in him, in her. 1onncy, in them.

04M (oo +me).
-0arh, 'Dom, to me. otinn, to us.
ouit, to thee. ouiv, 'oiv, to you.

06, ouite or ‘oi, to him,&c. vaobta, 061H, to them.
N.B.—The o of i is thick.

'010M (‘oe +me).

oiom, from me. oinn, from us.
ojoc, from thee. 0ib, from you.
0é&, 'ouite or i, from him, &c. oiodta, from them.
Pronounced as follows :—
04a0M 040NN
V40T 0401Y
'04€, 'ouite or oui a0t

ASAM (ar +me).

Aram, out of me, 4arainn, out of us.
arac, out of thee. aratd, out of you.
41, 4irei, out of him, &c. 4ArThH, Arca, out of them.

* Im most grammars we find a double . We think one p sufficient.
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SINGULAR. PLURAL.
cugam (¢um+me).
¢ugam, unto me. ¢ugainn, unto us.
éugac, unto thee. ¢ugab, unto you.
¢mge, ¢uici, unto him, &c. ¢uct, ¢uca, unto them.
Pronounce, hugam, hugac, &c.
FOM (Lao1+me).
£0m, under me. fainn, under us.
tuc, under thee. b, under you.
taot, piite, under him, &c.  pata, under them.
Also,
raom taoinn
faoT Ta01b
Fa0y, puite raodta
141N (0 + me).
uaim, from me. vainn, from us.
uaic, from thee. uab, from you.
ua, uarte, from him, &c. uabty, from them.
€40RAM (101 + me).
eaopam, between me. eaopuinn, between us.
eaofut, between thee. eaopad, between you,
o1 &, i, between him, &ec. eaconu, between them.
ROMAM (porhe +me).
n6riam, before me. nomainn, before us.
noac, before thee. norm.at, before you.

poirhe, poirmpi, before him, &c.  pormpa, before them.
TAORAM (tap+me).

Tapm, over me. tanann, over us,

tapac, over thee. tapuad, over you.

taqur, tappci, over him, &c, ‘tappci, over them.
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SINGULAR. PLURAL.

TRIOM (tpé +me).

tpiom, through me. tpinn, through us.

tpiot, through thee. Tpiv, through you.

tio, Tthite, through him. Tpiobta, through them.
£RIOM (ppio +me).

fiom, through me. £ninn, through us.

fniot, through thee. £niv, through you.

o, ppite, through him, &c.  ppiotta, through them.

ANNSORM * (annpsip+ me).
annpoqpm, to me. ‘ annpopainn, to us.
annporc, to thee. . annropaib, to you.
annpaip, annpoipdy, to him, &c. annpontd, to them.

The Possessive Adjectives.

The possessive adjectives are mo, my; wo, thy;
4, his, her, its; ap, our; dup, your; and s, their. They
cannot be used without the aid of a noun, and, when
emphatic, the particle pa comes after the noun.
When the noun is followed by one or more qualifying
adjectives, the particle is affixed to the last adjective.

Of these adjectives, mo, 0o, and a (his), cause
aspiration, while ap, bup, and a (their), cause eclipsis
in the noun, and prefix n in case the latter begins with
a vowel. 4, her, causes no change except in the case
of words beginning with a vowel. See next Chapter.

Mo ¢éiproe agup mo capartl My coach and my horses.
‘00 &6iroe agur oo caparll Thy coach and thy horses.
4 ¢oroe agur 4 caparll His coach and his horses.

* annpopm =ann + o + opim.
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4 céipoe agur 4 capartl Her coach and her horses.
At 5-cOipoe agup ap 5-capaill Our coach and our horses.
Bun 5-céiroe agup Bup 5-capailt Your coach and your horses.
4 5-céiroe agur 4 5-capailt Their coach and their horses.
Mo capall mép ban-pa My big white horse.

& rein, as we have seen, means “self” when
affixed to a personal pronoun, but when it is used
with a possessive adjective, it means “own,” as, mo
¢apall mop e, My own big horse.

THE POSSESSIVE ADJECTIVE a.

4, his, aspirates: a 96, his cow.
4, her, does not: 4 b6, her cow. b.c.o.p 5 p.T
4, their, eclipses: a m-b6, their cow.

4, his, no change : 4 anam, his soul.

4, her, takes h: a h-anam, her soul. Vowels.

4, their, takes n : 4 n-anam, their soul,

4, his, aspirates: 4 {4, his fill. 1

4, her, no change : 4 pr&ig, her fill. rand m.

4, their, no change ; 4 pait, their fill.

4, his, no change: 4 ndipe, his shame.

4, her, do. 4 néife, her shame. L oo
4, their  do. 4 néipte, their shame.

#& When a simple preposition ending in a vowel
comes before the possessive adjective 4, his, her, their,
or ap, our, n must be inserted between them :

0 n-4 51140 or O na Fpao. From his love.

f401 n-4 coip or 401 na coip Under her foot.

le n-a n-gpdoor Le na n-gpndd  With their love.
Exception : 0o and ve blend with the possessive :

Tabaip peuti 04 apall. Give hay to his horse.
Dain geug 04 cpann Cut a branch from his tree.
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ELISION OF o.

The vowel 6 of mo and wo is elided before a word
beginning with a vowel or .
m'atam agur m'geaft. My father and my husband.
0’apal agup 0'f10ed3s. Your donkey and your whistle.
E& Translate vo by “thy” or “your,” and ta by
“thou,” or “you” ; but never translate “you” by r1t
when there is but one person in question.

Another Class of Adjeotive Pronouns.

The following adjective pronouns, which are very
common, stand after their nouns:—Sagamps, my;
ras4Tra, thy ; raigerean, his; pacipe, her; pagainne,
our; pagaibdre, your; pacaran, their. They are com-
binations of po, this, and the several parts of the

prepositional pronoun agampa.
Teaé ragainne., Our house.
Daile ragaibyre. Your town.

Prepositional Adjectives.

The possessive adjectives mo, 0o, 4, &c., often blend
with the prepositions ann, in; oo, to; te, with; and o,
from. This rarely applies to ann except in idiomatic
expressions, where a state is meant.

In my = ann mo = mo. Tomy = 0 mo.

In thy = ann oo = wo. To thy = 0o vo.
Inhis = anna = na. Tohis =004 =o4a*
In her =ann 4} = na. Toher = voa = va.
In our = ann ap = nap. To our = 00 ap = oot

¥ 'Da is also a contraction of ve & = (1) of his (2) of which.




Inyour= ann bup = Buy.
Intheir= ann a= na.

With his (her, their) = le n-a
From his (her, their) = o n-a

T4 Tih vo cartlin mart

T4 me mo ¢oolad

T4 pe na pmige

T4 ri na pearad
BE¥" Aann mo tip pémn
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To your = 0o bujL
To their = 00 4 = 04
= Le na = lena.

= ona = ona
You are a good girl.
I am sleeping.
He is sitting.

She is standing.
In my own country.

The Relative Pronoun.

The relative pronouns 3re, 4, who, which, that, and
na¢, who...not, which...not, that...not. [Nog, who,
which, is classic] They are indeclinable words, that s,
they have the same form for all the cases. The fol-
lowing are examples of the different cases :—

THE NOMINATIVE CASE.

The man who eats bread
The man who does not, &c.
The man who marries Norah
The man who does not, &c.
The man who struck ]ameé
The man who was striking J.

An peaft 4 1Teap apan.

An peat nad n-1teann apan.

An peapt a4 porar Nona.

An peap nat b-pépann Népa.

An peaft 4 Buarl Séamur.

An peat & bi a5 bualad Shéamuirp.

THE ACCUSATIVE CASE.

The bread which I eat

The bread which I do not eat
The egg which I break

The egg which I do not break
The man whom Norah marries
The man whom N. does not marry
The man whom James struck
The man whom J. was striking

An T-af1an A 1Tim.

An T-aptan naé n-tim,

An ud & duprim,

an ubd nac m-brpim.

An peatt & pépar N6HA.

An peap nac b-pérann M

An peatt 4 Buail Séamur.

An peapt aB1 Séamup a3 bualad.®

* Transitive participles cannot govern nouns or pronouns in the accu-
sative case, but they caz govern the relative in that case. When
ambiguity arises, as in ‘“.an peapt 4 buarl Séamup,” the context alone

will reveal the case.
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THE GENITIVE CASE.

To distinguish the genitive from the other cases a
partial idiom is used :—“ The man whose house I
sold,” must not be turned, “the man of whom I sold
the house,” as in French, but, “ The man of whom I
sold Zis house,” =.4n rean ap Viol me a teaé. The
genitive of the relative is, therefore, revealed by the
possessive adjective.

The hen whose foot I break A4n ¢ceafic A Brupim 4 cop.

The hen whose foot I do not, &c.  .4n &eapc na¢ m-bpurim a cor.
The hen whose foot Una breaks A4n ceapc 4 Bpupear Una 4 cor.
The hen whose foot U. doesnot, &c. .an ¢eapic na¢ m-bpupeann U, &c.
The man whose cow I sold An peapt aft H10l mé a4 B6.

The man whose cow I was selling  .Aan peap 4 pard mé a3 oiol 4 B6.

The man whose foot was smashed A4n peaft apt biuread a cor.

The man whose son was sick An peaft & pard 4 thac Tinn,
THE DATIVE CASE.

In the dative case a partial idiom is also used : “ The
man to whom I gave the cow”=The man to whom
I gave the cow to Aim=4n teap ap Tug mé 4an B6 00.
This case is, therefore, revealed by a strengthening
at the end of the relative clause in the shape of a pre-
positional pronoun.

Instead of using the idiom most grammarians place
a pure preposition before the relative which they make
it govern, * a practice which is not entirely supported
by the classics, while it is almost generally ignored in
the spoken language. Ambiguous expressions like

* This takes place, principally, when translating the English *have.”

The man who has big feet A4n peapt art & B-puil copa mépa.
The man who has a cow An peaft 413 4 B-pusl b4.
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the following must surely be considered faulty : 4n
reap oap Bain mé an rxian=the man from whom I
took the knife ; dn peap van tug me an rxran=the
man to whom I gave the knife, &c. Of course, we
have a few amalgamations of the relative and the pre-
positions, principally in connection with the verb ip.
such as, reap oapd ammm Fionn, but these are rare
exceptions. It is, therefore, better to accept modern
usage as being the clearest and most correct all
round.

A man to whom I gave a cow Teapt apt tug mé b6 06.
A manto whom I wasgivingacow  feaft 4 f1a1d me 435 tabarnc b6 06.
A man from whom I took a cow Feap ap ban mé b6, 0é.

A man from whom I wastaking, &. feaft 4 fta1d mé a3 banc b6 0é.
A stool on which I broke an egg STl an B mé ud a.

When a4 is an auxiliary verb its primary and
secondary forms may be used after the dative case of
the relative a; but when it is not an auxiliary the
secondary forms (b puit and pait) only may be used.
Teap 4 nad mé a3 cant apt

Teat 4 bi mé a3 camz anm

teap 4 B-putl mé a3 camc a
Teap 4T Mé 43 cant it

Teap & pa1d cié aige A man who had a hound.
tean o b-puil ci wmge A man who has a hound.

Fean 4 bi ch aige
feapn aTa ci mse} bad.

* A man about whom I was speaking.

} A man about whom I am speaking.

Funotions of the Relative.

(1) It always stands before the verb, and in affirma-
tive sentences 4 aspirates the initial of the verb—the

* In “qpaid...a35 cant,” ““ pad” is auxiliary,
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sign of the perfect tense being omitted, except in the
case of words beginning with a vowel sound.

Teatta tézar cloc A man who lifts a stone.
Teatt 4 €63 clod A man who lifted a stone.
Feat 4 '6L mpge A man who drank water.

E& Never aspirate T4 or 'oeip; An TE 4TA; an TE
avoenp*

(2) In negative sentences na¢ eclipses the initial
of the verb, except in the perfect tense where po
prevents it.

Feap na¢ o-cuigim A man whom I do not understand.
Fean napt Tuig mé A man whom I did not understand.
Feapt na¢ n-6Lann A man who does not drink,

(3) The relative 4 sometimes means “all that,” “all
who,” “all which,” in which cases it eclipses—except,
of course, in the perfect tense. In these cases it some-
times blends with 0o and we.

A g-cartm 'ran L3 All that I spend per day.
A g-cartinn 'pan L4 All that I spent per day.
At &art mé 'ran L4 All that I spent per day.
4 b-puil a n-€1qunn All that is (or are) in Erin.
A B-puil ve apan agam All the bread that I have.
04 B-putl a n-€1qunn  Of all that is (or are) in Erin.
L4 vatt eiquf Fronn One day that Finn arose.

La vapt=L4 ve 4 #10=(On) a day of which, &c.

EZ In relative sentences remember (1) that the
principal verb should come first, and (2) that when
a relative clause is equivalent to an adjective it is
inseparable from the subject. Thus, “The man who

is like me lifted the stone,” is neither, 6z an peap an

* The 4 in the classic aveiyum is probably the relative 4 ; it may
have crept in like the 4 in at4, which is undoubtedly the relative.
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élo¢ atd copathait tiom-pa (=The man lifted the
stone which is like me!), nor, &n rean oti corarhait
viom-ra 65 an ¢loé, but, ‘C:‘OS an reap atd corarait
uiom-pa an éto¢. By a slight idiomatic change, how-
ever, we can say, 4n reap aTA corarhait Liom-pra togz

ré an 6to¢. Observe the following : —
He killed the curly-tailed cat=
He killed the cat with the curly tail=
He killed the cat which had the curly tail=
He killed the cat on which was the curly tail =
Mapd pé an cat 4 11a1d an paball * carca an.

The Relative Form of the Verh.

As may be seen from preceding examples, there is
a special form of the verb, which is sometimes used
after therelative a. The student should note that this
form can only be used in the present and future tenses
and that it is never used after na¢, which requires the
habitual form where possible. This special form,
which ends in ap for the present tense, and pap for the
future, is used as follows :— »

(1) Inthe present tense, it is used after all cases of the
relative 4, except when the subject of the verb is a per-
sonal pronoun, when the habitual form is often used :—

An reap 4 6lap wirge The man who drinks water.

An peapt & porar Nona The man whom Norah marries.
4An B6 4 6Lar N. 4 bane The cow whose milk N. drinks.
Apan a cuipesr N, 1m A Bread on which N. puts butter.
An T-apan 4 1tim The bread which I eat.

A4n pion 4 Glann pé The wine which he drinks.
Ceapc 4 Byupim a cop A hen whose foot I break.

Aftan A Surreann pé 1m Bread on which he puts butter.

* This is the modern and contracted form of iapball.
F
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(2) In the future tense, the relative is used in all
cases. This is, pgrhaps, due ‘to the fact that, in the
future, there is no habitual form.

_An peap a tograr cloé¢: The man who will lift a stone.
" an tlot a togpar Népa  The stone which N. will lift.
<« feaft & POTFar N. 4 mac A man whose son N. will marry.
Teap 4 carpar N: p16pa 06 A man for whom N. will twist a rope.
An pion a SLpar mipe The wine which I shall drink.
An &lo¢ a toZpar T The stone which you will lift.
06 4 Bprypear ThH 4 cop A cow whose foot you will break.

Afan & émipipear 16 1m Bread on which he will put butter.

Sometimes, as in English, the relative is omitted
when it is the direct object of the verb, but its asplrat-
‘ing power remains.

© 4n bad carteap Mirpe The food Mary uses.

.An bmo 4 Carteap Maipe The food which Mary uses.

An 66 1a1ipar Népa opm The cow Norah asks of me.
An 6 4 1appar 1idna opim The cow which Norah asks of me.

Relat:ve sentences " of the following kind are
réndered idiomatically :— It is for you #2a¢ Finn asks
@ wife” = It is for you for whowm Finn asks a wife=1p
oUIT-re 4 1apar Fronn bean. The relative is often
omitted in examples of this kind, viz.: after a dative
case or a prepositional pronoun. But this should not
bé encouraged when writing.

IP opm-pa 1appar mo matai an T-afigepo }
T AP Of'M-PA 4 14fIHAT MO ThaTaift an T-AIf15e40
1 oftT-pa tiocpar an ndipe, 4 Sheagam }
11 oftt-pa 4 Tiocpap an ndipe, 4 Sheagam
11 st Mhdipte Cuppear mé an haca ip }
1 aip Mhiipe o cuippesr mé an haca un

"1 00 Mhéipte TéZrar mire an t-'m‘rse }
o 1 00 Mhape a TZpar mipe an T-uirge
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- Itis froth me #4a? * my mother asks the money. - .
It is on you #4a¢ * the shame will come, John.
It is on Norah #%a¢ * I shall put the new hat.
It is for Mary #4at * 1 shall lift the water.

The relative form of the verb is sometimes used in
the classics to express the historic present; that is,
the present tense used for the past. The writer is of
opinion that it cannot be used when the subject
(expressed) is a personal pronoun, and that in other
cases it is optional. The relative not being present.
no aspiration occurs.

Ann pin purdear fronn, Then Finn sits,

AJur 1appar rorgtead. And asks a vessel,

Ann pin 1€1010 16 an temmne.  Then he blows the fire.

Leir rin buarltd Népa é. Thereupon Norah strikes him.

Modern grammarians are of opinion that the relative
form of the verb is even used as an ordinary present,
But it is evident from the preceding examples that
they are in error. In, 1p ain & Bp615 Suipear Séamur
an t-1m, for example, they ignore the invisible presence
of the relative before ¢uipeap, and, to make things
worse, they do not say a single word about the aspira-
tion, which, as seen in preceding examples, does not
occur in the historic present. We say, 1t agat aca ré,
but when we say, It agat T& 1é, we, at once, perceive
that something is ‘missing. The explanation of this
is, that the word c4 is never aspirated, and hence, to
make up for the deficiency, the relative must be ex-
pressed. This goes to prove that the relative is
understood in examples of the kind quoted, and that

* Modern grammarians carefully omit this word, as well as its Irish
equivalent. .
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the relative form of the verb is 7o used as an ordinary
present tense.

THE RELATIVE FORM OF T4

The relative forms of td are vivear (or vior) and
vérvesr. The present tense form, vivear, is always
used with a habitual meaning.

i aTd mart Men who are good.

i 4 divear mat Men who are wont to be good.
i nag b-pml mard Men who are not good.

Tipt naé m-biveann mart Men who are not wont, &c.
Tipt 4 Béroear mart Men who will be good.

Fipt naé m-bérd mart Men who will not be good.

N.B.—The relative and ca often unite: An ©é& aT4
& “He who,” “she who,” “the person who”=4n

Te 4, Or an ouihe A
“They who,” “the people who” =1a waotne 4,

or an MmuinTift A

Frequent Use of the Relative.

The use of the relative pronoun is explained by
modern grammarians in a rather summary way. This
little word does far more duty than it gets credit for.
It is advanced, for example, that put, nuap, map, &c.,
aspirate the initials of verbs. The fact is that it is the
relative 4, understood, that causes the aspiration, and
as a proof of this the relative form of the verb is used
as Nuaip trocgar Una, when Una comes. In speaking
the relative is usually heard, and in writing it should

be expressed, as a general rule, thus -—.

sul 4 tiocpar Una Before (that) Una comes.
Nuai 4 Trocpar Una The time (that) Una comes.

Maq 4 trocpar Una The manner (in which) Una will come.
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Nuain is a contracted form for An uaip, the hour, the
time, and hence, when. The relative is used after
numerous expressions of this kind, as, Ca n-&t a
cuippear ti 6?7 Where will you put it? 1 minic a
1tear Mape, It is often that Mary eats; 11 1omoaro
uaip a4 Gaonesp an Leand, It is many a time that the
child cries, &c. From these examples we may infer
that the relative is always used after the impersonal 1.

11 415 AN VOHAT ATA Me It is at the door that I am.

11 45 caona & Béroear Té  Itis crying that you will be.
11 oftm 4 Bi an eagla! It is I that was afraid !

An Th-péin aTd ann? Is it yourself that is in it?

11 T 4 berdear Liom 1t is you that will be with me.

The Demonstrative Pronouns.
(@) The demonstrative pronouns are ro, this; rin,
that ; and puo, yonder. The same forms are used for
the plural.

Eat this and leave that 1T 10 AZuP £43 MiN.
Lift yonder-thing,* James TO3 ruo 4 Shéamump.
This is very funny T4 ro an-Freanmaft.
Yonder-thing is used T4 puo cartre.

(6) When there is a noun with the demonstrative
the following takes place:—(1) The article must be
used with the noun, (2) the demonstrative is placed
after the noun, (3) if the noun is followed by one or
more adjectives the demonstrative comes last, (4) puo

becomes wo.
Sell this cow Diol an 95 po.
Lift these knives' TO3 na p3rand ro.
This big tall man An peap moép Spro re.
Yonder man is blind Ta an reapt 0 caod,

* The adjective ‘“yon” or “yonder” cannot be used in English with-
out a noun, but its Irish equivalent puo cen stand by itself. Hence,
Lift ““yom” would be more correct.
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&& uo often takes the form of uoat or apai.
Yonder cow is eating . TA an B6 avat a3 1Te.
The cow is over yonder . - Ta an B0 fian avar.
(¢) Referring toa person or thing mentioned before,
the demonstrative must be accompanied by a corres-
‘ponding pefsonal proﬁoun, or some. word such as

ceann. ) .
*+* This one is crooked T4 ré 1o cam.
That one is straight T4 an ceann pin vipedd.
These are broken Ta 140 1o burce.
Leave those here 43 100 pin ann ro.

E=Z “ This fellow,”” “that fellow,” “'yondér fellow,”
&c.=re ro, re rm, re rwo, &c.; feminine, pi ro, pi pin,
ri rwo. Note also the following :—

Hereisacow = 1r 1o b6 ~ contracted to ro bé.
Here arc the cows = 1 1o 14 ba » o na ba.
Thereisaman = 17 pin peapt » rn peaqt.

Yonder is a man = 1p puo peapt » TUO peaft.

The Interrogative Pronouns.

) The interrogative pronouns are cita? or cé&?
who? ceoca? which? ca? where? or what? go 0é?
(ors cao é?) what?  All these come first in the
sentence. Ca? causes eclipsis : S

Cé qunne ro? Cé v1a? Who did this? Who is God ?

Cé Tu-péin? Cepin? Who are you? Who is that?
Ca m-broeann th ? Where do you be ?
C’ a1nm aTé opT ? What is your name ?

Ca n-&1t 4 Bepmil TH P .. Where are you?




Ca b-puil T a5 oul ? *
So 0é vubmpf: ThH ?

o oémaft Td TH?

Ca h-ap T4, A tie?

Ar baite _ctigz': mé,

Cia teip €4 P

Cia leir an Teat rb ?
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Where are you going ?

What did you say ?

How are you?

‘Where are you from, my son ?

I am from Dublin. (I belong to D.)
‘Who owns you? Whose son are you ?
Who owns this house ?

(6) When “which?” is followed by “of” we must
use ve and 4 dative in the case of nouns, and ag in

the case of pronouns.

Which of the women ?
Which of the cows?
Which of us?

Which of you?

Ceoca ve na mna?
Ceoca ve na ba?
Ceoca agamnn ?
Ceoca 4a35a1b P

B2 Ceoca or ceocd or claca=cia+aca.

. Observe the following :—

Cé éPor Cé e-péin ?
CéiPorCéi-pén?P_
Cé ia0 ? or Cé 1a0-féin;

cé pin?
Céérmm?
Céirmp
Cé 140 pin P

Cé h-é an peap pin P
Cé h-i an bean pin P
Cé h-140 na pipt pin ?

Cé’n reap é pin?
Cé 'n bean i pin?
Cé na pipt 140 pin P

Who is he ?
Whois she?
‘Who are they?

Who is that, 7.e., who is there ?
Who is {he) that?

Who is (she) that ?

Who are (they) those?

Who is (he) that man?
Who is (she) that woman?
Who are (they) those meni

What man is (he) that ?
What woman s (she) that?
What men are (they) those ?

N.B.—Note that after the interrogative cé or cia, the
pronouns ¢, i, 1a0 prefix h when the article follows.

* Usually pronounced *“ Cowl thoo gl ?” ot ¢ Cowill thoo gol ?”
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The Indefinite Pronouns.

aon, single Tac uile, every
ap ot } any inceacc } some,
ap e éigin certain.

- an uile, every 4n té, he, who.
uusg, } all cibé, whoever
uile ceactay, either.
54¢ ]—each, every 4 teite, each other
sac AonJ

N.B.—3Za¢ uite and gaé¢ aon are usually pronounced
a ¢uite and acan. Ceactap with a negative verb=
neither, ni fmL ceaétan aca agam, I have neither of
them. Civé is followed by the relative, as, Cibe a
tiocpar, whoever comes, or whoever will come; Cibé
reap a tiocrar, whatever man comes. dip bit, wiug,
uite, inteact, and éigin follow the noun.

The Verb.

As may be noticed below, some of the forms of the
verb contain the pronoun, subject, as, péraim, I marry;
such forms are said to be synthetic. When the pro-
noun subject is not contained in the verb, as pépann
re, he marries, the forms are said to be analytic. It
may, also, be noticed that the synthetic forms are
declining rapidly.

There are two conjugations in Irish. The first
comprises verbs which have only one syllable in the

root, as p6r, marry ; all other verbs, as a general rule,
belong to the second conjugation.
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First Conjugation.
THE REGULAR VERB, {06ramm, I MARRY.
AcCTIVE VOICE.

INDICATIVE MOOD. <
Present Tense.

SINGULAR. PLURAL.
I. Popam (I marry) Porann pinn.
2. Popann Tt Porann mb.
3. Porann pré Porann rao.

Negative.
Ni poram (I do not marry) Ni popann pinn.
Ni porann Tt Ni pérann mo.
Ni poérann pé Ni pordnn prao.
Interrogative.

D-poraim ? (Do I marry ?) D-popannpinn ?
D-poprann ta ? D-porann p1v ?
D-porann pe ? D-porann Mao?

Interrogative Negative. ‘
Na¢ v-poraim ? (Do I not marry ?) Naé b-péprann pinn?

Na¢ b-pérann ta ? Na¢ b-poéprann tv?

Na¢ v-porann pé ? Na¢ vb-porann rao. %
Dependent. '

So b-poramm (That I marry) To b-porann pinn.

To b-poérann th To b-porann pb.

To b-pérann pé So b-pérann pr1ao.

Dep. Negative.
Naé v-p6ram(That I do not marry) Naé v-p6rann pinn,
Na¢ b-poérann cth Nac b-poéprann rd.
Nac¢ b-pérann ré Nac b-popann rao?
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Emphatic.
Poram-re (I marry.) Porann pinne.
Porann cura ~ P6rann pidre.
Porann prerean - ; Porann praopan.
Reflexive. ...
Poramm-gén (I myself marry)  Popann pinn-gén.
Porann Th-pémn Porann p1d-péin.
Porann pé-péin i Porann pao-péin.

Historlo Present.

To make théir descriptions more vivid, historians
and other writers often use the present tense where
the past would ordinarily be used. In English there
is no change, but in Irish there is a special form of
the verb for this historic present tense. In fact it is
met with so often in the written language that modern
grammarians have mistaken it for the ordinary present.

_ SINGULAR. PLURAL.
" Poraim (I marry) Porard pinn.
Porard T ' Porard rb.

Poraro re A Po6rard pao.

: Classlo Present.

We may now contrast the modern forms of the
present tense with those of the classic. The parts in
brackets are dead to most Irish speakers, so that only
one. synthetic form remains universally understood.
The student will please note the difference between.
the ancient and modern forms of the different tenses
as he passes through this verb ; the distinction will not
be made in other verbs.
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SINGULAR. - . : PLURAL.
Poram (I marry) [Poramaoio.]
[Poram] [Porzaot.]
Porann pe [Poraro.]

Iimperfeot Tense.
Porainn (I used to marry) Porad pinn. -

Porta : . Porav mo.

Porao ré : : Porav mao.
Negative: Ni porann. - - I used not to marry.
Interrog. . D-pérann?. Used I marry?

Interrog. Neg. Na¢ v-p6prainn?  Used I not marry ?
Dependent. o v-porann. That Iused to marry
Dep. Neg. Na¢ b-pérann.  Thatl did not marry

Emphatic.
Porainn-pe (I used to marry)  6rad rinne
Porea tura® Porad mvre.
Poraov* perean Porad raoran.

: Reflexzve. .
Poramn-péin (I myself, &c.) Porad pinn-féin.
Porta-fein Porad riv-péin.
Porad ré-péin Porad rao-gein

Classlo Imperfeot.
As may be seen, this tense, as well as the con-
ditional, has not changed in the singular.

SINGULAR. PLURAL.
I. Poramnn (I used to marry) [Poépamaoir.]
2. Porea [fPorcaot.]
3. Porad ré [fdoraroin.]

* Not poérta-ra. Porad is pronounced ropd. The ending 40 is
often pronounced 1t when followed by ré, ti, p1ao. cp. porpard
me z7. pophim i,
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Perfeot Tense.

SINGULAR.

Por me (I married)

{Por ca

Por re
Negative. Nion Ppo6p me.
Intervogative. O pop me ?
Interrog. Neg. Nap por me ?
Dependent.  Tup por me.
Depen. Neg.  Nap por me.
Emphatic.  Por mire.
Reflexive. Por me-péin.

PLURAL.
Por rinn.
Por .
Por rao.

I did not marry.

Did I marry?

Did I not marry?
That I married.
That I did not marry.
7 married.

I myself married.

Claseio Perfeot.

[0o porar] (I married)
[00 porarr]
[0o] por re

[0o poraman.]
[0o poravan.]
[0o poravan.]

Future Tense.

Porrardo me (I shall marry)

Porraro ch
Porrard re

Porerard pinn
Poreard rid.
Porrard rao.

Pronounce as follows :—

Pornim d
Pornd ca
Pornd rnd *

Pornd pinn.
Pornd mo.
Pornéd rao.

* When emphatic pérhi pé. When not followed by a pronoun, as

in replies, 7. porhi (paws’-hee).
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Negative. Ni poppard me. I will not marry.
Interrogative. O-p6ppard me ?  Shall I marry?
Interrog. Neg. Nacop6pparome? Shall I not marry ?
Dependent.  TZo b-poprard me. That I shall marry.
Dep. Neg. Nacb-poprard me. Thatl shall not marry

CLASSIC FUTURE.

Poryrao (I shall marry) Porpamuro.

[Porpam] [Porraro.]

Porrard re [Porrare.]

CONDITIONAL MOOD.

Porrann* (I would marry) Porrad rinn.

Poprra Poread riv.

Porrav* re Porrav rao.
Emphatic.

Porpamn-re (I would marry)  Pd6rrad pinne.

Porra tura Poread rivre.

Porrad rerean © Porrad maoran.
Reflexive.

Porrann-péin (I myself, &c.) Porrad rinn-gémn.

Porra-féin Poread piv-péin.

Porrad re-fén Porrad pao-féin.

Negative. Ni porrann. I would not marry.
Interrogative. O-poyrpann 2 Would I marry ?

Inter. Neg. Nacv-porpainn? Would I not marry ?
Dependent.  Zo v-popramn. That I would marry.
Dep. Nego  Naco-porpammn. That I would not marry.

* Sound ¢ as h. The ending ya0 is usually pronounced %o, but when
fa0 is followed by pé, i, rinn, 1d, or 4o the sound of pad+p
=hitch ; as, POppad rinn, pr. faws -hitch-inn.

~
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CLASSIC CONDITIONAL.

Porrainn (I would marry) [16rpamaoir.]
Porea [Horraro.]
Porrad re - [Porpavaoir.]

OPTATIVE MOOD.
o b-porard* me! (May I marry !)To b-poraro pinn!
To b-porard ti | T b-poraro Mv !
To b-p6prard ré ! To b-pdrmb rao!
N.B.—This form is often used after go, until.

SUBJUNCTIVE MOOD.

The present subjunctive is usually expressed by the

present and future forms of the verb preceded by such

I ally words as ma, if ; 5o, until, &c., as, Ma porann re Miipe

L ','W{Zd tabaip cput mae oo, If he marries Mary give him a
. -+# . good fortune. Fan zo b-porrare ré i, Wait till he

Aien ¥ marries her. '

The imperfect subjunctive is expressed by the con-

ditional preceded by w4, if; as, 04 b-poppainn, If I
should marry.

1

IMPERATIVE MOOD.

SINGULAR. . PLURAL.
L - . Poramuro. o
2. Pop (Marry) " Porarorot or poraigro.
3. Porad re Porad rao.

Neg. Na por, &c.

*When the root ends in 19 or 1%, which have both the same sound i or
10, another 10 is unnecessary. Hence, 50 0-té1o ta ! May yougo!
To m-beannmF V14 tu! May God bless you !

+ By imitation from verbs of second conjugation ; e.g. the classic im-
perative of jopcmgm is goprwigrd. In trying to sound wmiF+19,
people found 1t easier to pronounce w1z+19, and hence the modern
word is gopcwiz1d. This is imitated in the first conjugation. [See ta.]
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.CLASSIC IMPERATIVE.

SINGULAR. o PLURAL.
‘I y [Poramaoir])

2. por [Poraro]

3- Porav re [Porarorr].

INFINITIVE MOOD.
A porad to marry.
PARTICIPLES.
A3 porad -+ marrying.

A\ O-POTAD having. married.

Passivo Voloe.

In the passive voice, the affected or accusative forms
of the personal pronoun are used as subject. The
negatives, interrogatives, dependents, etc., are formed
in the usual way except in the perfect tense.

PRESENT INDICATIVE. .
Porcan mé (I am being married)  Porcan finn.
Porcan th Porcan rid.
Porcan € o . Porcan 1a0.

IMPERFECT INDICATIVE. .

foorcai meé (I used to be married) Popcai pinn.
Porcai ta oo © T porTai .
Porcai & Porcai 180.

CONDITIONAL MOOD.
orrsrveme(Iwould be married) * Porparde rinn.
Porrarve ta . “Porraroe riv.
Porraroe & . - foprrarve 140.
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FUTURE INDICATIVE.
Porran meé (I shall be married)  P6ppan rinn.

Porean tu Porrap r10.
Porean é Porean 1a0.
PERFECT TENSE.
Porad me (I was married). Porad rinn.
Porad ta Porad r1v.
Porav é Porav 140.
Perfect, Negative, Interrog., etc.
Niop p6rad mé I was not rx}arried ?
A porad mé? Was I married ?
Nap porad mé? Was I not married?
Tup porad mé That I was married.
Nap porad mé That I was not married.

EZ" Although o is used, no aspiration.

INFINITIVE AND PARTICIPLES.
4 veit porca to be married.
Porca married.

N.B.—(1) The imperative is the same as the present
indicative.

(2) The following express a state rather than
action.

T4 mé porca I am married.
Bivinn porca I used to be married.
¥i mé porca I was married.

Déro me porca. I shall be married.
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THE REGULAR VERB, brisim, I BREAK.

Aotive Voioe.
PRESENT INDICATIVE.

Brim (I break) Dpireann pinn.
Dpipeann Ta Dreann pib.
Dpireann pe. Dppeann prao.

IMPERFECT. ]
Bpupinn (I used to break) Opiread fnn.
Opirtea Dpread mb.
Opiread re Opiread rao.

PERFECT.
O me (I broke) Oy pinn.
Oy Ta Opr mb.
Oy e O rao.
FUTURE.
Oprpro me” (I shall break) Dpurerd pinn.
Drerd Ta Dpupprd rv.
Opirpro re Dprerd Mao.
CONDITIONAL.

Opppinn (I would break) Dprread pinn.
Opiprea Opirread pid.
Opirpead re Dpirread rao.

IMPERATIVE, INFINITIVE, &c.
Dy, break ; plural, bpup1o1o or bupigro.
4 Bppead, to break.

A5 bpread, breaking.

* Pronounce bpurhim i, bpurhi <, &c.
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The $ame Verb In Classio Style.

PRESENT INDICATIVE.

Opurm (I break) [Ompimro.]

[orrind [oprei.]

Dureann pe [ouprro.]

IMPERFECT.

Oppinn (I used to break) [Opr1mp.]

Opurtea [Oprei]

Dpiread re [Omproir.]
PERFECT.

['0o vpurear] (I broke) ['0o Bureaman.]

[0o vpupir] [0o Breavan]

[00] bpup re. [0o bpreaovan]
FUTURE.

Dprpeao (I shall break) Dpireimivo.

[Onerpin] [(oprero.]

Oprerd re [Orrero.]

CONDITIONAL.

Opurpnn (I would break) [Omppimip.]

Oprrea [Opppro.]

Opnuirread re [Opurpron.]

IMPERATIVE, INFINITIVE, &C.

Dy (break); plural [bpurro.]
e ——2D0-Bpipe a0, to break.
A5 bpiread, breaking.
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initial Influence of Verbs.

All verbs of the first conjugation are conjugated
like p6paim or bpuprim, and all verbs whose initial is b,
C, ™, 5, P or g, are influenced in the same way. Other
verbs, however, are influenced differently. For
example, the usual way to ask a question is to eclipse
the initial of the verb, as, n-cuigeann ca? do you
understand ? It is the interrogative particle, an, that
causes the eclipsis here, and in all such cases the par-
ticle itself will be invisible. It may also be remarked
that in all cases where eclipsis would take place, a
vowel is preceded by n, as n-6tann tu ? do you drink ?
But t, m, n, p, 1, of verbs, are never eclipsed, so that
the interrogative particle in these cases must appear,
as, an péroeant: re? does it blow ?  This interrogative
particle, an, and its eclipsing effect may be compared
to A and B playing “see-saw.” When A (an) goes
down B (effect) goes up, and vice versa.

The particle oo aspirates in the imperfect, perfect,
and conditional, but it is visible before vowels and ¢
only. The following examples will explain more
fully .—

olaim, I DRINK.

PRESENT TENSE.

Affirmative.  Otam, I drink.
Negative. Ni 6Laim, I do not drink.
Interrvogative. N-6Laim? Do I drink?

Interrog. Neg. - Na¢ n-6lann ti? Do you not drink?



Affirmative.
Negative.
Interrogative.

Afirmative,
Negative.
Interrogative.

Affirmative.
Negative.
Interrogative.

A firmative.
Negative.
Interrogative.

Affirmative.
Negative.
Interrogative.
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IMPERFECT.
0’6Lainn, I used to drink.
Ni 6Lann, I used not to drink.
N-6Lainn ? Used I drink?
PERFECT.
0’6L me, I drank.
Nion 6L me, I did not drink.
An 6L me ? Did I drink.

t43541m, I LEAVE.

PRESENT TENSE.

Figam, I leave. '

Ni pagaim, I do not leave.

t-pdgaim? Do I leave?
IMPERFECT.

o'tdgamnn, I used to leave.

Ni dsainn, I used not to leave.

v-pdgamn?  Used I leave ?

PERFECT.
0'fd5 me, I left.

Niop p4s me, 1 did not leave.
On pag me? Did I leave ?

Ropramm, I ROAST.

Present :—Roraim; ni popaim; an poram?
Imperf.:—Roprann; ni péramnn; an porainn ?
Perfect :—Rop me; niop n6p me; ap por me ?
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Séromm, I BLOW.
Present :—Séroim; ni fpéroim; an péroim?
Imperf. :—Séromn; ni péroinn; an péromn?
Perfect .—Séro me; niop péro me; ap fé1o me ?

Sgaipcim, 1 CALL.
Present :—Sgaptim ; ni rgapcim ? an pgacim ?
Imperf. :—Sgaptinn ; ni pgapTInn ; an pgacinn ?
Perfect:—Sgaint me ; niop PSAIT Me ; A PTAINT me?
Llabaim, I BEND.
Present :—Libaim; ni tabaim; an Labaim?
Imperf :—Labainn ; ni Labainn; an Labann?
Perfect :—\Lab me; niop Lab me; ap Lab me?

Secend Conjugation.
The second conjugation comprises verbs whose root
has at least two syllables. It differs from the first
conjugation principally in the formation of the future

and conditional.
THE REGULAR VERB gortumgim.
Indicative Mood.
PRESENT TENSE.

SINGULAR. PLURAL.
1. Sopcuigim (I hurt) Topcuigeann pinn.
2. Jopcuigeann Tt Sopcuigeann pid.
3. Sopicuigeann pé Topcuigeann 11a0.
IMPERFECT.
Loncwginn (I used to hurt) Boncuigead rinn.
Soncuigtea Soncuigead riv.

Soncuigead re Sopcmgead rav.
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PERFECT.
Loncwz me (I hurt) Sopcuig rinn.
Boncuig Ta Sonpcwng 1b.
Lopcuig re . Boncuig pao.
FUTURE. .
Soncocard me® (I shall hurt)  Topcocard pinn*
Soptocard th Sopcoc&ﬂ’) mo.
Sopcocard re Topcotard tao.
CONDITIONAL.
Boncocann (I would hurt) gopcoead pinn.
Lopcota Boncotad riv.
Soncotad re Bofcotad rao.
IMPERATIVE.
SINGULAR. PLURAL.
I — sopcwgmio [gopcmgmir.]
2. Jopcuiy soncuisio.t
3. Sopcuigead re sopcuwigead rao.

INFINITIVE AND PARTICIPLE.

4 soncugao, to hurt
A5 soptugad, hurting.
Qip n-goncugav, having hurt.

sa= The optative is go n-gopcurg me!

* Also Joticotan ; Jonitotamuro,
*+ The classic form is Fopcuiro, which, being difficult to pronounce,
is now wrilten ZopTuIz10.
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Passive Voice.
Present.  Zopcwgteop mé, I am being hurt.

Imperfect. Fopougts me, I used to be hurt..
Perfect. Topcutgead mé, I was hurt.
Future. Toncotap me, I shall be hurt.

Condit. Sopcoctarve me, I would be hurt.
Infinitive. 4 veit sopcugte, to be hurt.
Participle. Topcuigte, * hurt.
Imperative. Same as present.

Remarks.

(1.) Muro is sometimes used as a synthetic ending
in the past tense, as ; pérmuro, we married.

(2.) When the initial of a verbal termination is c it
Lecomes ¢ in all verbs whose root terminates in v, c,
5, m, P, or p, and g of verbs in 1% of the second con-
jugation ; as Labta, bent, bogta, softened, intoxicated,
cupta, buried, spaowmgte, loved, etc. In other cases
t is not influenced, as, opuroce, bpimgce, cnocéca, 1tte,
molta, CarTa, etc.

(3.) In the first conjugation the characteristic mark
of the future and of the conditional is g, which is
usually pronounced h. In the second conjugation ¢ is
not used, but instead, the root ending, wg or 13, is
changed into o¢ or eo¢. Verbs of the second con-
jugation not ending in w3 or 1% are usually syncopated
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and then add o¢ or eo¢. The following are
important :—

ROOT. PRESENT. FUTURE.
soficwis, hurt softcuigim JonToctaro me.
cutthmg, remember cuttihmgim cuineocard me.
oipus, straighten oingim oifteotard me.
copain, cost cornamm cornocard me.
Tappang, draw TANZIM Tampineotard me.
mnmp, tell mnpim innpeotard me.
rorzal, open rorglam rorglocard me.

N.B.—Llsvain makes tadampprd me for the future
and Labaippinn for the conditional—Pronounced toip,
Loimhim &, Leiphinn,

The Verbal Noun and Present Partioiple.

Words which are usually called verbal nouns in
English have, as seen below, two distinct meanings.

As Participles.
Growing = growing = a3 rar-
Moving =moving = ax bogad.
Playing =playing = agz imipc.
Stealing = stealing = az suro.

As Verbal Nouns.
Growing =growth =vpar-
Moving =wmotion =vogao.
Playing =play =mmpt.
Stealing =theft =zuro.

As seen in these examples, the English verbal noun
has the characteristic mark “ing,” just like the parti-
ciple. This “ing,” in the participle, indicates action,
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while, in the verbal noun, it merely indicates the
name of action. In Irish, the participle sign is ag,
and corresponds to “ing” in the English participle.
We see, also, that the Irish verbal noun has not the
verbal sign, which leaves it without any verbal force.

All the so-called verbal nouns are, therefore, nouns
pure and simple. They have not the merest fraction
of the essential quality of a verb, which is action.
They have, of course, shape and form, like a man
deprived of life, but shape or form and action have no
essential quality in common. It is plain, then, that a
participle is not a verbal noun, nor a verbal noun a
participle. We may also add that an infinitive is
neither a verbal noun nor a participle.

Use of the Verbal Noun and Partioipie.

(a) The Irish verbal noun is limited to the power of
any other noun; that is, it can govern another noun
that follows it in the genitive case. Hence, we say
bogad Laime in the same way that we say 04t Ldime.

Rad TO A15 baipTead an temnd?

Ra1d Ta 415 mapdad na cipce?

Ra1d TG a5 bpread na ruinneoige?
Ratd TH 415 buinT an péin?

Rad Ta ag Ty Shéamup?

Were you at the baptising of the child?
Were you at the killing of the hen?
Were you at the breaking of the window ?
Were you at the mowing of the hay ?
Were you at the house of James?
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(6) The regular ending of the present participle is
40, but its distinguishing mark is ag (not aig, which
is generally used before mouns in preference to ag).
Before a consonant a3 often becomes ’a in speaking,
and sometimes it is omitted altogether, but this should
not be encouraged in writing. The present participle
governs a following noun in the genitive.

T4 re a3 bairtead an leind.
T4 re a3 monbad na cipce.
C4 re 435 dpuread na ruinneoige.

C4 re a3 buint an fénn

He is baptising the child. (
He is killing the hen.
He is breaking the window.

He is mowing the hay.

(¢) When the object of a transitive participle is a
personal pronoun we must use an idiom. Reason:
The personal pronouns have no genitive case.

Striking me =
Striking thee
Striking him

Striking her =

Striking us .

Striking you =
Striking them =

to my striking
to thy striking
to his striking
to ker striking
0 our striking
to your striking

Il

0 their striking =

00 Mo bualad.
00 00 Bualao.

04 bualao.

04 bualao.

oapt m-bualad.
00 Bupt m-bualav.
04 m-bualao.

(d) When the object of a transitive participle is a
relative pronoun, it is governed by the participle in the
accusative case. Reason: The relative Zas a genitive,
and would be used but for the fact that the relative
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never follows the verb. Hence as the genitive cannot
stand before the participle the relative is governed in
she accusative case.
" 4n ub aTi me 43 1te The egg which Iam eating.
4n ub 4 Bi.me a3 1te. The egg which I was eating.
885~ The relative is the only word whick can be
governed in the accusative case by the present participle.

The Infinitive Mood.

In English, the infinitive is known by the particle
“to,” which is universally called the “sign of the
infinitive” It is not a preposition as some writers
assert, nor is it parsed as such, having no noun or
pronoun to govern. The writer considers it a very
essential factor of the infinitive, for, without it, the
infinitive, in most cases, becomes finite. In English,
the infinitive without the sign is like the imperative;
but, in Irish, the infinitive without the sign is not often
like the imperative, and hence, it can be known when,
as often happens, the sign is absent. The Irish infini-
tive has two signs a4 and te. ‘

The regular ending of the infinitive is 4. This a0
should never be written eat except in verbs of the
type of pinmm. By tacking 40 on to the imperative
or root and prefixing the sign, we get the infinitive.

Root -otin Infinitive 4 9hnad, to shut.

»  Tinn ”» 4 finnead, to stretch.
» buail » 4 Bualav, to beat.
» SopTwy 4 Fopttugao, to hurt.

o« oipd " 2 oiprugad, to straighten.



92

As seen here, the rule is to make the characteristic
vowel broad when possible.  Hence, the 1 is dropped
in buait and gopcwg, while in iy it becomes 1u.
But in monosyllabic roots like pinn, the characteristic
vowel remains unchanged, so tha: ea® must be
added.

Use of the Infinitive.

(a) As we have already seen, the infinitive has two
signs a4 and Le; Le causes no initial change, but a
aspirates the initial of the verb. Lle prefixes h toa
vowel.

11 comt D14 4 Fpaougad It is right to love God.

bud mat Liom an 6 a B0l I would like to sell the cow.
Camnic re Le pannace He came to stay.

T4 e Le h-imteadt He is to go away.

(6) When the English passive infinitive expresses
Juture event, as, “ He is to be killed,” ze., “he will
be killed,” the sign te must be used. Hence, the
Irish active infinitive, in such cases, is said to have a
passive signification.

He is to be hanged T4 pe Le cfocad.
The seed is to be sown T4 an piol le cuqt.
It is to be boiled T4 re Le bpwit.
The wine is to be drunk. T4 an pion Le h-6L.

(©) When the English active infinitive expresses
Juture event or purpose Le must be used in Irish ; and
if the infinitive governs an accusative case, the two
signs must be used, a before the infinitive and te
before the accusative.
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I am to ery (fee) T4 me Le caonad.

I am to wait (fe.) T4 me le panace.

He came to fight (pur.) tamic re Le Tpuro.

He came to sit (pur.) . tamic re Le purde.

I am to marry Mary (fe.) T4 me Le Méipe a pépad.
He came to sell a horse (pur.) Taiic re Le capall adiol.

(@) All #ransitive infinitives must be immediately
preceded by the sign 4 or -vo.

Tainic pe Le piol a Cuft He came to sow seed.
bud thian teip piol a cupt He wanted to sow seed.
1apit 4t cor 4 Bogad Tell him to move a foot.

(¢) Intransitive infinitives must be preceded by te
when purpose or future event is to be conveyed.

He came to sleep tamic pe Le coolad.
He came to stay Tamnic re le panade.
He came to cry Tamic pe Le caonad.
He is to sit T4 pe le purde.

He is to stand TA pe le pearad.

He is to walk T4 re Le pudal.

(f) In all other cases zntransitive infinitives require
no sign, and no aspiration of the initial occurs.

Tell him to walk Abant Leipr pubdal.

Tell him to sleep 1appt At coolad.

I cannot stand Nni &15 Liom pearad.

He made him go away tug pre at imteade.

It is better for you to sit 1 pedpp ouiT purde.

I prefer to stand 11 redppt Liom pearad.

I would like you to stay bud mait Liom tu panace.

M= 4 vett, a vul, and 4 teadc, are exceptions,
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Governing Power of the Infinitive.

(a) The Irish transitive infinitive cannot govern a
noun in the genitive except when it expresses purpose
and even then the accusative is commonly used also.
The position of the accusative is always before the
infinitive, that of the genitive is after it.

Tamic re 4 duint péipt

He came to hay.
Cammc pe Le peupt a Buinc } Tow ey

(¢) In all other cases, a transitive infinitive can only
govern a noun in the accusative case.

Abaipt Leip rlac 4 duint Tell him to cut a rod.
i ©ig Liom cop 4 tozbarl I cannot lift a foot.

11 coift V14 & Fpaouiad It is right to love God.
féavaim an piopa 4 Lionad I may fill the pipe.

(¢) When the object of a transitive infinitive is o
personal pronoun we can only use the accusative, as
personal pronouns are defective in the genitive. = To
make up for this deficiency we are at liberty to use an
idiom, as, He wanted to beat me=buv rian Leir mo
vuatao, literally, 4e desived my beating.

61 1T m &0

Db A1) o ot e
Tamc re Le pinn 4 porad

Tamnic re Le n-ap b-pépad } He came to marry us

T4 re Le mé 4 pérad

} He is to marry me.
TA pe Lte mo porad

EZF “Not” before an infinitive is rendered by gan.
If the infinitive governs an accusative gan precedes
the latter.
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I prefer not to stand 1 péapyt Liom Zan. peapad.
Tell him not to sit Abaip Leir gan rurde.

To be or not to be 4 Be1t no gan.a dert.

Tell him not to eat the butter Abaipt Leir 3an an T-1m a4 1te.

N.B.—Cum is sometimes used as a sign of the in-
finitive when purpose is conveyed : Cum Séamup a
dualav=to beat James; ¢um bpertearnnar a tabapc
am=to pass judgment on him. In these examples
¢um is not a preposition, and hence it has nothing to
do with the governing of “Seamur” and “bperteamnar.”

The Infinitive and Partioiple.

The infinitive and present participle have the same
form, the signs being different. In regular infinitives
as we have seen, the ending is av ; but most of the
infinitives in the language are irregular; the following
should be committed to memory : —

ROOT. INFINITIVE. PARTICIPLE.
Jurd, pray : 4 Zuo 43 Jurd.
Tpuro, fight 4 tpuro 43 THUTO.
OL, drink a6l a3 6L,
by, boil, cook a4 bt - AT b,
Tuil, boil, bubble a4 guil . ag zuil.
Suro, steal 4 Zuro 45 3o,
Prappng, inquire 4 Prappmg . 4% F1opms.
€1pc, hear 4 éipreatt 43 éipreadt.
1miqs, play (a game) 4 1miftT 43 1mificT.
Tappang, pull 4 Tapprant AF TApfpAINT.
Cailt, lose 4 tarllead 43 caillead.-
Cuip, put 4 tup 43 cuft.
nmy, tell 4 1nnre 435 innpe.

. Cuinmg, keep 4 ¢uinneilc 43 cuimneilc.

Labasfy, speak . 4 labapc 43 Labapz.
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ROOT. INFINITIVE. PARTICIPLE.
1any, ask 4 141111410 4T 14111810,
leg, let, allow 4 leigean ag leigean.
¥43, leave 4 pigal a3 pagart.
Toy, lift a tégal 43 tozail.
Ceannui§, buy 4 eannad 43 ceannac.
Diot, sell 4 o100l a3 oiol.
Snioth, spin 4 fniom A% rniom.
Seinn, sing, play 4 feinm 43 remnm.
mg, wash am3e a3 me.
Ceangail, tie 4 teangal 43 ceangal.
Partioles.

an? Simple interrogative aff.

nad? Simple interrogative neg.

An? (an P+ 410) Perfect interrogative aff.

Nap P (naé P+0) Perfect interrogative neg.

i and ¢a Simple negatives.

2'4‘;"(22::‘3) } Perfect tense negatives.

Naé (that...not) Simple dependent neg.

Napt (nad + p10) Perfect dependent neg.

Sup (50+10) * Affirmative of nait.

na Imperative negative.

Ezxamples.

Do you speak English ? An Labpann Ti beupla ?

Do you not speak Irish ? Na¢ Labpann ti gaeoilge ?

Did you strike him? Apdual Ta é?

Did you not strike him Napt duarl T éP

I do not smoke (e.g. tobacco) Nni ¢artim; ¢a 3-cartim,

I did not smoke . hiopt a1t me ; tap ¢art me ?

He says he does not smoke Vet re naé 3-carteann pe.

He says he did not smoke Vet pe nap Cart pe.

He says that he smoked et re Fupt cart pé.

Do not smoke Na cart.

* Don’t confound this with the conjunction sujt=30 [See 1]
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THE NEGATIVE c¢a.
() As may be seen from the following examples,
which cover the whole scope of the language, ¢a
eclipses, and never aspirates.

C¢a m-béroinn a3 camc I would not be talking.
Ca 3-curppinn 1m amp I would not put butter on it.
Ca n-veanpainn pin I would not do that.
Ca B-panpann ann I would not stay there.
Ca n-guropinn pronna I would not steal a pin.
¢4 mapeann o 50 oeo This won’t last for ever.
Ca b-pégann an cat The cat does not kiss.
Ca purdpinn ann I would rot sit there.
C¢a o-tiocpad i She would not come.
C¢a n-6Lann pe He does not drink.

(6) With the verb 1y only, ¢s becomes ¢an.
¢an me (It is not I) ¢an pinn.
Can ThH Gan md.
Can é, éan § Gan 140,

@™ Can puil is the only apparent case of aspiration.
This is nothing else than ¢a n-(¢)unl.

N.B.—The English present tense is often used for a
future, as, He goes home next week. The Irish present
tense with ¢a is also used in this way, as, ¢a 0-té1dIm
teat 5o bpat=1I do not (ée, I will not) go with you
for ever.

Irregular Verhs.
1r mé, I am.
PRESENT TENSE.
SINGULAR. PLURAL.
1rmé, I am 1 rinn, we are,
r T4, thou art. - I 1Y, you are.

Ar 6,11 1, he is, she is 1t 140, they are.
]
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Negative.
Ni mé (I am not) Nni pinn.
Nica Ni pid.
Ni h-€, ni h-i i h-a0.
Interrogative.
4An me? (Am I1?) An pinn?
AncTa? Anrb?
Adné? Ani? An1a0?
Interrog. Neg.
Na¢ me?. (Am I not?) Na¢ pinn?
Nac¢ th ? Nae Mv?
Na¢ 6? Naci? Na¢ 140?
Dependent. ‘
Sup me (That I am) Sup pinn.
Sup Th Jup Mo,
Suft ab &, Sup ab i Sup ab 140.
Or
Sup me (That I am) Sup pinn.
Sun ta Sup 11b.
Supb €, Supb 1 Sunb 1a0.
Dependent Negative.
Naé¢ me (That I am not) Naé pinn.
Nac¢ T Nac rd.
Nac & nac i Na¢ 1a0.
PERFECT TENSE.
Buo or ba me (I was) Duod rinn.
Duo ti Dud Mo,
Duo 6, bud i Dud 180.

N.B.—These are the only forms used.

In a few

idiomatic expressions such as, bud rhat tiom, a con-
ditional meaning is conveyed, but “buo” by itself

is a mere perfect tense.
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THE IMPERSONAL VERB 18.
PRESENT TENSE.

1 me, Itis I Ir pinn, It is we.
1r ca, It is thou I Mo, It is you.
I+ 6, Itis he 11 100, It is they.
N.B.—me, ca, &c., are predicates here.
Negative.
Ni me, (It is not I) Ni pinn,
Ni ca Ni v,
Ni h-¢, ni h-i Ni h-14a0.
Interrogative.
Anme? (IsitI?) An pinn ?
Anca? An mv?
dné? ani? . 4An1a07?.
Interrog. Neg.
Na¢ mée? (Is it not I?) Na¢ pinn ?
Na¢ ca ? Na¢ mbv ?
Na¢ &, na¢ i? Na¢ 180 ?
Dependent.
Bun mé (That it is I) Tun rinn.
Tup T Jupriv?
Supb &, supd 1 Supb 1a0.

Dependent Neg.
Na¢ mé (That it is not I) Nae rinn.
Na¢ cTa - Na¢ riv.
Nac¢ é, nac i Nac¢ 140.

Optative : To m-bud or gup ab=may 1t be. These
are very rare, ta being almost always used.
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PERFECT TENSE.

buo me (It was I) Dud rinn.

buo ch buo mo.

Dud &, bud 1 Duv 140.
USE OF 1s.

(a) The secondary forms of the perfect are like
those of the present tense. It is only by the context
—usually by a relative clause following—that we can
distinguish the tense, as, Ni mé a vein &, It is not I
that say it. 11 me a otbainc 6. It was not I that
said it. The particles are also the same. We must
not, therefore, say, anme? WasitI? nNiopme, It was
not I; peun 6? Was it a bird? On Ppancac 6?
Was he a Frenchman? These are turned correctly
as follows :—

An mé a4 Bi ann? Was it I that was in it ?

Nni mé a Bi ann It was not I that was in it.

An eun 4 Bf ann ? Was it a bird that was in it ?

An fprancat 4 Bi ann? Was it a Frenchman that was in him ?

(6) Before &, i, 140, however, the particles apn niop,
nap, &c., as well as the verb, are often used—prin-
cipally in replies, as, Nion &, It was not (he), hion 1,
It was not (she); Niopd 140, It was not (they);
Oadbape i napd i, She said that it was not (she);
A 1 Maipe a oadaipe pin 7 Was it Mary that said
that? &c. With certain idiomatic phrases also these
particles are used before adjectives, the initials of which
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will be aspirated, but the verb will be suppressed,
except before a vowel sound:

At hait LeaT P Would you like ?

Niop ¢6mt ouIT You should not.

And pedpn Leac? Would you pefer ?
Napd 440 an pespt é? Wasn’t he a tall man?
Nap o6 an pesnt é? Wasn't he a big man ?
Nioft Mép an peap é°? He wasn’t a big man?

A Mop an peap €? is incorrect.

(¢) Examples of the type of bud mon an reap &
are often converted into relative sentences with the

usual particles, ni, an, na¢, etc.

He was a big man Dud thopt an peatt 4 Bi ann.
She was a good girl buod thait an cailin a bi innci.
Were not they big men?  Nha¢ mépn na pipt 4 di ronnta?
Was he a big man ? An peap mép 4 Bi ann ?

It would be wrong to translate this last example by,
Aan mop an rean a b1 ann ? In examples of this kind
the adjective always expresses inherent quality, that
is, our attention is drawn to the szze, rather than to the
species of the man. But as we cannot be impressed
with the size of an object which we have not yet seen,
and which we are merely inquiring about, it follows
that the adjective does not express inherent quality.
Hence, apt m6p an pean é ? and an mop an peap 4 Hi
ann? are both incorrect.

(d) The perfect tense buo is rarely used personally
in simple sentences except with a definite predicate.

bud mé an peapt I was the man.
bud me an Prancad I was the Frenchman.
bud i Maipe an dean Mary was the woman.
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With indefinite predicates, it is usual to convert
simple sentences into relative ones as follows :—

He was a man. 11 peap 4 Bi ann.

He was a Frenchman I Francaé 4 Bi ann.

She was a good girl 11 carlin mait 4 Bi innci.
Or, with ca.
Of 1€ na feat.
i re na fancad. .

Of i na carlin mait.

(¢) The verb 1, and its past tense bud, are, there-
fore, as a general rule, suppressed in secondary tenses.
We have also seen that the conjunction go becomes
sup in dependent sentences, and when 6, i, or 140
follows it is written gupb, or supd (past).

He says that he is the man Vet re Jupb é an peatt.

He said that he was the man  ‘Dibaipic re Jund é an pea.

He says that Nora is the girl  “Oeipn re Jupb § Népa an carlin.
He said that Nora was the girl "Dabaic pé sund i N6pa an carlin

(/) The noun or pronoun that immediately follows
the smpersonal verb 1y is always a predicate. Hence
me and pean in the following examples are predicates:

1 mé aTd A3 cainc Itis I who am talking.
An peap aTa 43 canc P Is it a man that is talking?

(¢) The noun or pronoun that immediately follows
the personal verb 1 may be a subject or a predicate.

1 mé é (verb subj. pred.) I am he.
1 Té N6pa (v. s. p.) You are Nora.
1 mé sn peapt (v. s. p.) I am the man.

1 peapt mé (v. p. s.) I am a man.
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THE 1s CONSTRUCTION.

The subject is placed immediately after all verbs in
the language. 1 complies with this rule when the
subject and predicate are both definite,* but in other
cases the predicate comes between the verb and the
subject. [See Double Predicate.]

He is the man 11 é an peatt

I am he ip me é v.5p.
I am Cian 1 me Cran

John is my son 1 é Seagan mo rac

Iam a man 1 reapt me

John is @ Frenckman  1r fpancaé Seagan } P- s

Double Subjeot.

(a) When the subject and predicate of a sentence
are both definite there will be an extra pronoun
subject in Irish agreeing in gender, number, and case,
with zke subject which must be a noun either ex-
pressed or understood.

Mary is she 1...§ Mape...d

Tohn is he 1p...é Seagan...é

Erin is my country 1p...1 €ipe...mo Tip

The men are they 11°...140 N4 PIf1...140 v S P
These men are they 11°...140 N4 PIN1 10...140

That is Mary .4 pin..maéipe

(6) Sometimes z4is and that, or their plurals, are
equivalent to the adverbs /4ere and tkere, and when
this is so they are rendered by po and pin.

This is he = Here he is = o é.
That is he = There he is = pin 6.
This is John = Here is John = ro Seagan,

¥ A word is definite if it is a proper name, or a personal pronoun; or
ifit is preceded by a possessive or demonstrative adjective. 7%:s and
that are definite words when they point to a noun understood.



104

(¢) When an ndefinite predicate is the name of
something pointed at, z4zs and z4at are not equivalent
to the adverbs 4ere and zhere, but refer to some abstract
or unknown thing understood, and in such cases we
must use the verb thus :—

This is a stone
This is not bread
That is not a horse
It is a ghost

That is not Irish

ir clo¢ ro.

Ni apan ro.

Ni capall pin.
11 Tadre é.

Nni gaeoilge tin.

(d) When ¢kis, that, these, or those, are equivalent
to this one, that one, these onmes, those ones, a double
subject must be used, even with indefinite predicates.

This is a cow

That is a bull
These are herrings
That is a good cow

1+ b6 i ro.

1 Tapd é pan.

1 15404 140 0.
i b6 mart i pin.

Double Predioate.

(@) When the subject is a personal pronoun, and a
possessive pronoun in the predicate, there will be a
double predicate, and the construction will be—uver4,
predicate, subject.

He is my father i......6 m'ata......4

She is my love r......i mo Zpao...... i

V. p.S.
They are my horses L} O 140 mo capaili...... 140
It is my pleasure Morans é mo toil.. ...é

(6) When a definite noun comes immediately after
the smpersonal verb 1y, it will be a double predicate.
It is Nora that is here.

It is not the men that are in it.
Was it James that did it.

11 i Nopua aTd ann ro.
Ni h-140 na pig1 ATA ann.
4n é séamup 4 qunne é°?
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& Note the difference in :—

They are my sheep 11 140 mo ¢aoug 140,
The sheep are mine i Liom na caoiud.

These are my sheep 11 140 o mo ¢aomd.
These sheep are mine 1 Liom na caoifu3 ro.
Speak if you wish Labaipn ma 'r é 0o toil é.

Speak (if you) please!  Labaip Le 0o Zoil.

N.B.—4¢t ab é Seagan Béroinn mapd=Only for
John I would have been dead. .Aét ab é Fo nard Th
ann bi me caillce=Had you not been there I was
done for. ¢t ab é tura 5o vé vednpainn!  Only for
you what would I do!

THE VERB TA&.
INDICATIVE MOOD.

PRESENT TENSE.

I. Tdme, [ am T4 rinn,* we are.
2. T4 T4, thou art T4 r1b, you are.
3. Tdre, Ttari, heis, &c. T4 r1avo, they are.
Negative.
Ni fuit me (I am not) Ni guil pinn, ni fuitmro.
Ni fuit T Nni guit p1d.
Ni puit pe Ni fuil mavo.
E&F ni puil is also written it
Interrogative.
O-puit me? (Am I?) O-puit pinn? H-pmitmro?
O-puiL ca? O-puiL p19?
O-purt re? O-ruil rao?

* Tamuro is also used.
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Interrog. Negative.
Na¢ v-pmt me? (Am I not?) MNaé b-puil pinn?
Na¢ B-puil Ta ? Na¢ b-puil p11 ?
Na¢ B-puil re? Na¢ b-puil a0 ?

The Habitual Present.

T4 is the only verb in the language that has a
special form to express habitual action or state. As
well as the forms given below, we often hear bi tg, bi
ré, bi i, etc, but these are not used after particles.

SINGULAR. PLURAL.
roim (I am wont to be) Droeann pinn.*
Drveann cta Droeann Mo,
Droveann e Droeann pao.

Negative.
Nivroim (Iamnotwonttobe) Ni troeann pinn.
Ni Broeann T Ni Broeann Mv.
Ni Hroeann re Ni droeann Mao.
IMPERFECT TENSE.

Oromn (I used to be) Oroead rinn.
Orotea Oroead riv.
Droead re. Uivead riao.

Negative : Ni BivInNn, ni Brotea, etc.

Intervogative : M-broinn ? m-Brotea, etc. ?
Interrog. Neg.: Na¢ m-broimnn ? etc

PERFECT TENSE.

Bi me (I was) Ui pinn.
Vi ca Oi o,
Vi re Vi ravo.

* Also bromio.
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Negative.

Ni par me (I was not) Ni pa1d pinn.
Ni pad ¢ Ni na1d p1v.
Ni pard ré Ni pad rao.

Ra1b is pronounced poh.

Intervogative.

Rav me? (Was I?) Ra1d pinn ?
Raid T Ratd 11 ?
Rab pé? Ra1b a0 ?

Also, &n it me ?
FUTURE TENSE.

Deéro me (I shall be) véro pinn.*

Déro ta . bérd mv.

Déro ré Dérd Mao.
Negative : Ni vérd me, etc.

Interrogative: M-bérd mé, etc.
Interrog. Neg.: Naé m-bérd me ? etc.

CONDITIONAL MOOD.

Veroinn (I would be) Dervead rinn.

Dérotea Derveao mo.

Déroead 1é Derveav riao.
Negative : Ni véroinn, etc.

Interrogative : M-bérdinn ? etc.
Interrog. Veg.: Na¢ m-béroinn? ete.

OPTATIVE MOOD.

To pd me ! (may I be!) To it pinn !
To b Th ! To b riv !
o b pe ! To a1 rao!

* Also béromio.  t Also 3o pabmurol
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Negative.
Nap patd me ! Nap pa1d pinn!
Nan paid Ta ! Nap patd v !
Nap patd re! Nap b pravo !
IMPERATIVE MOOD.

SINGULAR. PLURAL.
I — Diodmuro.
2. Vi (be) broro.”
3. Divead re D1rvead rad.

INFINITIVE, ETC.
A veit, to be.
Aip m-beit, having been.

N.B.—Te present participle is never used.

TATOR, DIiTesr, LETOTEAR

These forms are often used when the subject is
general, as, Tatan a5 buinT an géin, they are mowing
the hay, the hay is being mowed. Uiteap ag duinc
na b-ppéatal, they were digging the potatoes, the
potatoes were being dug. Tatep '0a m-buint, they
are digging them, they are being dug. Ni terotean
‘04 m-buint Fo ‘veo, they (people or we) will not be
digging them for ever.

The ending (tap) of these impersonal forms has the
same force as the French o7.

* Classic form bro1o, now written and pronounced biordo. Hence
also péraroro, bpurioro.
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Inherent Quality and Species.

NoUNS.—When we say that a cow is not a goat we
cannot mistake the meaning, viz : that it is a question
of the species of animal. When we say that a cow is
not a block of wood, it is also a question of species.
But when we say that ke cow is not a goat, two
ideas are presented to our mind: (1) that the cow is
not of the goat species; (2) that the cow in question
may have been at one time under the form of a goat,
or of a hare, but that she is now in her natural shape
again; and hence she is not ¢z /4er capacity or guality
of goat, or as it would lie in Irish, 7%e¢ cow is not in
her goat. Again, when we say that a lamb is a sheep,
we cannot mistake the meaning, viz.: that a lamb is
not a cat or a dog, but an animal of the sheep species.
But “ 7%e lamb is a sheep,” suggests (1) the idea of
species, (2) that the lamb Zas grown, and is now i its
quality of sheep, and hence, this is a question of internal
or inherent quality. “A lamb is a young sheep,”
suggests species only, but “ 7%e¢ lamb is a young
sheep,” suggests both species and inherent quality. In
composition the context must be our guide. If the
sentence has no connection, we may translate as we
choose. From this we see :—

(1) That the question of species or quality requires
that the predicate be indefinite.

(2) That when the subject is #ndefinite, the idea of
species is conveyed.

(3) That when the subject is definite, species or
quality may be conveyed.
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ADJECTIVES.—When we say corn is green, sugar is
sweet, we may mean that corn is green and not black,
sugar is sweet and not bitter ; and, here the colour or
quality expressed by the adjective is always associated
with other colours or qualities. The adjective in such
cases expresses species. But when the colour or quality
is not associated with other qualities, it usually inten-
sifies our feelings in some way. Thus, when we say,
sugar is sweet, we may mean, “ How sweet sugar is!”
and when we say, “ Isn’t sugar sweet ? ” we may mean,
“What a sweet thing sugar is!” or “ Sugar is very
sweet—Don’t you think so?” 1In such cases the
adjective expresses inherent quality. In English, this
idea of inherent quality or state is expressed by the
context, in a variety of ways; sometimes by empha-
sising the verb, as “ This is a sweet apple—and indeed
it zs sweet ” ; sometimes by a negative sentence, interro-
gative in form, but really an exclamation, as, “Isn’t
the water black ? ¥ or more correctly, “ Isn’t the water
black !” But perhaps the favourite way of expressing
inherent quality in English, is by a poetical inversion,
that is, by misplacing the adjective, and putting it in a
prominent position. The following are examples of
this kind, and all the adjectives express inherent
quality :—

“O 1 green was the com as I rode on my way,

And right were the dews on the blossoms of May !”
“ Pale are the stars in the heavens to-night,

And silent and still is the lake !”

“ Sad is the sound and sorrowful!”

“ Fair are the fields in the Summer,
And sweet is the scent of the flowers!”
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WHEN TO USE 1S AND WHEN Ta.

(@) A sentence having a definite predicate must be
rendered by 1.

I am the man 11 me an peaft

You are the king 1 Th an M3,

I am he 1pme 6.

We are they 1 pinn 140,

Are you Cormack 4n Td Copmac?

She is my daughter 1 i mo nigean {,

This is my brother 11 e ro mo veapta.
That is my sister 1§ pn mo Oeipdup,

(6) To translate a sentence having an indefinite
noun predicate, 1p must be used for species, and ta for
inherent quality.

The trout is a fish 1 1415 an bpeac.

John is a priest . I PaSANT Seadan. sp-
He is a man 1 reap 6. }

The trout is a fish T4 an bpieac na 1415

John is a priest T4 Seagan na fagape, i q.
He is a man T4 1é na peaqt }

When the indefinite noun is qualified by an
adjective, a favourite way to express inherent quality
is to use 1y, immediately followed by the adjective,
and then the noun with the article, as, He is @ good
man=1r mat sn pean &; they are good men=ip
mait na pip 1ao. Notice that the adjective is
invariable.

He is a good man=

(1) 1 peap mait é (Species).
(2) 1+ mait an peapn € (i.q))
(3) T4& re na peap mat (i. q.)
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When the indefinite predicate expresses species 1
and ta often combine to form an idiom by which
simple sentences are converted into relative ones.
Thus, She is a woman=1p bean ata innci=literally,
It is a woman that is in her.

A trout is a fish 11 1415 4TA 4 m-bpeac.

They are men 1P pift 4TA 10NNTA.

John is a man 1P peapt ata ann Seagan.

You are a good girl 1 catlin mait aTd 1onnat.
Mary is a good girl 11 carlin mait aTé ann Maiyte.

N.B.—We see, therefore, that the same sentence
may be rendered three ways when the indefinite
predicate has no adjective, and four ways when it has
an adjective.

JOHN IS A PRIEST:

(1) 1 rasanc Seagan (Species).
(2) 1 rasenc atd ann Seagan (Species.)
(3) Ta Seagan na pasanc (i.q.)

JOHN IS A GOOD PRIEST:
(1) 1r raganc mait Seagan (Species.)
(2) I rasant mait atd ann Seagan (Species.)
(3) Ir mait an paganc Seagan (i. q.)
(4) T4 Seagan na paganc mhait (i.q.)

EZ In connection with time and space ta is used:

He is five miles away T4 e cirg thile aip frudal.
The house is twenty yards long T4 an teat pice plac ap pao.
It is twenty feet high T4 pe pite Tno1g arp aiproe.

It is midnight T4 pe an meadvon-ordée.

I was a year in Derry bi me bliavam 4 n-Dope.
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(¢) When the predicate is an adjective in the com-
parative degree we may use either i or T4, as,
Milk is better than wine=(1) T4 bainne nior redpp
na pion (2) It redpn bainne na pion.  When the pre-
dicate is an adjective in the positive degree ta must
be used for species, and 1p for inherent quality, as,

Sugar is sweet (sp.) T4 pruca mlap.
Sugar is sweet (i. q.) 1 mlap pucpia.

The corn was green (sp.) Bi an coipce Flap.
Green was the corn ! (i. q.) buv Flar an coipce.
The night is dark (sp.) T4 an ordce oopca.
Isn't the night dark ? (i. q.) Na¢ oopéa an oroce

(4) When any part of the verb “to be” is imme-
+ diately followed by a preposition, an adverb, or a
present participle c4 must be used.

He is at the door T4 re a15 an oofap.
He is not there now ni gwil pe ann pin anoip.
He is walking * TA re a3 pudal.

¢) When “to be” is impersonal, 1p is always used :
) pe Yy

It is sick that I am 1 TInn aT4 me.

It is I who am sick 1 mipe aTé TINN,

It is here that I am 11 ann o ATA me.

It is at the well that I am 11 415 an TObAY ATA me.

It is I that have the cow 1 aZampa aTé an B6.

It is I that have the new hat 1 a3ampa aTd an hata G

It is walking that I am 11 a3 Mubal aTd me.

* In afew cases an idiom takes place, as, I am sleeping=Té& me mo
¢oolad, I am living or residing=T4 me mo ¢omnurde. T4 me mo

¢omnutrde, means also, I am idle.
I
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bemrim, I GIVE.

ACTIVE VOICE.
: PRESENT INDICATIVE.
Yetqum (I give) Ve pinn.

Veip ca Ve r1d.

Veip re Veipt r1a0.
Negative. :

Ni tavpam (I do not give) Ni tabpann pinn.

Ni tadbpann ca Ni tadpann md.

Ni tadbpann re Ni tadpann prao.

Pronounce Ni hopiim, etc.

IMPERFECT INDIC.

Veiqunn (I used to give) Deipead rinn.

Veiptea Detpead rib.

Deipead re Detpead riao.
Negative.

Ni tavpainn (I used not to give) Ni tadanad pinn.

Ni tadapta Ni tabdanad 11d.

Ni Tabana® re Ni tabapad mao.

Pronounce Ni h6painn, ni hophd, etc,

PERFECT INDIC.

Tug me (I gave) Cug pinn or tugmuro.
Cug ca Cug mo.
Cug re Tug mao.

Negative, etc.
Nion tug me or Ni tug me, etc.
An tug me ? or 'O-tug me? etc.
Nap tug me? or Na¢ o-tug me ? etc.
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FUTURE INDICATIVE.
Demprd me® (I shall give) Deinprd rinn.
Veippro ca Deippro r1b.
Deippro ré Deippro r1ao.
Also written Déappard me.

Negative.
Nitadanpard me* (Iwillnotgive) Ni tavanpard pinn.
Ni tadappard T Ni Cabanpard mb.
Ni Cabanrard re N1 tadanpard rao.

CONDITIONAL MOOD.
Desppinn (I would give) Deipread rinn,

Veiprea Veippead mo.
Veippead re. Deippead rao.
Also Deappainn.
Negative.
Ni tadappainn (Iwouldnotgive) Ni tavappad pinn.
Ni Cabanra Ni Cadaprad Md.
Ni Cabaprad re Ni tavappad Mao.
Imperative ~ Tavap,t pl. Tabazsrd or tabpagro.
Infinitive A tavampc (Pr. & tome, or 4 hoine).
Participle A5 Tavamc (Pr. a3 TOIT Or 4 TOT).
PASSIVE VOICE.
Present Indic. Demteap mé; ni tadiptap me.
Imperfect Deiper me; ni tabaptar me.

Perfect Cugad mé; nion Tu5av M.
Future Veappan mé ; ni tabappan meé.
Conditional  Veipproe mé ; ni tabapparoe mé.
Infinitive 4 vert tabapta, or a Hett ctusta.

Participle Tabapta or tugta.

* Pronounce : deirhim &, beipthiced, beiphi pé (short, Bespthip i),
etc. Negutive : ni héphim 3, ni héphized, m hophi 1é, ete.
+ Pronounce, Téit.
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B As may be seen, there is a special root in most
of the tenses when the verb is negative. This root
must be used, also, in interrogative and dependent
sentences. In this verb, the special root is tabap, but
tug is also used.

IDIOMATIC USE OF bveirim.

Except in replies, this verb is connected with a pre-
position. The following are the meanings :—

(1) Vetyum+-00+noun or pronoun=I give... .

(2) Vetum+ap+noun or pronoun=I pay... .

(3) Yeum+an+noun+infin.=I cause or compel.

(4) Veipum+-tiom, Leat, Leip, etc. =1 take... .

(5) Veypum + ¢ugam, ¢usac, etc. =1 bring... .
Examples.

tug re afan o maipe He gave bread to Mary.
tug re prfmn ap apan He paid a penny for bread.
tug re aift ina purde He made Una sit.
Cug re an B6 Leip He took the cow with him.
Cug re an r3r1an cuici He brought her the knife.
Tabait ¢ugam mo dpéza Bring me my shoes.

verim, I BEAR.
ACTIVE VOICE.
Present Indic. Deipim ; ni deium ; m-beium ?

Imperfect Detpunn ; ni Berunn’; m-verunn ?
Perfect Rug mé; niop pus mé; o pug mé?
Future Deipp1d me, ni deipprd mé ; &c.

Conditional  Veppinn; ni veippinn ; m-veippinn ?
Imperative Ve pl. veugro.

Infinitive 4 vpert.

Participle 45 bpett.
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PASSIVE VOICE.
Present Indic. Deipceap mé ; ni veptean mé.
Iinperfect Vet mé ; ni veipti me.

Perfect Ruga0mé; niop pugad mé; appugad mé?
Future Déanpap mé; ni béanran mé.
Conditional  Vepproe mé; ni vepproe me,
Infinitive 4 veit veipte.

Participle Deipe.

USE OF veirim.

This verb is rarely used with the meaning “to
bring” or “to carry,” which, as we have already seen,
is expressed by teium, I give. The principal mean-
ings attached to this verb are as follows :—

(1) To produce or bring forth :

Rug i mac . She brought forth a son.
Rug an b6 The cow calved.
Ruz an ceatic The hen laid.

(2) With the preposition ap: to catch, to arrest,
to overtake.

Rug re aipt an T-plarc He caught the rod.
Rug re s Séamup He seized James.

Rugaov ain Seagan John was arrested.
Rug e at Peavaft He overtook Peter.

N.B.—Hence, pug re opm=(1) He caught me, (2)
he seized me, (3) he arrested me, (4) he overtook me.
The participle beipte is not used in the sense of
catching, arresting, or overtaking, gaibce (p7. guice),
from gabaim, being used in its stead : Ta pé gabre=
He is caught, he is “trapped,” he is arrested, &c.
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Enoim OR nfoim, I DO, I MAKE.
ACTIVE VOICE.
PRESENT INDICATIVE.

Enroim (I do, I make) En1o pinn.,
o Th Enrd rid.
Enio e Tnd r1av0.

Pr. nim, ni tq, etc.

Negative.

Ni vednaim (I do not do) Ni vednann pinn,
i vednann ta Ni vednann MH.
i vednann pe Ni vednann p1a0.

Also ¢4 n-oednaim, etc.
IMPERFECT INDICATIVE.

Emoinn (I used to do) Enroead pinn,

Emotea Enrvead piv.

Enrvead re Enroead pao.
Negative.

Ni vednann (I used not todo) Ni vednad rinn.

1Ni vednta Ni vednad r1b.

1Ni vednad re Ni vednad Mao.

Also ¢a n-vednainn, etc.
PERFECT INDICATIVE.

Rinne mé (I did, I made) Rinne pinn.

Rinne ta Rinne pd.

Rinne re Rinne pao.
Negative.

Ni vedpn me (I did not do) Ni vedpn rinn.

Ni vedpn ti Ni vedpn 11d.

1i vedpn pe Ni vedpn rao.

Also ¢a oedpn me, etc.
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Intervogative.
Vednn me? (Did I do?) Vednn pinn ?
Oedpn Tt ? Vespn v ?
Vedpn pe ? Vedpn a0 ?

N.B.—No Eclipsis.

Interrogative Negative, etc.

Naé oedpn me ? Did I not do?
So veapn me That I did, that I made.
Na¢ veapn me That I did not do.

FUTURE INDICATIVE.
Veanpard me (I shall do)  Vednpard pinn.

‘Vednpard Th Vednpard 11d.

Vednpard re - Vednpard riao.
Negative.

Nivednpard me (I will not do) Ni vednpard pinn.

Ni vednpard ti Ni vednpard Mo.

Ni vednpard re Ni vednpard 1ao.

Also, Ca n-oednpard me, etc.

CONDITIONAL MOQD.
‘Vedinpainn (I would do) Vednpad rinn.
Vednpa Vednpad mb.
‘Vednpad re Vednpad pao.

Imperative : "Dedn, pl. 'Veadnsisro.
Infinitive: 0 0ednsd. Participle : 45 oednad..

B2 Form passive voice in the usual way from the~

active roots.
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ocirim, I SAY.
ACTIVE VOICE.
PRESENT INDICATIVE.

Oeium (I say) Oeip pinn.
Ve Th Oeip 11d.
Veip re Ve Mao.
PERFECT INDICATIVE.
Davanc me (I said) Vabdamnc pinn.
‘Dadamc TH Vavaipc Mb.
VadaT re 'DadaIT Ma0.
Pronounce, oipc me, etc.
Niop vadapT me I did not say.
A Otidaipc me ? Did I say?
Nap dabapc me ? Did I not say ?
Aba, abnaigrd Say thou, say you.
4\ ; a5 1D To say ; saying.

I'he other parts are quite regular.

PASSIVE VOICE.
Present Indic. Deifteap & 12 is said.

Imperfect Deinti é It was said.

Perfect Aopad é It was said.

Future Véappap &€ 1z will be said.

Conditional Véapparve ¢ /¢ would be said.

Infin. and Part. 4 veit pardce ; péroce.

Impersonal "Deiptean Itis said (F7., On di?).
Veipti It was said.
Hopad It was said.
Véanraft It will be said.

Véapparve It would be said.
N.B.—Deijum + Le = tell, as 'Oeipum teac, I tell you;
"Vadvaic me te Mape, I told Mary. The 0 of vavaipc
is silent.
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getvim (I GET, I FIND),
ACTIVE VOICE.
PRESENT INDICATIVE.

Zeivim* (I get) Zeid pinn.
Setd Ta Setd piv.
Ted re Zeiv pao.
Negative.
Ni pagaim (I do not get) Ni p&gann pinn.
Ni pdgann ca Ni $45ann p1d.
Ni gagann pre Ni pasann rao.
' IMPERFECT INDICATIVE.
Leitinn (I used to get) Zetvead rinn.
Seivtea Ledead r1b.
Leiveav re © Seiead rav.
Pr. yevinn, yevha, etc.
Negative.
Ni pagann (I used not to get) N7 pagad pinn.
Ni pagta Ni pagad r1d.
Ni faga® re Ni pagad rao.

Pr. Ni &inn, ni ahha, etc.

PERFECT INDICATIVE.

Tuaip me (I got) Fuam rinn.

Fuaip Ta Fuap r1b.

Fuain re Fuanm rao.
Negative.

Ni puaipt me (I did not get) Ni puaip pinn.

Ni fuaip Tu Ni puaip rd.

Ni fuain re Ni fuaip mao.

* Pronounce yev'-im, yev Th, yev 1é, etc. 1 Pronounce ni wuaiqt.
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Interrogative.
O-puap me ? (Did I get ?) O-puap pinn ?
O-puain Th O-puap pv ?
O-puap re ? O-ruap mao ?

FUTURE INDICATIVE.
Zeovard me (I shall get) Zeobaro rinn.
Leovard T ‘ Fe6bard rd.
Eeobaro re Zeovard rao.
Pr. yo'-ee mi, etc.
Negative.

Ni pwz* me (I shall not get)  Ni gmg pinn.
Nni fwmg ca Ni png Mo.
Ni gwmg re Nni pwg rao.

Interrogative.
O-png me ? (Shall I get?) O-puig pinn ?
O-pmg Ta ? O-pmg mv?
O-pnig re? O-ruig oo ?

Pr. wee mé ? etc.
CONDITIONAL MOOD.

geovainn (I would get) Zeobad rinn.

Seotita $eovad mv.

Zeovad re Le6bad Mav.
Pr. yoinn, ydnhd, yoic 18, etc.

Negative.

ni fwginn (I would not get)  Ni puigead rinn.

Ni pmigted Ni pmigead rd.

Ni pwmigead re Ni fwmigead rao.

Pr. ni wuinn, ni wuiha, ni wuic pé, etc.
Also, ni fagainn, etc.

* Promounce: Ni wai§, or ni wee.
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Imperative £3%, rasaiztd (Pr. ¥4, pad-15-i).
Infinitive & pagail (Pr. 0 &)
Participle A3 pogal (Pr. A5 péiL or 4 pail).

PASSIVE VOICE.
Present Indic. Tertvteap mé; n pagtan mé; v-ragtan

meé?
Imperfect Zeitti mé; ni ge1tti mé; B-pagtai mé?
Perfect Fuanar mé; ni puapay mé; d-ruapar me?
Future Zeottap mé; ni pmtear mé.

Conditional  Feobvtarde mé; ni pmEtroé me.

N.B.—This verb is defective in the infinitive and
participle passive, but we arrive at their equivalents
as follows :—

T4 me Le pagaitl I am to be got.
Diroinn Le ragail I used to be got.
Ui me Le pagail I was to be got.
Dérd me Le pagail I shall be got.
Véroinn Le pasail I would be got.
A veit Le pagail To be got.
Le pagail Got.
TETOIM, I GO.
PRESENT INDICATIVE.
Téeromm (I go) ‘ Térveann pinn.
Cérveann tu CTéroeann pid.
Cérdeann pe Cérdeann p14a0.

Sometimes téro is used instead of céroeann.
IMPERFECT INDICATIVE.

teroinn (I used to go) Téroead rinn.
Térvtea Céroead mv.
Teérvead re Térvead riao.

Pr. néinn, héha, héic ré (long né-a pe, etc.).
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PERFECT INDICATIVE,

Cuaro me (I went) Cuard pinn.
Cuaro Ta - Cuaro b
Cuard re Cuard rao.
Negative.
Ni veacard me (I did not go) Ni veadard rinn.
i veacard ta Ni veatardo rv.
Ni veacard re i veatard rao.
Also, ¢a veadard me, etc.
Interrogative.
Deacard me? (Did I go?) Veacard rinn?
"Veatard ta ? ‘Veatard (B ?
"Veatard re ? Veatard rao?
FUTURE INDICATIVE.
Racard me (I shall go) Racard pinn.
Racarod ct Racard pd.
Racard re Racard Mao.

Pr. pahim m&, nanhd ca, pahd ré (long, pani” pe).
CONDITIONAL MOOD.

Racainn (I would go) Racad rnn.
Raéa Racad b,
Raca® e Racad ra0.

Pr. pahinn, paha, pahic p8 (long, paha reé).

Imperative Terd, terdiz1v; also 5ab (Pr.50).
Infinitive QO OuL; & Zabail (£r. 4 Sou).
Participle 03 oul; a3 sabail (P7. a got).

* Except when followed by the pronouns, this long sound is usual :
pacard Maipte, pr. 7ak’-cc Méipe.
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N.B.—As may be seen veacard never takes po, and
hence, the particles used are ni(not niop), 5o (not gup),
and na¢ (not napn]. The interrogative particle an is
not used, and the word never has its initial eclipsed,
although we find it sometimes so affected in the
written language.

Tisim, I COME.
PRESENT INDICATIVE.

Cigim (I come) Tig rinn.
Cig ta i3 mv.
Ci5 re T15 Moo,
IMPERFECT INDICATIVE.
Tiginn (I used to come) Tigead pinn.
Tigtea Cigeav mb.
Cigead re Cizead mao.
PERFECT INDICATIVE.

Cainic me (I came) Tamnic pinn.
Tamic ta . Tamic pid.
Camnic re Tainic prao.

Pr. nenic me, henic ta, etc.

Negative.
Niop tammic me (I did not come) Nion tanic pinn.
Niop Tainic Tu Niopn Tanic Mo,
Niopt Tanic re Niop Tanic r4a0.
Also, 1i tainic me, etc.
Interrogative.

An tamic me? (Did I come)?  an taime pinn ?
A taime THi ? A tanic v ?
O tame re? An tanic mao ?

Also, 'O-tainic me ? etc.
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FUTURE INDICATIVE.

Tiocpard me (I shall come). Tiocpard pinn.
Ciocpard Tt Ciocpard 0.
Ciocpard re Tiocrald 114.

Pr. Tiochim mé, tiochd ta, etc.

CONDITIONAL MOOD.

Tiocpann (I would come) Tiocpad rinn.
Ciocra Tiocpad .
Tiocpad e Tiocpad ravo.

Pr. huchinn, hucha, etc.

Imperative Tap, Tapaiz1d, ; or TS, TIFIO1D.
Infinitive 4 teastt.
Participle O3 Teatt.

& Tap'in second persons only.

Tiomm, I SEE.
ACTIVE VOICE.
PRESENT INDICATIVE.

Tivim (I see) TiO pinn.

Tiov Ta Tio 110,

Ci0 re , Ci0 rao.

Negative.

Ni geicim (I do not see) Ni feiceann pinn.

Ni peiceann T Ni peiceann Mo,

Ni peiceann e Ni feicann rao.
IMPERFECT INDICATIVE.

Tivinn (I used to see). Tivead pinn.

Ciotea Civead mbd.

Civead re Civead rao.
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Negative.
Ni petcinn (I used not to see) MNi peicead rinn.
Ni feictea Ni teicead Mo,
Ni feicead re Ni feicead pao.

PERFECT INDICATIVE.
Tanaic me (I saw) Tanate rinn,
Tanac th Tanaic pv.
Tanaic re Tanac rmao.
Pr. hanic me, hanic T4, etc.

Negative,
Ni pacard me (I did not see).  Ni pacard pinn.
Ni pacard ti Ni pacard mo.
Ni pacard re 1Ni pacard mao.

Pr. i acim m¥, ni acl ta, ni acé p8 (long, ni
4ci pé), etc.
FUTURE INDICATIVE.
Tropro me (I shall see) Troprd rinn.
T1opro Ta Trop1d v,
Tror10 re Tro10 r1ao.
Pr. Tipim m8, cipld tu, Tipie r8 (long, cipi pé), etc.

Negative. ‘
Ni peicpro me (I shall not see) Ni peicerd pinn.
Ni percerd Ti Ni feicprd Md.
Ni peicp1d re Ni peice1d rao.

Pr. Ni echim mé, ni echil T4y, etc.

CONDITIONAL MOOD.

Tiopinn (I would see) Trdpead pinn.
Cidrea Troread mbd.
Cioread re CTroread rao.

Pr. Tipinn, Tipa, Tipic 8 (long, tipt reé).
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Negative.
Ni peicpinn (I would not see)  Ni peicread rinn.
Ni peicrea Ni feicread b,
i peicread re Ni peicread riao.
Pr. i echinn, ni echi, ni echit 18 (long, ni echu
ré), etc.

Imperative dnmapc, amapcaroio (Pr. Opc, onecroi).
Infinitive 4 feiceal or a peicrinc.
Participle O3 peiceal, 45 peicrint.

PASSIVE VOICE.

Present Indic. Troteap mé ; ni peictesn me.
Imperfect Troti mé; ni peicti mé.
Perfect Tanaiceap mé ; nm pacar mé.
Future Troreap mé; ni feicreap meé.
Conditional Troproe mé; ni peicproe meé.
Infinitive O veitiepeicesl
Participle le reiceatl

EZ CTioteapn vam=It appears to me, methinks;
tanaicear '0arh = methought.

N.B.—(1) The present tense is troim, but we find
éro1m in books.

(2) The perfect tense is tanaic me, but in books we
find it written ¢onnapc me ; and in imitation of this
classic spelling, modern grammarians are suggesting
¢onnaic me, which is evidently trying to sit on two
stools.

(3) Note that ¢ is sounded fully in ©ropv and
cropinn, and that the initial of the latter is not
aspirated.

}Seegemtm(Pass. Infin)
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cluinim, I HEAR.

PRESENT INDICATIVE.

Cturnim (I hear) Clutheann pinn.

Clutheann ta Ctluineann pb.

Ciluineann re . CLuineann rao.
PERFECT TENSE.

Cuatard me (I heard) Cualard rinn.

Cualard Th Cualaro rid.

Cualard e Cuataro prao.

Pr. Cuaim mé, ¢uald cta, ¢uald pé€ or ¢ualai 16, etc.

Negative, etc.
Niop Gualard me I did not hear.

An cualard me?

S-cuatard me? } Did I hear?
A'5-cuatard me?

A cuuinetin To hear.
A5 cluinpein Hearing.

The other parts are quite regular.

1tim, I EAT.
Future Indic. \orpard me,* I shall eat.
Conditional *O'orpainn, I would eat.
Perfect 0 it me, I ate.
Imperative  1¢, w510, Eat.
Infinitive 4 ite, To eat.
Participle O3 1te, Eating.

The other parts are regular.

* Pr. torhim mé. "3
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USE OF an.

(a) The interrogative particle an performs the
double function of interrogating and eclipsing. It
cannot eclipse without interrogating at the same time;
but it can, in many cases, interrogate without eclipsing.
In this latter case, an must be expressed, as an nérra?
But when it eclipses, it interrogates at the same time,
and in performing this double function it annihilates
itself, so to speak. Hence, instead of An o-tuwigeann
TG? Ann-otann ta? We say o-cuigeann ca? N-
otann tu? After dgur, act, etc, however, an is often
‘heard : Agur an o-tuigeann ta? or more usually,
Agur 4’ o-tuigeann tu ?

(6) In the perfect tense an cannot eclipse because
no comes between it and the verb; hence aspiration
is usual in this tense, as,

A buail Th é° Did you beat him?
A ¢arT T 00 piopal Did you smoke your pipe ?
A diol T 0o Bo P Did you sell your cow ?

(¢) The exceptions to this rule (4) are confined
principally to tanic, tug, and ¢uatard. These can
either have their initials eclipsed or aspirated.

*0-tamnic re P A tamc pe ? Did he come?
0-tug re? Ap tug pe? Did he give?
S-cualard re? Ap ¢ualard pe? Did he hear?

(@) In the absence of no the particle an regains its
eclipsing power. But itrarely occurs that po neglects
its post. Once in a while, however, it may be said to
take a holiday, as in the case of uainand pacaro, before
which it never appears. Hence, when no is absent,
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and the way open to the interrogative particle an,
eclipsis is inevitable,

b-puaip ci é? Did you get it?
Azup &’ D-puamipt Th 6P And did you get # ?
b-pacard i é°9 Did you see him ?
A¢t &’ B-pacard Th é? But did you see him?

N.B.—Despn and weac¢ard never take ro,and as a
result they never have their initials aspirated except
by ni.  One would expect, however, that their initials
would be eclipsed, but according to modern usage
they are not.

Vedpn T pin P Did you do that?

Naé veain Tii é° Did you not do it P

‘Deatard pé puap? Did he go up?

Na¢ veadard re puap P Did he not go up?
USE OF oo0.

(@) The sign of the perfect tense active is vo. This
particle is visibly present before vowels and ¢. It is
invisibly present in other cases; but it is absent
before pusin, pacard, vednn and veacards. Whether
visibly or invisibly present, it has the power of
aspirating. '

0'6L ré He drank. ..

0’ P43 16 He left. (visibly ?r?sent.)
He struck.

:2:'::6"6 H: :ol:t:e 4 } (invisibly present.)

Paam re He got. (absent.)

(4) In negative, interrogative, and dependent sen-
tences 'po becomes po which is always visibly present.
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This applies to the perfect tense passive, but no
aspiration takes place.

He did not beat =ni 10 Buail pe =niop buail pe.
Did he beat ? =4n q0 buail re? =d4p duatl pe?
That he beat =30 f0 busl pe  =FTupt Buarl re?

That he was beaten ? =Fo 110 buailead é =Tup buailead é.
(¢) In the other past tenses active, and in the im-
perfect and conditional passive, '0o, just as in the
perfect tense active, is visibly present before vowels
and ¢, and invisibly present in the other cases. But
in negative, interrogative, and dependent sentences
oo and po are absent.

"O’oLainn
Volrann
"O’tanainn

Otanpamnn ) » presence of wo.
Duartinn l

Buartpinn invisible
Duatcs mé ’
Duartproe mé

| visible

R ? . .
M-busitinn * } interrogative
m-buaitpinn ?
i duaitinn } negative - absence of wvo.
Ni duaitpinn
To m-buailinn } dependent |
$o m-buailpinn

Adverbs.

(a) Adverbs of manner are formed from adjectives
by prefixing the particle go, which requires h when
the adjective begins with a vowel.

—_



Seat, bright
Milip, sweet
mait, good
Olc, bad
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To zeal, brightly.

Ko mlp, sweetly.

o maig, well.
Ko h-olc, badly.

(6) All other adverbs are either simple or compound.
The compound adverbs are usually formed by a
preposition and a noun, as, ain 3-ctit, behind, literally,
on back. Sometimes they are made up of an adjective
and a noun, as cop uaipn, occasionally, literally, odd
kour. The following are the principal adverbs in use
at the present day :—

Anoit, now

Ann pn, then

Ann 1o, avn

reo, here

Ann ruo, yonder

Nuap, when

Ca n-uaift, ca nuaip?

Ca h-uaip?

} when?

Can-d1Tt? cah-dic? where?
Ca h-ar ? whence ?

o o-ti, till,

until

Cott uait, occasionally

4 o-Toireas,

in front

May, because, as
Mapt 3-ceuona, in like manner

mar r1n oe,
it o-Thp
Cevo uait
A ceuo vapt
a0 o fomn, I

so that

first, at first

ong ago

A ir, back, again

Ca meuo?
Ca theuo?

} How many ?

Apire, agsin.

4 3-comnurde, always,

4 B-pao, d-pao, long, far.
So pént, still, yet.

Fa Oeipiead
Sa veipead
4 none, before, already.

4 henipin, already, so soon.
Roime 1ié, already.

4 n-&iyroe, up, on high.

At veiptead, last, behind.

Na Baile, 4 barle, home(wards).
Ayt 3-cal, back, backwards,

Tan muill, by and by.

So Lebp, enough.

So Léip, entirely.

So h-tomlan, entirely.

To oipead,* indeed, just.
Tovoeandta,*indeed, truly, really.
leéza,* indeed, really.

forca, also.

At an a0Bap rn, hence.

at last.

* o véimn is often met with in books.



Ko oe 'n théro ? how much?
At pao, entirely

Mmaire, “musha,”” well
Amag, out (motion)

Amu3, out, outside

Arcead, in (motion)
ApTwig, in, inside
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A4t n-ob1%e, of course.
Amarh, ever.

4 torode ‘
for ever, ever.

To oed
To bpuit
THarna, across, over.

Adverblal Phrases.

A1t maroin

A maroin an1d
Qi maroin ané
A maroin amépad
San Tpatnona
Tnatnona ané

14 tan na rhapac.
A1 amane Lae
Ania ; ané
amipnac

Anoct, apéip

San oroce amapac
Antudad né
Apugad pénm

A noptai

San ordce noptai

An T-peadtmain pugann®
An mi pugamn®

An Bladain pugann”

Anh T-reaccrhain ro tapc”
An mi ro tapc”

In the morning.

This morning.

Yesterday morning.

To-morrow morning.

In the evening.

Yesterday evening.

Next day.

At the break of day.

To-day ; yesterday.

To-morrow.

To-night; Last night.

To-morrow night.

Ere yesterday.

Ere last night.

After to-morrow.

The night after to-
morrow night.

Next week.

Next month.

Next year.

Last week.

Last month.

* These are not always adverbial phrases—pugainn=ro éugainn.
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A nuipd ; 4 m-buaona
An Bluadain po Tanc
014 Luain

O1a Mapc

014 Cevvasoine

014 4voaoin

014 h-doine

014 Sataipn

O14 Vomnaly

At maroin "O1a ‘Oomnarg
Cputnona Dia Vomnatg

Last year; this year.
Last year.

On Monday.

On Tuesday.

On Wednesday.

On Thursday.

On Friday.

On Saturday.

On Sunday.

On Sunday morning.
On Sunday evening.

UP AND DOWN.

puap =up ze motion upwards from this point.
aniop =up ,, motion from below to this point.
fuap =up , rest above this point.

abup =up ,, rest at this point.

riop =down, motion downwards from this point.
piop =down,, rest below this point.
anuap=down ,, motion from above to this point.
abup =down,, rest at this point.

Examples.

A to B: Ill throw it down
Is it down yet P
Throw it up

, It is up now

Bto A: I'll throw it up

Is it up yet?
Throw it down

It is down now

Cartp1o me piop 6.
B-puiL e fiop 5o porl ?
Cait aniop é.

T4 e abup anoip.
Cartpro me puar é.
B-puil pe fuap o porl P
Ca1t anuap é.

T4 pe abup anoip.
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OVER.

risp =over Ze. motion Westward from this point.
anisp=over ,, motion from West to this point.
roip =over , motion Eastward from this point.
snoip=over ,, motion from East to this point.
fisn =over , rest at the West.

Somn =over ,, rest at the East.

Abup =over ,, rest at this point.

Examples.
B A C
East West.
A to C: I’ll throw over the stone  Ca1Tprd me piaft an éloé.
»  Isitover yet? B-puil re fiapn o péalL?
» Throw it over again Cart aniap s aip é.
» Good, it is over now mait tu, T4 pe abup anoip.
A to B: I'll throw over the stone  Caitprd me roip an ¢loc.
» Is it over yet ? B-pusl pe foipn 30 péIL?
» Throw it over again Cart anot amtipe é.
»  Good, it is over now mait tu, Té pe abup anorp.

Simple Prepositions.

4, ann, annp, in.
45, 415, at
anroip, to.

4r, out of, from.
oe, from, off] of.
00, to.

o, through.
ruo, through, about.
£a, about.

rao1, under

4, a4, on.

‘gan, without.
3o, to.

1ap, after.
1o, between.
e, Leir, with.
maq, as like,
o, from.
noirne, before.
tap, Over, across.
tane, round.
tpe, through.
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Compound Prepositions.

Compound prepositions are made up of a simple
preposition and a noun. Hence, when another noun
comes immediately after, it can only be governed in
the genitive. The following are the most important
compound prepositions in the language :—

4 B-pravnuipe, before, under the eye (of).

4 Lataip, before, in the presence (of).

Or coinne, before, opposite, under the eyes (of). -
A v-pocain, with, in the company (of).

4 n-o1a10, after, in the wake (of).

4 n-agar0, against ; a 5-cat, behind.

A ron, for the sake (of) ; amears, amidst.

Man seall ap, for the sake of (governs dative).
A ¢cotr ; ¢orr, beside, at the foot (of).

4 n-gice, naice, next to, close to, on the side (of).
T4 0-taotd ve, about, concerning (govs. dat.).

Ta ¢oinne ; pa Véin, for.

To 'o-Tj, to, as far as, till (govs. dat.).

Or cionn, over, above ; 0o neip, according to.

A n-6404an, 4 n-6a00n, against.

4 g-curoeacca, in the company (of).

4 5-curoeacta Le, along with (govs. dat.).

The Preposition, 4, ann, anns.
The English “in” must be rendered as follows :—
(1) 4 before an indefinite noun, or before the name

of a town or country.

In Derry 4 n-Dotte.
In Scotland 4 n-alban.
Ir a country 4 o-Tift.
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(2) By ann before a possessive pronoun, or a
Christian name—

In my own country Ann mo Hip péin,
There is strength in Mary Ta bptig ann maipe.

(3) By annp when the article follows—

In the country Annp an Tif.
In this country Anng an Tip po.

The Preposition “ For.”
(1) When “for” signifies “to fetch,” “to bring,” it is
rendered by ra ¢oinne or ra véin—

He went for the cow Cuard 1é pa comne na bé.
He went for them Cuard pe pa na 3-coinne.

(2) When “for” means “to oblige” it is rendered
by 00—

Do this for me "Deén 10 vam.
Dance for us *Oeén vampa odinn,
Here is a penny for you So pi15n ouiT.

(3) In connection with price it must be rendered

by ap—
He paid a penny for it Tug ré prgim aip.

Give him a penny for it Tabait p15n 06 an.

The Preposition ¢ Of.”

(@) When “of” is identical with the English
possessive case we must use the genitive in Irish.

The son of Mary (Mary’s son) mac théipe.
The son of the man (the man’s son) mac an pi.
The head of a man (a man’s head) Ceann pift,

The side of a hill (a hill’s side) Taob cnuic.
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(6) When “of ” follows a numeral, or the equivalent
of a numeral, ve and a dative must be used.

One of the cows Ceann oe na ba.

A man of the tribe Feant oe 'n onieam.
The first day of the month An ¢ewo L4 oe 'n 1i.
Five of the cows Ci1g cinn e na ba.
A boatful of honey Lén-baro oe il.

(¢) When “of” follows a numeral and governs a
personal pronoun we must use ag, which unites with
the pronoun.

One of us, two of us "Duine 434inn, beint againn.
One of you, two of them "Duine 4341b, beit aca.
One of these ‘Duine 4ca 0.

(d) Numerals that cannot stand alone take ceann
(head) in connection with irrational animals and things,
or claigeann (skull) in connection with persons.

Five of them (z.e., cows) Ci1g c1nn 4c4; Cuigesft Aca.
Five of them (Z.c., men) Ciig claigne aca ; cuigeatt aca.

(¢) When “of” follows “which?” we must use e
and a dative in the case of nouns and ag in the case
of preiouns.

‘Which of the women ? Ceoca 0e na mna?
‘Which of the cows ? Ceoca ve na ba?
Which of us? Ceoca againn?

Funotions of Prepositions.
(@) Simple prepositions govern the dative case,
compound ones govern the genitive.

T4 peupt a13 an dumn The cow has hay.
T4 pe op cionn 0o ¢inn It is above your head.
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(6) When a simple preposition comes beside a noun
it has the power of aspirating. But xo, le, 45, ar
cause no initial change, while a eclipses.

T4 pe aipt capall Heis on a horse.

1o darle pagainne Through our town.

Tapt Eaottan na 3-cloé Over the rocky moorland.
To baile ragamne To our town.

A5 capaic At a rock.

4 m-bDaite Clat In Dublin.

E& When gan performs the function of a preposi-
tion it does not aspirate, but when it acts as prefix it
aspirates. Man causes no initial change in nouns
except in prepositional locutions, but it causes aspira-
tion in verbs—the word t©d excepted. When 1o
means “between,” it causes no initial change, but
when it means “both ” or “ including ” it aspirates.

Feaft Zan caofia A man without a shecp.
Fesft Jan munad An unmannerly man.

Mapt peapt marc Like a good man.

Map Feall apt an o For the sake of the gold.
Mapt buarlim As I strike.

T4 tu map Td TH You are as you are.

Loipt capall agur apal’ Between a horse and an ass.
1oipt Eaparll agup aparl Including horses and asses.

Compound Prepositional Pronouns.

As personal pronouns are defective in the genitive,
they cannot be governed in that case by a compound
preposition. Thus, “above John ”=op cionn Seagan,
literally, “over the head of John” But “above me”
=op mo ¢ionn, literally, “over sy head.” In other
words, the possessive adjective takes the place of the



personal pronoun.

Most of the compound pre-

positions combine in this manner with the possessive
adjectives. The following are important examples:—

0S Mo Coinne (IN MY PRESENCE).

SINGULAR.

Or mo ¢oinne, in my
presence.

Or o ¢oinne, in thy
presence.

Or 4 ¢oinne, in his
presence.

Or 4 coinne, in her
presence.

PLURAL.
Or ap -coinne, in our
presence.
Or bup 5-coinne, in your
presence.
Or 4 g-coinne, in their
presence.

0SS mo c¢ionn.

Or mo ¢ionn (above me)

Or 0o ¢lonn
Or 4 ¢ionn, or 4 cionn

Or o 5-clonn.
Or dup 3-clonn,
Or & 3-cionn.

4 mo coinne.

F4a mo ¢oinne (for me)
¥4 00 coinne
Fa na ¢oinne, etc.

Fa nan 3-coinne,
¥4 Bup 5-coinne.
Fa na 3-coinne.

£4 Mo 0éin.

T4 mo véin (for me)
¥4 00 Véin
Fa na véin, etc.

Fa nan n-oéimn.
Fa bup n-oéin.
Fa na n-oéin.

ann m’ agar0.

Ann m’ agaro (against me)

Ann 0’ aga10
Na 43410, na h-a3410

Ann an n-agaro.
Ann bup n-agaro.
Na n-a3a10.
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ann mo 0.

Ann mo 1410 (after me) Ann ap n-01410.

Ann 00 V1410 Ann dup n-o1410.

Na 1410, etc. Na n-01410.
Usually.

Mo v1ard (after me) A n-o1410.

Do 1410 Dup n-o1a10.

Na 01410, na 01410 Na n-01410.

The Conjunotions.

A¢t (pr. a¢) but, only* 1ona, na, than.

Azur, and Muna ),

Ma, va, if Mup }1f...not,unless.
5o, that 0 }as since
Ma td 3o, yet Otapta |

"De Bug 50, inasmuch as No, n4, for, because.
Do ¢éum 50, in order that Sui, before.

lonnup 30, so that 310, although.,

N.B.—mMa is used with the indicative mood and
aspirates the initial of the verb. "Da is used with the
conditional mood only, and always expresses a con-
dition. It eclipses the initial of the verb, as, 04 m-
bé1dead AIgean agam ceannocainn capall, if I had
(%t¢. if T would have) money I would buy a horse. Da
'D-T'oCra anodt puéainn teac, if you came (z.e., if you
should or would come) to-night I would go with you.
In this last example, we see that came is misleading.
It might be taken for the imperfect or simple past,

* I have only a penny=ni fuil agam aét p1§m.
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but it conveys nothing in this example but the con-
ditional mood. To express a condition, therefore,
with 04, the conditional mood must be used. Of
course we can express a condition also with ma, as,
Ma 15 ré anoct cuiprean aip fubal ¢4, if he should
come to-night you will be sent away.

Interjeotions.
&! or 0! drapc! Oh! or O! Look!
Dubbs ! Fapaop! Fie! Alas!
ue¢! or o¢! O¢on! Oh! Alas!

Mo ¢épead naé¢ dB-rmt pLat agam!

Mo épeat 5an rlat agam !

I Tuag naé B-puil plat agam!

1r Tpwag san rlac agam !

I mans naé H-ruil rLat agam !

1 mang San pLat agam !

| Would that I had
a rod!

/

Endearing Expressions.

A targe!

& taipge mo éporde |

A pin!

4 11in mo ¢porde !

& reop!

A 1Tét mo ¢porde |

4 cuiple!

4 ¢wirle mo ¢pordel

& gpav!

& Epad mo ¢porde!
Tad mo &porde thl

A mupnin !

Ciipam mo ¢qorde !

Mo éporde apcurfronnac !
m’ anam arcwmy 1onnac!

My treasure ! my dear!

O treasure of my heart !

My secret ! my treasure !
Secret of my heart ! Dearest!
My store ! Asthore !

O jewel of my heart !

O vein ! my vein ! my dear!
Vein of my heart !

My love ! O love !

O love of my heart !

You are the love of my heart !
My darling !

Care of my heart !

My heart within thee !

My soul within thee !
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Prafixes.
An, not, as, eolad, skilled, aineotaé, unskilled.
Corh, fogether, ceangal, a tie, coméeangal a union,
V643, good, as, véagenordead, kind-hearted.
'Ono¢, bad, as, opocmear, contempt.
00, difficult, as, v60éanta, difficult to be done.
n, fit, as, inoednty, fit to be done.
S0, easy, as, r6vednta, easy to be done,
mi, 7/, as, mi-a0, ill-luck.
Nearh, 7ot, as, neam¢omepom, uneven

Affixes.

A¢, full of, as, bpuatnae, full of words, talkative.

Adt, ness, as, milyeadt, sweetness.

Ar, mess, as, maitear, goodness.

Admaiy, ke, as, peapamail, manly.

An, small, as, apoan, a hillock.

n, small, as, copin, a little foot.

Os, small, peirceos, a little serpent, z.e., a worm.

A&, abounding in, as, coitlreaé, abounding in woods.

Lae, abounding in, muclag, a piggery.

Man, f2l of, as, ceolrmap, full of music.

Replying—Yes, No.

In replying to questions, (1) the verb and tense used
in the question must be repeated in the reply, (2) the
subject (except when it is contained in the verb) must
be omitted.

At 6L Ti? O’ ol Did you drink? I did.
A 6L Maipe? niop 6L Did Mary drink? No.
N-olann Tu? Olamm Do you drink? Ves.
B-purl pe agaT? TA Have you it? I have.
Rab Tu Tinn? Bi Were you sick? I was.

Ra1d ocfiar opT P Ni pad Were you hungry? No, I was not.
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N.B.—Notice the double reply. in the English “Yes,

I am,” “No, I am not,” etc. Both count as one in
Irish.

Replying with 1s.
(@) In negative answers the verb is omitted and
the subject is expressed, while in affirmative answers
the verb and subject are expressed.

4n T Seagan? Ni mé Are you John? No.
4n TH Séamup? 1 me Are you'James? Yes.

(6) When an adjective expresses inherent quality
it must appear in the reply. [See Inherent quahty
and Species.]

Na¢ mait é? 1+ mait. Isn’t it good? It is.
Naé mép an peaqt é ? 1p mép Isn’t he a big man? He is.

(¢) Sead (pr. shik) and ni pead (ni kdlk) are never
used except in reply to an interrogation made with
the verb 11, and then only when the predicate of the
question is indefinite.

Is it a stone? Yes An clo¢ é? Seao.
Is that a cow? No An b6 pin? ni fpeao.

Replying to “Who?” ‘“What?”
(@) In answer to “who?” “what?” the subject
alone is expressed, and if the subject is a pronoun it
will be emphatic.

Who did that? I did Cé finne pin ? Mape.
Who did that ? Mary did Cé funne tin ? Maipe.
What is that? A white cat To vé tin? Cat ban.
(6) In such cases td is often used impersonally in
the reply.
Who did that? I did Cé tunne rin? TA mipe.
Who did that? Mary Cé unne pn? TA Maspe.
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Idiomatio and Defeotive Verbs.

T4 110S 4a5am, I KNOW.
“I know” is expressed in Irish by T4 a4 fiop agam
=literally, Its knowledge is at me, 7e, I have its
knowledge. The possessive a4 is usually omitted.

Present Ta plor agam; ni puil prop agam.

Imper. Drdead fror agam; ni Broead plor agam.

Perfect Vi pror agam; ni pad plor agam.

Future V&0 fror agam; ni Bérd f1or agam.

Condit. Vérvead fior agam ; ni Bérdead f1or agam.

Imper. V10640 prop 4T4T; brOEad riop aTAL.

Infin. Fior 4 Vert agem; Tan piop 4 Hett agam.
TA p1or agem  pronounced TAp sgam.

V1oead fior agam Viwur agam.
Ui piop agam » Ui ragam.
Déro fop agem » Deroir agam.

€15 Liom,” I CAN.
Present T15110m ; ni tig Liom ; '0-Tig Liom ?
Imper. Tigead Liom ; nitigead Liom. .
Perfect Tamc Liom; niopn tamic Liom.
Future Tiocrard Liom; ni tiocrard tiom.
Condit. Trocpad Lom ; ni tiocrad Liom.

1S réroir liom, I CAN.

PRESENT TENSE.
Afirm. 1 péroip Lom, lear, etc Lit, It is
possible with me.
Negat. ™ péromp Liom.
Interrog. On peroip Liom ?

* Literally, It comes with me.
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PAST TENSE.
Affirm. 0Duo péroipn Liom, I could.
Negat. Niopd péroin Liom.
Interrog. Op® péroim tiom ?
EZ= U’ feroin="Perhaps.

© §e1bm vds, I DIE.
Future  Leobard me vdr, I shall die.
Perfect  fuap pe bar, hedied. Lit., He found death.
Infinitive Var a padail or bir pagail.
Participle O35 ragal daip or pagal vy.
These are the more important parts.

catpto me, I MUST.
ACTIVE VOICE.
Future Cartprd me, 1 must, ze, I shall have to.
Imper. Cartinn, I had to.
Condit. Catpinn, I would have to.
Perfect Cart me,” I had to.

_ PASSIVE VOICE—Impersonally.
Future Cartpeap, lt is necessary (Fr. I/ faut.)
Imper. Cartty, It was necessary.

Condit. Catproe, It would be necessary.
Perfect Cartead, It was necessary.

1s ma¢ uiom, I LIKE
PRESENT TENSE.
Afirm. 1 mat tiom, 1p mat leac, etc.
Negat:  Ni mait Liom ni mait ledt, etc.
Interrog. On mat test? etc.

* D'eigean vam is more usual.
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CONDITIONAL MOOD.

Affirm. Dud thait Liom, bud mait teac, etc, [ wonld
like, etc.

Negat. MNiop rhat Liom, niop mait ledc, etc.

Interrog. On mart teat? etc.

N.B.—In “bud rmait tiom,” “buod ” is perfect tense,
but the whole expression has, idiomatically, the force
of a conditional mood.

Like this verb are :—

I mian tiom I desire.
I+ &L Lliom I like.
1 redpp Liom I prefer.
A1 coip DA I should.
1 ceapT arh I ought.
1 é1zean Dam I must.

Prepositional Verbs.

Some verbs require the aid of a preposition to

express a secondary meaning when a dative case

follows. In English the preposition is often under-
stood. The following are examples :—

1appaim 4+ an = I tell
ODeijum +le = I tell.
nnipim 400 = I tell
Frappngim+oe = 1 ask.
Examples.

O’ 141 e opm 4 teatt  He told me to come.
0’ 140 re aip dipe a dut  He told Mary to go.
Dubdapc re Liom a teact He told me to come.
O’ innir re rgeul 'oam He told me a story.
O’ frappng ré oiom He asked of me.
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CASTAR orm, I MEET.
Present Captan opm, carcan o, etc. . I meet.
Imperf. Carrci opm, ¢arpci onc, etc. I used to meet.
Perfect Carad opm, carad onc, etc. I met.
Condit. Capparoe opm, etc. I would meet.
Infin. & ¢arad opm or 4 carosl opum, to meet me.
Participle and Imperative : Wanting.

N.B.—Caraim, literally means 7 #wis¢, and hence, /
turn or meet. The person met is always the subject

in Irish.
Hugh met James Carad Séamup aipt 400.
Hugh met me Carad me at 400.
I met Hugh CAPa® 400 ofim.
I met him Carad ofim é.

Internal or Inherent Quality.
(@) When, in English, the verb “to be” is im-
mediately followed by an indefinite noun expressing
inherent quality ta must be used idiomatically.

He is a-man T4 re na feaft.
Heis a priest T4 pe na fagapc.

(6) When the verb “to be” is immediately followed
by a present participle expressing stafe rather than
action, the participle becomes a verbal noun, and ca is
used as in (a).

He is sleeping T4 pe na ¢oolad.
He is sitting T4 pe na purode.
He is standing TA re na fearad.
He is lying T4 re na Luige.
But, He is fighting TA re 43 THu10.

N.B.—He is up (e, he is not in bed)=cta re na
furode, lit, He is in his sitting (posture).
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1S cuma uiom.

Cuma is a noun, and means skape or appearance,
and as a thing which has but the appearance of the
reality is only superficial, the word has come to mean
indifference. Hence, \pr cuma Le Seagan= It is appear-
ance or indifference with John, z.e., John is indifferent,
John does not care, John does not care a straw, etc.
Na¢ cuma te Seagan=“Sure” John does not care!
Nac¢ here is the interrogative particle, but the sentence
is usually an exclamation.

1 cuma Liom I don’t care.

1 cuma Leat You don’t care.

1r cuma leip He doesn’t ca-e.

11 cuma leite She doesn’t care.

1 cuma Le népa Nora doesr’t care.
Naé cuma Liom! “Sure ” I dow’t care.

N.B.—ni miroe Uom, has the same meaning as, 1p
cuma liom.

EZ" M puit tinn agam opc=1I don’t care a straw
for you, ze, I defy you.

1S cuma ‘oath.

This idiom expresses indifference arising from
disappointment, inability to act, or want of connection.
Thus, 1 cuma vam means, I rneed not care, I need not
trouble, 1 need not be sorry, or, it is no affair of mine.
Na¢ cuma oam! means, “sure” I need not care!
What need I care! “Sure” it is no affair of mine!

11 cuma oam I need not care.

11 cuma duic You need not care.

1 cuma oo Maipe Mary need not care.

Na¢ cuma duit! Sure you seed not care.
Na¢ cuma obinn! Sure it is no affair of ours!

N.B.—Ni miroe oarh has the same meaning as 1p
cuma oam.
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Mental and Physloal Sensations.

() When an English adjective has no primary
equivalent in Irish, an idiom must be used. Tinn, for
example, is a primary adjective meaning sick. With-
out using any idiom, therefore, we can say, td me tinn,
I am sick. But, to translate, “1 am hungry,” we
cannot proceed in the same way, as we have no
primary word in Irish for “hungry.”” We are there-
fore compelled to say “ Hunger is on me,” T& ocpar
opm. The following are important examples :—

I am hungry T4 ocqiar ofim.

I am ashamed T4 ndipte opm,

I am afraid T4 eugla opm.
Iam glad T4 Lutgaip opm.
I am angry T4 peaps opm.
I am thirsty T4 Tapc opm.

I am proud T4 bréo opm.

I am sleepy T4 coolad opm.

(6) The word for “very” can only stand before an
adjective as, I am very sick =Ta me an-tinn. As long,
therefore, as we have primary adjectives we can use
an, very; but to translate “I am very hungry,” “I am
very much ashamed,” etc, an cannot be used, and
hence we must say Great kunger is on me, great shame
is on me, etc.

I am very hungry T4 ocpiar mott opm.

I am very much ashamed T4 ndite thoft opm.

I am very much afraid T4 eugla thopt opm.

I am very glad T4 Lutgaip o opm,
I am very angry T4 peaps thoft opim.

T am very thirsty T4 TanT mop ofim.

I am very proud T4 bypéo mép opm.

I am very sleepy Ta coolad mop opm.



152

(¢) It is quite common, however, to use an before
the noun, just as if it were an adjective. Hence, as
common usage must be respected, the following are

quite good :—
I am very hungry Ta an-ocpar opm.
"Tam very much afraid Ta an-eugla opim.
I am very glad Ta an-Lutgan opm.
I am very sleepy Ta an-¢oolad opm.

(@) This scarcity of primary adjectives is felt only
in connection with mental and physical sensations,
The idiom seems to have been fashionable for we find
even the primary adjectives turned into nouns to
comply with this mode of expression; so that when
there is a primary adjective in Irish, we may translate
in the ordinary way, or we may use the idiom :

I amsick = T4 me Tinn or T4 tinnear opm.
Iam cold = T4 me puap or TA puadc opm.

(¢) The same idiom is used when the sensation is
expressed in English by “have” and a noun. In this
case the sensation is of a special kind, eg., a malady,
in which case the article will be used in Irish.

I have a cold T4 an rLagoan ofm.

I have a toothache T4 an véroead opm.

I have the fever T4 an pradpiar opm.

I have the measles Ta an bputinead opm.

Motion to a Place.

() Motion to a place is expressed by ann or na.
These are contracted forms of the preposition ann or
4 and the article an. Ann must be used before mas-
culine nouns beginning with a vowel, v, t, or r- In
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all other cases na must be used. The noun is affected
as follows :—(1) It must be in the genitive case; (2)
If it is masculine its initial must be aspirated—except

in the case of o, t, 1 (r being eclipsed); (3) if it is,

a feminine noun beginning with a vowel h is prefixed.

He went to the fair Cuard pé ann sonaig.
He went to the door Cuard ré ann oo,
He went to the well Cuard pé ann tobat.
He went to the brook Cuard pé ann T-rrutan,
He went to the hill Cuard pé na énuic,
He went to the bog Cuard ré na pupcard.
He went to the park Cuard pé na papce.
He went to the forge Cuatd pé na cedpca.
He went to the street Cuard pé na prdroe,
He went to the cliff Cuard pé na h-aitle.
He went to the river CGuard re na h-abna.
He went (to the) home Cuard re na barle.

N.B.—Motion to towns and islands seems to be the
only exception. Hence, although we say, a5 oul na
bale-6ip, going to the town, ag out na frence,
going to France, ag oul ann oiltean or 435 oul na
h-inre, going to the island, we never say, a5 out ann
‘Doipe, going to Derry, a5 oul na Copcaige, going to
Cork, a5 out na h-Alban, etc.  In these cases go must
pe used. This idiom is sometimes extended to
persons when we go to them for professional aid, eg.,
He went to the doctor=Cuard re ann woccuin, He
went to the priest=Cuad re ann t-ragainc. Remark
also that, % /eaven=nsa platiy, but % lkell=%0
h-1pponn.
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Ownership.
Ownership of some definite thing is expressed by the
preposition te and the verb ip—present and past
time only.

The cow is mine
The cow belongs to me 11 Liom an b6,
I own tAe cow

The cat is Mary'’s
T%e cat belongs to Mary } 1 Le Mdipe an caT.
Mary owns Zke cat
The dog was John’s bud Le Sea§an an mavad.
N.B.—When the thing owned is zndefinite, it must
be considered as simple possession, for the idiom
cannot be used: Hence, I own a house=1 have a
house=Ta tea¢ agam. Although we say in English
I own a cow, there would not be much meaning in, @
cow is mine. When ownership is connected with
future time, it is often rendered by the relative a and
the two verbs 1p and ¢4, as, The house will be mine=
Ir agampa o Bérvear an teaé. But the more usual
way is by simply using td and ag, as, Dérd an tead
ATUr an talam a1z Séamup 5o p61L=James will have
the house and the land yet, 7#e. The house and the
land will be James's yet. :

To he in Debt.
James owes the man a hundred pounds, would be in
Irish, The man has a hundred pounds on James —
T4 céaD punta a15 an feap amp Séamur.
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Some or Any. ,
(1) “Some” is rendered in Irish by such expressive
words as, bpaon, a drop—used for liquids; oénnan,
a fistful—used for hay, straw, corn, potatoes, etc.;
Snainin, a grain—used for meal, flour, tea, etc. ; pign,
a penny—used for money. All these govern the

genitive,

T4 bpaon bainne agam
T4 oofinan péipt agam
T4 gpamin pricpa agam
T4 prEin sI1n510 a5am
T4 pr1mn aige

I have some milk.

I have some hay,

I have some sugar.

T have some money.
He has some (money).

(2) “Some of” followed by a noun is rendered by
curo e followed by a dative of the noun.

Cu10 'oe na pift
Curo e na capartl
Curo 've 'n peuft
Cu1o ve 'n aipgeao
Curo e 'n apan
Cutro 've 'n banne

Some of the men.
Some of the horses.
Some of the hay.
Some of the money.
Some of the bread.
Some of the milk.

(3) “Some of ” followed by a pronoun in the singular
number is rendered by curo oe; followed by a pronoun
in the plural number it is rendered by curo a5.

T4 curo ve mart

T4 curo ve pin olc

T4 cuto agamn pgMorca
TA cuio aca millce

T4 curo aca pin olc

Some of it is good.
Some of that is bad.
Some of us are ruined.
Some of them are spoiled.
Some of those are bad.

(4) “Any” is rendered by the article an followed
by an aspirated noun in the nominative singular, in
connection with countable things; by an pigm, in
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connection with money ; by an gpamin, in connection
with hay, straw, corn, tea, sugar, etc.; by an gpeim
(the bite), for bread, butter, beef, etc.; and by .an veon
(drop) for liquids. When a noun comes after an
pigin, an Zpanin, etc, it will, of course, be in the

genitive.

B-purl an ¢apall azac?

Nni pul an ceann agam

B-purlan pigmaipgro agac?

ni puil an pigin agam

B-puil an Epamin péipt agacT?

Nni puil an Fpamin agam

B-puil an pemm apamn agac?

ni fwil an Fpeim agam

B-puil an vedq piona agac?

N1 fuil an oedpt agam

(5) “Any of” followed by

An duine 'oe, an ¢eann 'oe, an
an gpanin oe, etc., followed
noun. When “any of” is
pronoun ve becomes az.

B-ruil anduine ve napiptannpo?

Nni fuil an Buine aca ann o

B-puil an éeann oe na baann po?

Ni furl an ¢eann aca ann ro

B-purl an Spiermoe 'n apan azac?

ni puil an Fierm oe agam

Have you any horses ?
I have not any.

Have you any money ?
I have not any.

Have you any hay ?

I have not any.

Have you any bread ?
I have not any.

Have you any wine P
I have not any.

a noun is rendered by,
3neim oe, an 'Veon 0E,
by the dative of the
followed by a plural

Are any of the men here ?
None ofthem are here.

Are any of the cows here ?
None of them are here.
Have you any of the bread ?
I have none of it.

(6) “ Any” is also rendered by aipn mi¢, which is
always placed gf#er the noun, but it is only used to
translate “ any ” followed by a noun.

B-puil ba aipt it agac?
Ni fwil aipgeao aipt b1t agam
B-purl caorug aip b1t agac ?

Have you any cows ?
I have not any money.
Have you any sheep ?
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‘B2 Note the difference in the following :—

i guil an ¢eann agam I have not any (cows),

ni pmil ceann agam I have not a single one.

Nni ol an pigm agam I have not any (money).

ni gmil pigin agam I have not a cent.

Nni puil an Fpeim agam I have not any (cheese).

ni pwil zneim sgam I have not a taste.

Ta curo beag agam I have alittle.

Ta beagan agam I have little (7.., scarcely any).

Desoriptions.

Ordinary descriptions may be rendered still more
descriptive, idiomatically. Thus, “He was eating,”
in the ordinary way is, Ui pe 43 1te, but idiomatically
it is, 1p amLard a B pe agur é a5 1te = 1t is the manner
in whick ke was and he eating.

Other examples are turned in the same way : John
was sitting'on a stool =12 s the manner in whick Jokn
was and he sitting on a stool =1 amlard a b1 Seagan
agup € na puige aip ool

It so happened that when the doctor arrived the
poor fellow was dying = /¢ is the manner in whickh the
poor fellow was when the doctor arrived and he dying
=1p amlard 4 Bi an outhe bocT nuamp 4 tanaic an
"DOCTUIf ATUP € 45 pagail v

John was beating James=(1) /¢ is the manner in
whick John was and he beating James =1p amlard 4
b1 Seagan Asur € 43 bualad Séamwp; (2) [t is the
manner in whick James was and John beating him=
1r amlard & bi Séamupr agur Seasan 04 Bualad.
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The king will come seated on a golden chair = /¢ #s
the manner in which the king will come and ke sitting
on a chair of gold=1r ammiard a tiocrar an pig agup

€ na puige.am cartip O

_ Important idioms.

Ni pa1d neapt agam aip
Abain Leip imteadt Leip

Imt1y Lteac ! bug Leac!
Aip pudal teac! pin teac!
Siudail teac, a thaipe !
I puap Liom an L&

1 mop Liom an Luad

To ceann miora

4 5-ceann miopa

Ni beas Liom &

Ni mo6p tiom &

Ca cupla L4 o foin

T4 cupla bliavain o poin
T4 ndipe opm teat

Ca ruad azam onc

Ni puiL &ipro agem opT
T4 re aip an pgoil

T4 re st an aonad

T4 re ain an dale-rmon
Rug re gpeim cluaipe opm
Rug re speim Laime opm
Cuipr pre an cluitce opm
Cuip re an Tomp opm

I could not help it.
Tel! him to take to his
heels.

Be off!

Come, Mary !

I consider the day cold.
I think the price high.
For the space of a month.
In a month’s time.

I think it enough.

I don’t think it enough.
A few days ago.

A few years ago.

I am ashamed of you.

I hate you.

I don't like you.

He is at school.

He is at the fair.

He is in the town.

He caught me by the ear.
Hecaughtmebythehand.
He won the game on me.:

Begone!

- He put me to flight.
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Cuip re an copp opm’

Cumpprd me pgitung Leat

Cuipprd me 3Feall tLeac

5o, etc.
Nion tus me paroeap
Rinnead an-mop oé
Ni teup varh é
tug mao Pavpuic opm
'Ono¢ rhunad onc !
'Opoé éneac opnc !
Caon teintin opc!
Oean fo AL PSON A it
Na oean pin aip Copp A
ot
Cuard pe aip an vaonard
Séro10 ré aip a5 obainp
CA re 43 cup Tpom ofpita
T4 re 45 cup
Care a3 cup reaptaine }
Ca re 435 cup rneacta
T4 re 43 cup bpucoy
T4 re 435 caotad opm
To oe T4 ot ?

To e Tti vit onc? }

To e T4 ann TapoaL opc?
‘04 Vednad Le h-olc opm
T4 re ag Leizint ap }
T4 pre a3 cup 4 5-céll
T4 ri a5 Mmubdal Leice-féin

He turned the corner on
me.

I'll bet you a shilling.

I'll hoid you that, etc.

Idid notnotice(perceive).
He got a good reception.
I cannot distinguish it.
They called me Patrick.-
Bad manners to you!
Bad luck to you.

Blast you!

Do this at all events.
Don’t do that at all,

He got furious.
He dives into his work.
He is oppressing them.

It rains: It is raining,.

It is snowing.

It is sleeting.

He is winking at me.

What is the matter with
you?

What do you want?
Doing it to vex me.
He is pretending.

She is walking alone,



Sin tertpgeul cam
Leir pinéuard e araranc,
r mop an Sap rin

Ni puil San 4 Bert a5 canc

Ni fuil 3an 4 Yert Leac
Ni vérdinn gadte teac

Man Bé1dead cat ann
1r 16 p13in psaosn

1y 16 '00 faotanm é
I £16 6 Maipe

I £16 Séamup Maipe
Irraét

1r £10 'OWIT rearad

Ni 16 owic purde
1r 116 pion 4 ¢eannaé

Nipaeéa cemmAC}
Ni p1a o ¢eannac
1r £16 Liom pearad

Ni p16 Liom prurde

C4 an ceaT 454T

C4 re 43 buint réip

C4 re a3 buint coipce
C4 re a3 buint ppéacai

That is a lame excuse.

Thereupon itdisappeared

That is a God-send.

There is no use in talking!

You are a hopeless case.

I would not be bothered
with you.

After the manner of a cat.

A herring is worth a
penny.

It is worth your trouble.

Mary is worth gold.

Jamesis worthy of Mary.

He is worthy of her.

1t is worth your while to
stand.

It ¢s not worth your while
to sit.

It is worth while to buy
wine.

It is not wortk buying.

I think it wortk while to
stand.

I don't think it worth
while to sit.

You are right.

He is mowing hay.

He is sheering corn.

He is digging potatoes.
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T4 re 43 buit moéna

Na buin teip

Oapt nacan La*

O-pwit ta uom no ann
m’agard ?

T4 rao mon Le ceite

i o torc!
Ca re na toypt.
Szaoil re upcap

"Cait re uptap

Szaoil re Le copp-abna
Ca upéan ra sunna

Doc ats ann!

Oganac atd ann!

O ro ama¢ ; niopr mé

Ca tuiget naé n-1iteann ca?
Ca Tuige tin?

Ni rediroe owic rin

Detpum 0o vadLan
Raca1d re 4 n-eavsn 30
Saotraint

He is cutting turf.

Don’t meddle with it.

Every alternate day.

Are' you for or against
me?

They are on friendly
terms.

Hold your tongue!

He is holding his tongue

He fired a shot (of a
gun).

He fired a shot (of a
stone).

He fired at a crane.

There is a charge in the
gun.

Heisa“buck "]_i.e., a suspici-

Heisa“lad” Jouschamcter-

Henceforth; in future.

Why don’t you eat?

How is that?

You won’t be the better
of that.

I defy you.

He will go in spite ofyou.

*

t se, CaTmg él

f.e, Dapa ann 3aé aon LA,
How or where understand it.
$ Literally, He will go in front of your nasal organ.
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Qi n-oo615e

Qi n-ooige pug re opm
Cuin rgeula cuige
ledga maire 11 pion rin
le6g4a TA an ceapt 54T

mMaige 1f* m6p an bpeac e

Maige maire TA ré a5 cun
T4 me comain 4 beit tapc

Na vac teip!
locrard Turas rin

C4 1140 ole, 4Tt bvirvead
aci !

Mitlead €, aéT bvIvead
age !

To m-beanhung "Ora Oc! }

So m-besnnuig ‘Oia ta !

SLén agac ! (singular)

SLén agav ! (plural) 1

SLan teat ! (singular) J

Stan ub ! (plural)

Reply : o o-ti*ca pLén!

To romtg "Ora tu !

To roivig 014 owc !

To romvig 'n Rig ta !l

Of course ; “ sure.”

“Sure ” he caught me.

Send him word.

Indeed that is true.

Indeed you are telling
the truth.

’Pon my word it is a big
trout.

“Faith” it is raining.

I am nearly done for (ze.
dead).

Never mind! just wait !

You'll pay the piper for
that. _

They are bad, but let
them go!

It was destroyed, but
what about it !

God bless you !
(salutation).

Good-bye !

May God guide you!

* This is either 30 0-T1510 or Jo 0-Té10.
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Sé 0o veata ! (singular)
Sé Bup m-veata ! (plural) ] Welcome! You are

féitce porhac ! (singular) J welcome !
Fditte pomav ! (plural)

Céao pdile pOMac ; You are very
Céa mile paiLte porac! } welcome !

Reply : 5o naid mait agac Thank you.
o 0é map T4 ThH ? (sing.) }

H ?
5o '0é map Tl pv ? (pl.) ow are you

T4 me 5o mait I am well.
T4 me 50 ceanc ’ I am quite well.
C4& me 5o mait, TS0 fuid
mait agac ! I am well, thank you.
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